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UNIT 01

pp.8~9

® We all have different preferences / when it comes to food. / ® In
2 BF LE 7ISE 71K Tt S40f Zretirf2te

the U.K,, / people have been arguing / about the best way to make tea. /

G=0lA S22 =HslRiCH SAE HEE Z[Y2| Yo Cish
0 22|= SAloj| TefMat D= o} ® Which should be put in the cup first / —the milk or the tea? /
T Ofet 240] Z0fl 21| £O{x{oF 3H=t N
=2 BXI= otCi x|Ato| HhHol| CHaH @ The debate has a very long history. / ® In the 1700s, / when tea first
=ASITE @S2 o EA = 0f 2 7 =2 0fe 2 SAE Jhxlm At 17008chof 237t Moz
0] 240f| x| 20{xof sH=7}? became popular in the U.K., / most teacups were delicate. / ® When the
® 1 =5 oS 71 SIALE 71X T 2 SToM 21718 H%te el SHHS olerict B50| =2
Ct. © 1700CHol, Ex17t HEo2 A boiling hot tea was poured into them, / they cracked / due to the sudden
IOIM 7| LUS m, thR el 2T BA7H AHSEGED ool Lo{xS IS 301 240t U222 250
2 ofoksiict @ Z=0| AL Exp7} 5t change in temperature. / @ (A) Therefore, / many people began to pour
X ofofl OIS o, IHSS 2xtA s} ol et L2 ARE0| O VIR *R/E
2 e wsl fj2of 20| Z/Ch @ wet the cooler milk in / first. / ® This is why / the Milk in First (MIF) method
A, G2 AlRtso0| o vl cos O 2I| AIEIHCE  BX 0[30] ~E OIROICH 'SR BH(MIFY WOl EHHE
X 57| A|ZHICH @ 0]710] ‘29 M became common. / ® (B) On the other hand, / the rich preferred Tea in
(MIFY 510] SaiAE o|0[Ct @ bt areio] 2R3 AIRES B HH(TIF'E
oiof, 2938t AFIS L ‘SxF HA(TIF) =S First (TIF). / ® They could afford expensive teacups / that didn’t break
ASHCE @ 1SS 27 SAXIK| e a3t JSE B ST & 0197} T 20 SAIRIX] 5
HIM SHRES AF 0127} QIOJA, EXIE o easily, / so they poured the tea in / first. / ® This way, / they could enjoy
X Hoir @ o] HHoz 1E2 oo= J2M OS2 SXHE oo Bict X ol gHez I52 X9 M, &
Clsb7| ®oj| Exfol M & 12|71 gte the color, smell, and taste of the tea / before adding the milk. /
£21 4 oloirt 0210 98 52 4 Uct 298 cfsty| Hoj
® AfeH =3 Sof| =, MIF Of TIFO|| cist ® Three hundred years later, / the debate over MIF versus TIF / is still
=732 0f13| A45|2 s Solch se s VIFEITIFOTEE = =52 e
going on!/
A%ED U= Solct
IS oie
® Inthe U.K. people have been arguing about the best way to make tea.
~ "have/has been + v-ing = SIMREZ TIRH AIHZ, 2pAH0| AIZHEl 20| SR = 7% TR SIS ZZ510f LIEHHACE 0] 2F0IM=
G=USO| HAHEEH X[ZTHK| ALHM A Bte= F|eheo| Wyl chsl =si 21 {{Ch= 2|ofo|ct.
- to make tea= ‘EXIE = E0[2Hs O|0| 2, toRBHALS| HEAMY S# O Z 440] the best wayE £Al5111 QUCH HEAH 89| toB
TAE A0l 2 BAF E= CHYAS A5
® Which should be putin the cup first—the milk or the tea?
~ "Which ~ A or B?,i= A%t B S0|M dTigol Melg 2= MEIO|ZE0|C O] 2H0|ME 22t which(01i )7t MEe|Z29] 301
s st At
~ should be put2 "F0{M0f 3tCf'2t= 2[0[0|C. ZSAt Floll= SARIY0| LEZ, AV} UE +SEHE= "ZSAt + be p.p.,7t ELt.
® dueto= ‘~ WR0 2= 2|Oj2| MX|AtO|C
2 | Qof Mg £0{F= CiYsh 8t5 A& M| HackersBook.com
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D how milk affects the taste of tea 227} oj=
& two different ways to prepare tea ==

® why British people prefer tea to milk = it
@ the development of the British teacup =4 stzio|

® proper etiquette for drinking tea in the UK. «=ojyq 212 opij= 2
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O However As a result sjxjot

On the other hand sfxjat - gieio

Likewise wjzff -

On the other hand wjapy - sigiof

As aresult o= =of -

A2?
...... -~ ABHoz
@ However -
® Therefore
@ Therefore

® For example

OREt7HX| 2
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rich weak before after prevented

allowed

CE, oft ol 30 Sfetef
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MIF TIF

weak «The (3) rich
strong teacups.
Ok
o This method
itself (4)

the milk in it.

ol e 150|288 27| (4

o People used (1)
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« This method (2)

teacups from breaking.
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2 AL + people, ex. rich people preferred Tea in First

They could afford expensive teacups [that didn’t break easily], so they poured the tea in first.

AAIE |_|_

- [ 1= 20| 2 MsliAl expensive teacupsE £=415

T A CHEAPEO|L.

This way, they could enjoy the color, smell, and taste of the tea [before adding the milk].

- Ml 71X o] &el HHo{E LY wi=
_oo=

- [ 1= K|E Hs7| ®o2ts
o;o|-|:|-
LS A .

o|n|=z, [AlZHE HUEft=

versus= ‘~ th, ~0f ChgF0|2t= 2|0f2] HX|ALOIC.

Eh:luq
= To0

=0tet gbH| oFx|ar ko 2ol and[or]E M A TA, B, and[or] C, £ LIE
EAMTE0|CE 2AREES] 2|0)
FHEAL+ =0 + SAL  ex. they could enjoy ~ the tea before they added the milk

SHAl

Hefct
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UNITO1 | 3



UNIT 01

© Alex was studying late at night / for an exam. / @ He couldn’t keep

Alexe B2 S5E ot= S0IAT NEERCE ds a9 E8 AL =L

HO A his eyes open, / so he had an energy drink. / ® He immediately felt more

US = YUt J2HM 3= OllHA =S oHCH J= JZAH M0 = 7|Ee =kt

© Alexe =7 A[BlREE 5= = awake / and could focus better. / @ However, this didn’t last long. / ® He
O|9IC}H @ T =2 A2 =1 9IS & J2|AH H S 5 A SHX|2H 0| X2 2l X|&E|X| ket a5
SO{M, x| SBE DML @ O S soon became even more tired than before / and eventually fell asleep! /
A T 70! 9l Jlse L7 o & TS 2 Feich 8w o TEskEct D2l 22 Fol s9itt
3t 2 QI9ICE @ BIX|TH 0|Zi2 @2 | ® Why did this happen? /
S5[X| QISICL © T 2 FECHEN O HlolE e
mosiE T 22 £ S9ICH @ 2f o2 @ Energy drinks commonly contain lots of caffeine and sugar. /
ol0] 2loft27i? oluix SRl 2 B 9ol shuloln Mefol Sof et

@ O|L{X| 220 BE nre ool 7} ® When you drink them, / the sugar and caffeine quickly raise / your
Ho1} AIEH0] So0f 9T @ 274 Ol E410| IHES DA et simiole A Eelct ERE
o AEtD} FHE|Q1S W27 Halo| Alet heart rate, blood pressure, and energy level. / ® This helps you
A oF 3|7 oK AXZ =olct e 4, e 22|10 o X] £XIS o|Ad2 gtlo| o &
© 0|Z2 Trlo| O & RBFIEE = concentrate better. / ® But after about 45 minutes, / the effect starts to
Ch @ D21Lt of 455 0|, FHHol0] = Azsize S0t a2{Ltof 455 S0 1 B3t AlabR|7| AJErECH
o etxs| Easlof mep 1 Sate Algt go away / as the caffeine is completely absorbed in your body. / @ In
X171 A[EIBICH @ HCH}, ke ool et SHHIeI0] Ehhle] Bof eHHs) EEol T2)
2 MZ|51H chAlo] 22 ARG &t & addition, / when you take in a lot of sugar, / your body produces insulin /
2= (31| Sjs olasls SHjsic At o] she ool Merg st Salol e daelg Sulsit
® Zoixoz =ytEl sot Ax|s 24 to maintain a steady blood sugar level. / ® As a result, / the increased
51 SHOIX|7| Al ctalol ojL{x|E U Y 312 RAIs7| 213} Zosoz  BUlE EYAAls
J3C} @ 0/240] 47 AakAlztn 2 blood sugar level / starts to go down rapidly, / and so does your energy. /
<1 S1AtO|C} T3] SH0LXI7| Alxtstct J2|7 ghale] o x| E 2%

® This is a phenomenon / known as a sugar crash. /
0[Zi0] Bdfolct /1 F2HARt D LT

@ Thus, / energy drinks are only useful / if you need to concentrate /
metd  olux| 2== o ggsitt pie} ebAl0| ZZaHoF BiCied

for a brief period. /

o
e )kt set

D -
S22 ol
© was studying "beSAtS] BHHE + v-ing,2| THZIEY AKIO|CE DAZIRY AXS ~ate ZFOIQACH ~5k T QURICHFT SHAIBHCE
@ Tkeep + FH0| + HEAL= ~2 Al -5t ULt ~5 -5 HEHE [XISICYEH= 9|02, 07| M= =8 Al =1 QCPEtD siA{SHTE
(5]

AL even2 EX0|2t= O0|2 HW g X2 4= UL 0] 20| M= F8ALC| Hl g more tiredE ZZ&st1 QUL
of Hlig ZZ EAL even, much, still, far, alot ex. The sky is a lot clearer than before. (5t=0| MECH &4 ¢ SiCt)
Thelp + 201 +
=Thelp + 2X0{ + to-v, ex. This helps you to concentrate better.
© ass RAFEES 0| F&AIR, ~EHof M2t ~&t+F0|2h= o|0]o|Ch
of H&ALaso| CHfst oj0f: @ ~gtof W}, ~g+5 @ ~&f i, ~5IHAM @ ~otX0|, ~ot= THE @ ~ot7| W20

o

=]

[af2t= 20| 2, [SX]S LIEfH= toRFAe| BAY Y2 ML,

®

SAEE 2 ~7t -5l F Shtets 2ojoct

[y

@ to maintain 0|5}= ‘YRt &G £X|2 QX|5H|

4 | 0| MHS =0iF = st 45 X2 MBS HackersBook.com



1 ol 22| HIZoR Jh MEs U2
@ How to Avoid a Sugar Crash +74 22j4|2 mjst=
& The Truth about Energy Drinks ofu{x| 2 =0
® The Long-term Effects of Caffeine sjmolo| 2=l 5t
@ Why Is It Hard to Focus on Studying? z=of zzst= 212 o &1=7p2
® Sugar Crash: A Physical Reaction to Staying Up Late

w71 FHAl SAHIEX] 01 Q= 2ol st MAHH Bhe

et E

q IS

2 0] 22| LE # this7t 2|0[5Hs LIRS SE|LE MA|Q.

o Yer2e o &2 ASS =7

@ What is in energy drinks? oz gzol= 29i0| Sof !
@ What causes your body to produce insulin? ssio|
& How long does sugar stay in your body? ete 2ion
@ How does your body maintain its blood sugar level?

S0 22 ofgH Hg £312 QRIskIh

rr
N
=

® What is a sugar crash? +7{ zzjszt 2ai0172

4 o] 22| L|8o= Hof, 23 Qtoj|lM LU LS Tt HAISHAIR.

Energy drinks increase your concentration for a (1) ( / long )
time. This is because the effect of caffeine (2) ( appears / )

after around 45 minutes. In addition, a sugar crash occurs as your blood sugar

level and energy suddenly (3) (increase / ).

oUx] S2= Yilo| HEHS (1) &2 AlRF Set S7HAZICE 0|2 FHH|1o] 217t of 452 20]| (2) Af2tX|7| whZ0]Ct.

ATt 2 X2 o HRI7F AL (3) ZAF0ll w2t 1771 F2HAI7F LoftTh

EE) 10 200 Y=7|228 =i B ESE 4+ A=A 30

4 (1) short (2) disappears (3) decrease
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® As aresult, the increased blood sugar level starts to go down rapidly, and so does your energy.
- starte SHO{Z toE™AIR STHA BE £ 4= QL ex. The price of oil starts going down. (2717} Li2{7}7| A|ZHSHCE)
- 0 SAZHER|E Ts0 + SAL+ F0= ~E J-CFER= Q0|2, 2ol SYE0 Ctheh S2|S LIEHHCE O fofl 1421 SALo|| w2t be

_ o—

ZAL ZEAL doSAL 2L 0] 2AH0||AM = b= A} starts7F A9 O 2 does7t M QLT
ex. Jim is hungry, and so am . Jim2 b7} 1=, Lt JZC})
¢f Tneither + SAt + 01, ~ OfL|Ct [EH £9|]
ex. | don’t like math, and neither does Lucy. (Lt= 452 Z0I51X| 21, LucyE QF J1&LC})
® This is a phenomenon [(which is) known as a sugar crash].
- [ ]&= 20| 2 a phenomenong #=Al5t= HEAILR, known as= ~0|2t1 &2{ZI'0l2tn
Al + beE b7t A2FE|0] QT

® Tneed + to-v,= ~8l{OF StCFEh= 2|0|0|Ct needi= S0 2 toEHALZ 220t
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UNIT 01

® Salar de Uyuni, / located in Bolivia, / is the largest salt desert in the

PR 223M92 Z2|u(oto]] x|t MIAHOM 7 2 ~aAtetoltt

world. / ® It was formed / after lakes that once had been there dried up /

o &
=& oA Ozt ARGt s OR0) USIE S450] Lakze Fof
O =2|u(otof YIx|Et LEL| AZAbat thousands of years ago. /
PEIIERS
2, MM 7t 2 2340l @ TEes
A2 ot 30 AR 557t 8 = ® Salar de Uyuni qffer;s a unique experience / no matter w_hen you
<oj BatES S0| HHE|ACT S9L AN SE6 HHE RTEICH S4lo] ol Yesitiats
ool | ATAIDFS CHAQ| OiR| HF visit. / @ During the rainy season, / the desert becomes the world’s
T T [=] 1= O — o
o b= % o
Ssloals =25 HES M2 @ 27| Sl T ARER2 Al 7Kg 2 HA HE20| ElTt
©7| Sotoj|, T AfBH2 Mo 74Et =2 & biggest natural mirror. / ® The entire surface is covered with a layer of
o ol T % M| £Ho| Blg Eo= Holtt
1 20| Eltt @ M| 2HO[HE 52
2 Clo|D, IS =S Al HIE rainwater, / and it reflects the sky perfectly. / ® It is hard to tell / where
12|77 71712 =2 2fHd H|=C His 2] CCH
Ch @ 0| o{C|of A ZLp=x| 2|2 &t a8 a2 shes st BIEL TESE[7F Of -t ol
0| O{C| Ol A A|EHSH=X| 757 |7} Of the land stops / and where the sky starts. / @ This makes you feel / as if
11 b Nk A= 712 CA|Q| & o= %
20} @ 0|2 TAl0| OFk| 2 42 2 OfC|ojlAf BLh=X]  112|2 5k=0] OfL|0l| M AlZteh=X 0|2 Gtlo| =7|A gk=Lt  Opx|
T 9= ZHXE L7 DHECH @ BHH, you're walking in the clouds! / (® ® Meanwhile, / during the dry
b = a9 77 ol i shm =
H 25t @ HIZ0| Dt2HAM, IS 4 season, / it offers a totally different experience. /) ® As the rainwater dries
=) 5| Ct2 Asle ®zs =]
E'L% gnli% %7_!,30:’ —?—l—_—|§ IE|I-74 _E_Er 13:'; 9ij\_-lol E"E = I‘”oJEr t/'&lgol Dl'g?j)\-l
® 1 AFSE2 ZCsh 31 HEIXE Holot up, / it leaves behind salt / in an interesting hexagon pattern. / ® The
® 51| ATAarS BT oL ase 238 ENG  B022 974Y RHz
2} &3 Oj2|e] BEISoAIE 017| Q= desert looks like a giant white honeycomb. /
_ - AlOtS 5t 5] HHXI%|2] HO|
A40/Ck @ Brof 0| 25| 20| 2 AR R e
Cted, ofof JZ4S0| Afat =92 20}s} ® Salar de Uyuni is a popular place / not only for travelers / but also for
A D 9= 7S = A 9CH FRU L322 27| A= F20|nt S0t ofL (2t =3 ot2|9|

thousands of flamingos. / @ If you're lucky enough, / you may see them
EE0AE orof gilo] S25| 20| B0t g2 oot 22 S0

walking gracefully / around the desert! /

ROtshH 2 A= AE 2 2 AT AR FAE

D -
S22 ol
o

Salar de Uyunil, (which is) located in Bolivia], is the largest salt desert in the world.
- [ 1= ol 2 Salar de UyuniE MAIZ 71X|= ASH Yo LA HHAIAE, MIAL]| TS 2A MY S 57| fls 28 S7tof el
CIQICt nt2AL ol T2 HACHHAL + beSAt7E 42f=|0] QUL

®

It was formed after lakes [that once had been there] dried up thousands of years ago.

- after= ~ S0|'2t= Q|0|2, FAFEE 0|11 HEALZ 201 F0 5201 + SALS| HO| RACh

- [ 1= ol 2 Mt lakesE =2Al5h= 2 2HACHEAFEO|C

- had been2 172tz AlH|(had p.p.)2, 0| 220i|M= IAHS| EF AFELH T OF0)| 2t &, = [CHAH]S LIEHHTE =3 EH Ho
S7F ZEREUTE AFECH T 0fF0ll= ghe Z1Xofl RAUCH= 2[0j0|Cf.

® no matter when2 ‘x| ~5lC{ 2t 2t= 2|0| 2, wheneverZ HIY £ 4 UL}

= Salar de Uyuni offers a unique experience whenever you visit.

6 | Yo Mg =0{FE= CIefst 5t4 XIZ MG HackersBook.com
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1 0l 22| 5528 =ol, Lt 2F0| So7b7|0| 718 =Hst 222 1 07l 2EL 28U AZA0| 2
Meanwhile, during the dry season, it offers a totally different experience. 71 Sl MS3H= 20| that st
BHE, 247| Setof, 12 ksl CIE Fgig M3l = = @ 8IS0 0HS T 3 A}
@ @ ® o 6 O] MlSsh= E CHE Zel2 dYst=
22 O A0 2= Z0] AtAAR R

2 7i9t 27| Sote| 2L ATMUC| DA HIFSHE HOIS 20N S0} AL, S8, @71 7kd HZeit.

- 7] mirror He - A7) honeycomb -

2 2T 00N KL 23AER 27
ol MAI2l 71 2 70| =t 3
1, 2% ©-0ojlM BlZ0] Of2H A
Cish e EIAZ 2olctn JiCt

3 8L Aol 25t 0| 22| 18T YX|SHX| Y S BFE N2

@ It is the biggest salt desert on the Earth. 272 x70x 7t 2 22A8t0ich
@ It was originally covered with water long ago. 1712 giz ozl
d During the rainy season, it absorbs rainwater. 7| oo, 1212 422 4800t

i
THo
tu
)
2
30
£
iimn}

@ When the land is dry, a pattern can be observed. wo| zixat ), 2u|7t 2ar= 4 9ich 3 O 2E@-Q0|M 27| ot M|
@ No wildlife can stay around in its conditions. ofst ops2s 70| #200)4 HEE 4 gict F00| 22 olckn Sict
©: 2% ®O0|A 2310 Afet 2|5
4 i vzt ZE2= S0{Z THolS 20|M Aot MA|Q. (Th HRA| L2 HEHZ TF & AL pas 2 4 9iciT Sk
M) ©: 27 00l etZelo] 2t
« Tlooked at my face reflected in the shop window. @: 28 @0M =7t =1 E Hof|
Lh= 7P 20 HIFT L =2 Hi2t2dch otz 0{A Abato| EAE|QICHT S
« In the square, there was a metal sculpture that reflected the sunlight.
Foll, HUS HASHE 34 X2440| YRt Cf.
- @ 2% @ 2Z=0] UCt.
5 CI2 H20| thgt Bo| E|=5 HIZhol| S0{1Z US Soj|M Fot MA|Q.

Q. With luck, what could you observe in Salar de Uyuni?

20| 2o, 29| AZAlI0|M 2918 2 £+ YT (

= Y=20| FHEY
&2 LIEf=
2, F ¢ 2E0ME 1A AFQ|

reflected2 11X WOf StC})

A. You can watch thousands of flamingos

walking gracefully. 4% otzje| 25t50| 2okl 22

A

rir
o

£+ 9t

5 2% @-@uA 20| ECHH 43 0t
2/0] Z550| A2t Z9IZ 20}5H
HD Yl 22 2 4 CkD Yt

EE) 1@ 2mirror, honeycomb 3®,® 4reflected 5 thousands of flamingos

® Itis hard to tell [where the land stops] and {where the sky starts}.
- It2 7t5:0{0| 11, to tell 0|5k} ZI5=0{0|CL to R FAL, that® S0| &M 017} 21 22 0|2 B&e| FIE &7|1 g2 0 Xf2[oll= 7t
Of it 2L} Ol 7}3=0] it [} BHAI5K| QL
= [19F {}= "2At + 0] + SALC| ZHHOIZE R, to tello] SX0f Agt3 5t ULt
@® not only A but also B = ‘At ofL|2} BE'2H= 2|0|0|Ct. 0] 2%0f| A= for travelersZ} Aoj, for thousands of flamingos} Boj| 5if
g5t
=B as wellas A, ex. Salar de Uyuni is a popular place for thousands of flamingos as well as for travelers.
® If you're lucky enough, you may see them walking gracefully around the desert!
- THAZAHEAL + enough = ‘S&5| ~8t/ot7'2h= 2|0[0[Ch  ¢of "enough + HAL: 28t ~
- Msee + ZX0] + #XZAb= ~7} 511 Q= WS ECVEh= 2|0[0|Ch ZIYO| o0 ZE5H| I SAFHY CHdl ST EAZE AR
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UNIT 01

©® Egyptian mummies are some of the most popular attractions / at
O|FHES| D|2tE2 7 27| /e 272 & LR oICt

history museums. / ® They are scary, / but they help / us understand

- AAPEFE 20| A JRS2 2Lt Jejut ORE2 S0t 27120 0|FHE
© 0|ZIEQ| O|ats SIAPEFZ Rtof A ancient Egyptian culture better. / ® However, / a few centuries ago, /
D52 o & olsastE 2 Shx|of o =
5t ol7] Sl =7{2| = 2l=0|ct @ 1 2818 T % Oldfot= S stxet 3t 7| 2ol
=2 oMot 2a|7} Al 0|FE 2 Europeans were (A) fascinated with mummies / for a different reason. /
oziolE2 g o o I=N0]K=
= O & OjdBIEE STt @ 5% [EeISe o2t of2=Ict chE 092
= M|7| Mo, QIS C}2 0|22 ® In the 16th and 17th century, / Europeans ate mummies / as a
A ozZ{o|=E2 O|zt= oioir]
2tof| i |t 1641712 17417101 RYAS2 0j2tS HYYCH
O 16M|7|2F 17M|7]0f, REIS2 O treatment for various illnesses. / ® They believed / that dead human
oFst RIH{ 0| % » =o olo] =Oo \lalo| =
A Chosst mo] Kl Zr|zM EELEE z2 Aol 20|
6 =2 =2 Ajzto| 2o x|95t= bodies possessed (B) healing powers. / ® Specifically, / each part of
ol it BioiCt @ ZAHoE 02 x93t 88 Alcka FAHoz ojzfel 2t 9l
7t Ho|L 2o| 2 Ho|= | ZFIC the mummy / was ‘Ehought to fure thedsame part of the body. / @ For
20| 7t -Hol=2 x| 250} AL
O{AHCL @ oIS S0, Dlate] So42 SHEE TR Ama o
e e =0 it X|280|QiCh example, / eating a mummy skull / was the treatment for a headache. /
18, 1SS o{g D[2E Bole e S0l Ol SrZe Bk s S50 ot x|2olct
© Dj2t= 7122 Zobe D Bo|L & ® Then, / how did they (C) consume mummies? / ® Mummies were
_ 20 IS2 ofE| 0|2}E HYET ojgk=
217} Moic) @ oAlES 1 5 1S Jde® 252 o8 DI2tE HAST [2t=
BIXIO|A| 0] BE2S Hoztn Wil ground into powder / and mixed with honey or chocolate. / ® Doctors
=2 70X = =a|ql Aod oAtES
® 5IxIgH 18K7| =2 0| Ojalst X 7122 ZotEn BolL 23 MUCH BES
20| AMM2 S1HE0|X| gfCh= Z0| then told their patients / to eat this mixture. / ® However, / by the 18th
S 1=09| sHR= +SH SstEe o ] =
SeiECh @ T Z1 7S oly|= O = OSo| Xt 2Lt o] EEtEs Hoedtn Shx|2k 18M71 =5
ofH{zict century, / it became clear / that this strange remedy was not actually
=Rt 0] 0|3t X| 20| A2 ZHHO|X| §ith= A0|
effective. / ® As a result, / it fell out of favor. /
JZ% JA2 Q7|2 S0t
D -
Il
@ Tone of the + M F + E4HALE 71& ~&t -+ = 5HLFEH= 2|0]|0|Ct 0] 2%0f| M= 0] Egyptian mummies?} S4HAI0|Z 2 one

CH&l some(Y8)0| AALE

@ rhelp + 2X0{ + AR 2 ~7} 5L E SCFEH= Q0j0|Ct = Thelp + 2X0{ + to-v,
® They believed [that dead human bodies possessed healing powers].

- [ 1= believede| 5H0] A&t S ot= HAPEO|L}. O|uff AR HLAL that2 ket o= ACt
® Specifically, each part of the mummy was thought to cure the same part of the body.
- each(z}zte|) Flofl= BrEA| Eh=RAK(part)7t 2t0F 510, feach + HrHAL= the= F|50tEE F0f TS AF wasTt AT
- "0 + be thought + to-v,= ~7} ---StC} 0{AX|CF2H= o|Oje| ~SEf EH0]Ct
¢f "People think that + =0 + SAt: AFRISE0| ~7} 50D 070t [55
ex. Specifically, people thought that each part of the mummy cured the same part of the body.

8 | Yo Mg =0{FE= CIefst 5t4 XIZ MG HackersBook.com



[ | e
=Ml ol
1 What is the main topic of the passage? o| 2| =7z 7jx =zist 227 1 16~17M710 REQIS0| 2 X
@ the origin of modern medical practices #cj o|2o| 7|2 Iﬂﬁ 0j2tE 9= 553* Tls o
@ why Europeans were afraid of mummies gzieiSo| 9 ojzts ei9igt=x]

® the cultural value of Egyptian mummies ofx/= ojzte| 2545 7t

@ the historical use of mummies by Europeans gzieiSo| oft njzto] eiats o2

® how ancient Egyptians preserved dead bodies it ojz=eiso| o= A5 2zs=7|

2 (A U= Fof e fFEIS0

2 Choose and write the correct one for (A), (B), and (C). K
0j2tE 2 X2t 20 HJC

(A), (B), (O)0fl S01Z L2 A2 AS Z2F AR

(A): fascinated ozl Doz U= (A= THREEO
(B): healing AR5 =Mt ATt
(C): consume oyt B) U= |01|*‘| ol2kel 2t 297t &

2 F2| £9IE X|=ettta o ARIC
3 Write T if the statement is true or F if it is false. o] Zo| Ljg 1} Uxlsiel T 12x| o0l FE MA. Ink-i=l=1=} I:IIE (B)o|= ‘x| 25t
(1) It is possible to learn about the culture of ancient Egypt 0| 2OHAN MASICY,
from mummies. ojzt22ef 1of o|ZIE| S3tof tha B 20| ZHs3tCL T (C) Y= oM D|2t2 Ji2E ot
2)A mummy skull was used to cure a headache. T

0f ZO0|Lt =252t e 40 HRA
taenz, U2 (C)oll= k7t

Loy I

D2te| FHE2 £82 RZst= H 440t

(3) Egyptians mixed honey or chocolate to make mummies. F
olFEciS2 njatg BiE7| 2Is) HOILt FBS MUCH

BHEUST TERE M

Complete the sentences with the following words. cts = 2gre o2 za} 232 2basiA 2.
4 comp g e * - 3 () 2% @04 OTES| Ojats 2
0

popularity explain treat possessions 2|7t ol o|FYE =3+ O H Osh
27| 2Esict x| =5t LRE St E F=Cln 3lict
In the 16-17th century 161747 (0| By the 18th century 1847| == (2) 2E @0l 912 =|0] ULCh.
Mummies were widely used to The practice of using mummies lost (3) 22Xt @-OO|M SIS 0| Ol2t
(1) treat avariety % (2) popularity Jt22 BolL} 222t MM X2
of illnesses. SRR R @R A2 HCi e #RIEh olES
0|2k= Tt AYES (1) X=5P7| /s E2] 234t

Ol O|2tE 2t 2fsli ICh= 2o

et g2 |ick

4 =X &M En

EE) 1® 2 (A) fascinated (B) healing (C) consume 3 ()T TQB)F
4 (1) treat (2) popularity

@ eating a mummy skull2 2% =01 o

Wt

£ ot= SYAIFO|CE SHARE T F g0t 2 F|0)| Tthe-SAt wasZF ML
©® Mummies were ground into powder and (were) mixed with honey or chocolate.
- be ground into= ‘~O 2 ZIO}X|C}, @otX|CF2h= 2|0|o] 4~SEf FH0]|Ct
- be mixed with= ‘~1} A0|CF2t= ojOjo| A=Ef E&0|C
© Ttell + 5X0] + to-v,= ~Of|A| ---st2t 1 LatCrak= o|no]Ct.
® However, by the 18th century, it became clear fthat this strange remedy was not actually effective]
- by= ‘~ Z2(0fy2h= 2|0]2| HX|ALO|CE
> it2 7}220{0| 11, thato| ZIZ=0{0|C}. 0|ty 7}3=04 it t}z afAI5HX| QH=Ct.
- "become + @ &A= ~aifX|C}, ~otA| E|CFEk= 2|0]o|Ch
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® There is a type of “dust” / that is as rare as a diamond. / @ It’s called
B2 HA[ 7t Tt ClolotZERtE 5|73t JAR2 Cpolor2E
diamond dust, / but it’s actually a cloud! /

HAEZID 220t ShX|2F %2 A E0|Ct

® Diamond dust forms near the ground / when moisture in the air
CHO[OZE HAEE X|H 20N FdETt th7) 2 #5717 &

freezes. / @ It consists of millions of tiny ice crystals / that reflect sunlight

{9 AHHO o 5tde AME Z20{x H kb = =N J =5
© CHO[O}=E CIAEL Cfy| Eo| I3t unt o) 0lME B ZPSE 0|F0TLE  EhEialE Cojot2 e

—

A

T
7h Y ) X 2x{0l| M HMEICH @ like sparkling diamonds. / ® These crystals resemble snowflakes / when

ul PSS 0| ZHE2 =&0I5 HUCH

=

Z4

=

7|
22 gzl CrololRE Y

[
suiat sl o st

[ud

hl

you look closely at them, / but they are much smaller and lighter. / ® So, /

| -
jr—
20{xiC} @ 0| AHES Glo] ARES XMI5| EH 2L aE2 "W AL e e

o
HEOo = == ok [ic] L
7|_|:‘5|:}_ @ ZEHA_II 1%%% E.E"O“ E%o_lxl 1)\21_ oESO“ \_Ef 00‘” EO‘|X|7|EE"|_
7|©CHs 2Z0j| L. © Unfortunately, / it is not always easy / to see diamond dust. / ® Only
25l5 SEAF A|© Fo = = 5l 7
® =53 CIo[o|=E HAES & S gy Aol | Cloolec ClAES BE ol
= 740| BHAL 4|2 742 OfL|C} @ M|Z[0f| a few places in the world / have the necessary conditions / for diamond
X 9% 28 xagato| Cholol=e o AN ©F 2 gagsio] B4 xAES Za clojot2cs
AEJ} HAME LA XASS 200 9k dust to form. / © First of all, / it has to be extremely cold / —below
© 24, 22 st ofel 2 ot & esiEes o Sl =
M 25t 165 0|5t2 2A| =<Jof BiC} -16°C— / with high humidity under clear skies. / @ Also, / there should
5 Fo 5He =o A 5t 5 ol o 5
@ 5t Hizo] Slojot shes, 23X o 162 0312 B2 s of2 =2 Szt e Est  Bro] giojof ic
om A=7|7}obzt Z40|Ch @ 2HA, be no wind, / otherwise, / the water vapor will be blown away. / ® So, /
ohot 0| Ol2Lie BiAkE XF Ha Al JgR| gfo® 43707t ok Zolct EETN
o CHAIS olgre o) 2Tk AAO| Q) if you'd like to observe this beautiful phenomenon / in person, / you’ll
ook CHA =1 gl X=1 S PN X=1 AlC o PP S| =N =2
have to be in the right place at the right time! /
Y52 mofl 252 Xof Aojof g Zo|ct
D -
Il
@ There is a type of “dust” [that is as rare as a diamond].

~ [ 1= 90l & M98} a type of “dust'S 415t 2 ECHAFEO|Ct,
- Tas + BEA/RAL + as,= ~BHE - 3H/31A 2t |0jo|Ck O SHOIAS THOOH2EBHS &|7I8H0|2tD SAlITt

e}

®

A be called B,= ‘A= BEt1 22|CFet= 20| £, feall A B(AZ B2t 2201),2| &~SEf ES0|Ct
@ |t consists of millions of tiny ice crystals [that reflect sunlight like sparkling diamonds].
- [ ]= 2o 2 M3HAL millions of tiny ice crystalsE $£Al5t= =24 Z{CHEAFEO|LC
© SAbmuchs EW0J2k= 90| 2 Hu g8 XS 4= Tt 0] 2H0IM = HEALC| Hlug smalleret lighter

=2 4x3 Cth.
of Hlug Z4Z EAL much, even, still, far, alot ex. Jason arrived far earlier than you. (Jason2 HECH &4 2= SiLCt)

[l
I &

P oro

©® Unfortunately, it is not always easy to see diamond dust.
- it 7}2=010] 1, to see diamond dustZ} ZIZ=0{0|C}. O|uf 7}3:01 it [} S|AdGHK| =L}

10 | Yoi HHS =0{F L& it 84 X1= XS HackersBook.com



1 ol 22 HSo= 7t MBS 22?2 1
@ How Do Snowflakes Form? w=zo0|= ojwr| sixs=7}
@ Weather Conditions Necessary for Snow =2 <jst =est 7|4 z7is
® Diamonds vs. Diamond Dust: Which is Rarer?
CloJOl2E i Clojoj2 = CIAE: of 20| & 873712
@ A Mysterious Jewel That Has Never Been Found i i siz48l = gi= Alu|st 24
(5 Diamond Dust: An Unusual Weather Phenomenon ciojojzc fiAes: =2 7|4 4
2
2 CI2 20| chet BHo| E[=E HIZo)] S0{Z LS 22|UZ MA|R.
Q. How are diamond dust crystals different from snowflakes?
CHOjot=E CIAE AFE2 =40|2t 07| CHER
A. egomr} N O D IR , a0 "o 7] ke 3
S50 =t
3 Ciojot2E HAE| Bt 0] 2o Ligat Yk|eH= H2?
@ It is different from a cloud. 2z 229 ci=ct,
@ It is created far from the ground. —zie xjpioz2e of 2o Mt
(5 It is composed of reflective ice crystals. 7zie ws vipsie 22 ZEsz 24l ot
@ It can be observed all over the world. =712 = A7 230|M =242 4+ ot
® It forms when water vapor is blown away. 272 +z7(7t 2ofzt o gEic
4 o] 20|M 2= 2l the necessary conditionsZ Y2 E|X| &2 712?
@ 7]&o0] Yo}of gttt @ F57} =olof st}
® o] wolek gt & 715te] olo st
® Higo] B4 gotof sttt 4

BB 10 28X aumeM, 3B ECH 30 40

ZH oi&

Y olg =ds X H A L2
OflMEE = 4 Qli= Ho[OF2E
= 20|22, Moz

OI2E HAE: E2 7|4
3

\l|'.|u

02

%
ir @
=
o x
H o
]
e o
= o

o

Mo R
0
®
2
x
inl
i=]
<o
ro
In
inl
[>
Im
rr

__l.l.
@: 28 OO M LIO[OlZE HAEE
K 20| M g ETt KT

@: 2% O0IM MAS @& HH &
AS0ATE CHO[ORE AET §
ME 2 UCH FHCE

©: 2% O@ol|M CHo|ot=E HAES|
M xHC=E £B7|7F OIHR| ¢
L= djEho] glojof st Jict

off AZE[0] ACE

- not always= ‘& ~8t 2 OtL|Ctet= Q0|Z, MA|7} ot! YR E BYst= [FE FH]S LIEHCt

® Only a few places in the world have the necessary conditions for diamond dust to form.

~ for + 27,2 toRHAfe] o|0]Af 5012, toR & AKto form)7} LIERI= Sxte] Zxijo|ct

- to form2 (C}O|Ot2E A ETH YME'0|2H= 9|0| 2, toRE™AtS| HEAMH 8 o2 401 the necessary conditionsE 4=

© have to= ~3l|0} tCF 2= 2|0|0|Cl. have/had to= F|0f SAIIES £C}

Alstal QI

® So, if you'd like to observe this beautiful phenomenon in person, you’ll have to be in the right place at the right time!

- "'would like + to-v,= ‘~6t11 4/C¥2t= 2|0j0|Ct would like= SXM0|2 toRHALS 2LH

= ’l(=will) have to= ‘~3l{0f & Z{0|Ct2t= 2|0| 2, 0|2H2| |25 LIEFHL}. ZRSAt= BF H0f SHLfet MO 2, ZFAL Fof M= must CHA

have toZ, can L4l be able toZ 2LC}.
ex. We must be able to speak English. (2= 40§

i
e

AR 4 RA0{0F BHEE)

ot
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UNIT 02
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gl g Aojgts 2S SULCL
Lt 202 M, 4= M7 oA
010l =Rt @ 0 2
2l=7h @ Atd, o|z2 2ot
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O 20t= o2t 2% EfOILt of
Ch @ 2= o2l AJE UL B2
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Al

® As a child, / she was told / that she wouldn’t be able to walk again. /

oS JdE 22 SAH JH7HCAE 22 4 9 2 Wol2ks

® But, / at age 20, / she became the fastest woman in the world. /
J2fLt 204 o I MIAGIA 712 B2 044 0] Z|RUCt

® Does this sound hard to believe? / ® Actually, / this is the story of
0|zd0] 7| ofFH =2l=7t ApAl 0|42 wilma Rudolph

Wilma Rudolph. /
(ot F=IZ)2f ojop7|o|ct
® Wilma was born premature and weak. / ® She suffered from
2A0H= o=t 2 EfofLt ofsit JuE se wse wrt
numerous diseases / throughout childhood. / @ At age five, / her left leg
ozl A LiLH E Jliel 2% chal7t

became paralyzed / due to polio. / ® Despite this, / Wilma refused to give
O] 2| RACF 200t 2ol O =715t &0h= Z7[517|E MR

up. / © To strengthen her leg muscles, / she began wearing a heavy brace
Jef oi2| 282 Zatstr| 2l JHE a9l tr2lo] RAR EXVIE

on her leg. / ® After several years of treatment, / she was finally able to
S| AIERIC  F EHo| X7 =0 Jd= oY BExV[E e

take the brace off / and walk on her own. / @ But she didn’t stop there. /

= AACH J2|10 EXtM ZE 4 AU SHR|2E T = A7 [0l K] U

LS A

® She started to practice running / and pursued her dream of becoming
JHE E2|7|E A& | AIRICH 02|30 | M7t 23 E 12| B8 FARUC

an athlete. / ® In 1956, / she went to her first Olympics / and won a bronze
19560 4= 49| A SE=of LIz J2|3 SHES [t

medal. / @ Just four years later, / at the next Olympics, / she became the
snt4d = ot =AM Je z|xof 0|=¢l
first American woman / to win three gold medals in one Olympics / and

0§0| = RALt oF S=IZ0IM 371e SHES J2|n

even set a new world record! / ® Her determination teaches us / that
AX[0] MA A7 IEE MIRIC Juel Aol= 2|0 712X ECt

nothing is impossible / if we have the will. /
=7ttt A2 gltle As 2tof 2[0f|A| 2|7t UetH

As a child, she was told [that she wouldn’t be able to walk again].

~ A be told B,i= ‘A7t BS ECtats o|0|o|ct. Mtell + ZHI2HO{(A) + AHEHOI(B).0IM ZFHEH0IS F0j2 PHE £56 3o,
ol 2RUIME BAE [ 17} HE2H0f ofgt2 shn YCt

- ZE A= ot Hof| SR A8 2 ZEAF would F0f|A| can CH4l be able to(~& 4= QICh7} A QLT
® Does this sound hard to believe?

- fsound + Y &At,= ~of7i| E2|CF2t= 2|0|0|C}.  of "sound like + BAL: ~X& S2|Ct

- to believe= LT[0 2t= 2|0| 2, toRFAIL| BAIM SHOZ M0 F&EAL hardE ~Alstil QUCE

@ due to= "~ WE0f'2t= 2|0|Q] FX|ALO|TE

12 | Yoi HHS =0iF & Ot 84 X2 XS HackersBook.com



ZH oi&

1 22 00 zg W8S 2ojstit.

54 [ Aot0HH| HEol| 2% TH2| 7t
7

1 o] 20| U H this7} oJulsts LIBS PEITE ML,

544 mf A0H0e| G20 §IZ 2|7} oplEl 3

2 o] 22| giztof S0iZ L= JH MHsH 22?2
@ every moment of our lives matters <z| ato] 3= 27t0| =93}c}
@ we should always be grateful to others <z|= st 12 AlzrSol7 Zafshor sict

rol

& nothing is impossible if we have the will gtef 2ajoj| ox|7t gttt 2ors3t 22 gict
@ we shouldn’t be afraid of making mistakes <z|= 4142 st= 212 S2i2fsx| tofof sic}
® experience is a good teacher to help us grow zsie 22t yzsizs 5= 22 250/t

3 0] 20ilA Wilma Rudolphoi| Ztali AZE|X| ot 24e?

@ what she did to strengthen her leg muscles 247tttz 282 Zsts1| 9lsf 22 a7

(5 how long she trained as a runner -7t =re)y| M52 Aopt 98 22 x|

3 @: 2o gE7| deEM 2EE
(3 what she wanted to be after finishing treatment i~ - o =
RIZE Zth F0| 7 2H0| 51 40f | oF 7[Ztof chet 212 gich
@ when she first competed in the Olympics 7147} o1 222 22z 27l3=x] @: 2% @0M Ct2| 282 Ustst
® how many medals she won in the 1960 Olympics 7| sl BHA7|2 &L3SHChD FHC}
1960 SToIA| 1147} Lot B2 oS B e
Q: 28 0, ®|M x| =7t B =0
. . SAF MAZ 113y 3l
4 0] 20| Wilma Rudolph7} 42 Uat UR|5HK| Q= HE? S ME JRCHD CH
© o1 Ao) B Yot EANE A 23k @ =2 @A 19568 HEe=
SR LIZC Fct
Q@ A7) X8 Bl Hx7] glo] A& 4 A H ATk ©: 2% ®E Sdl 1960 S2iZlof
M SHES 3 G228 & + ATk
® 2547t Haa ger) £ Pt
Y He 20 Yol FrDS e, 4 @ 23 @M 2opt 3t gai=|

@:
M SHES ot SHCE

G oS SN AlA 47152 ALl @: 2x @Oi|M AofopH|Z 2|7t
OHHIEIACH] 0, 28 S Sl
X|= MK E27] gio] Ol EXIM
A2 = QiASS & += UL
Q= =% 0, B2 =& ®ol, O=
=& @0 A=E[0f UL

EE) 154 o A0i0H| W20 AZ CI|I7LOMIEI R 20 3@ 4@

® Despite this, Wilma refused to give up.
- Despite2 ‘~0f|= 27L5t10'EH= 2|0|2] MX|Ato|Ct Z-2 2|0|2| MX|ALRl in spite of 2 HHY & 4= QUCH
= In spite of this, Wilma refused to give up. ¢f falthough/though/even if + 301 + SAt,: ~&H0|= &6t
- refuse + to-v,= ~5}7|E HESICFEH= 2|0|0|C} refuse= 2XM0{Z toE™AIE £2C}
© To strengthen her leg muscles= ‘JL42| Ci2| 282 Zststy| flsi2te 2|0|2, [SE]S LIEH = toR YAt AR 8O 2 ML
® She started to practice running and pursued her dream of becoming an athlete.
- Mpractice + v-ing = ~o}7|E A&SICEEH= 2|0[0|C} practices SM0{2 SHAIS 2L

- her dream} becoming an athlete2 T X|At of 2 1A= 524 272, 0|l of = ‘~5iCh=, ~0|2t4l Sh=, ~2I'0|2kT AT}
® Her determination teaches us [that nothing is impossible if we have the will].
~ "teach + ZFY2H0] + IFSH0{,E ~oi| -2 JI2HECFeHs 2lnjolct. o] SN E BAE [ 17} HHEH0] kg 5t It
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UNIT 02

©® Show a group of friends / the picture on the left / for an interesting

ot f2[o| ZIFSoA BojFofat 10 = 2'E S0IE2 &S 2l

experiment. / @ Ask each of them / which line—1, 2, or 3—is the same
05 ZiXtof|7| 20{2otat XM 1, 2, 3 5 ofH Zdo| 22 ZOo[QIX]

length / as the red line on the left. / ® But, beforehand, / tell all but one

[==]
Q| XX Ho XA St % = 1 -
—TL%O‘”}” Ql_lz_'|§0‘| %E JE:'!% Eo:‘%c—o‘l 12| H2 Mt J2{Lt Ao ShEIFE Helstn Z5of|7|
2l @ IS ZEXjol|A =M 1 2, 3 = 0f friend / to answerline 1./ ® Then, / observe what happens / when everyone
o 710] Sio| He xMT 22 ofol wsiset MM EsRn D08 fA Yo Yol s CIE BE ARRO| B2
x| 20{=0l2} @ 2Lt AFEo, 5t % else gives the wrong answer. / ® Surprisingly, / the friend you didn’t tell /
Cte sh =2t CIA|Q| BtsH=X| otot= x| 1=
T 9l @ T CHS, CF2 RS Al might answer line (A) 1 too, / even though he or she knows / the correct
0] E2I et & o 22 20| YoiLt= fESh A 1012t Bt = QU HIZ O = D147 20 JUEEE HCHo]
x| 82}, @ S27|E, THAIO| ShsfZ=X| o answer is line (B) 3!/ ® This is because of conformity. / @ Conformity is
= 712 241 QICtE XM 10|12t Ehat a tendency to change our opinions or behavior / in order to fit in with a
o HeS = MG xic 2 ol 5l
A% ot ® OZe £x W20 @ of740]Lt BE S B2 Agolct RiEtt ojgal7| 9l
=x= xcht of=22)7| 95 2|2 o group. / ® Most of us don’t like to stand out, / so we often (C) follow /
ol = HEHO = 72 =0} OFL- Oofle == [[}=2
‘7_:’0“_}’ %%% Hl'JI:LEqE gé‘:o“:}' @ _<'3_ 225 B HERE =0l Zl= WS E0tsXA| bert 2N 22[= 3 WELt
2IE = CEES Lo == 7S Zofs} what the majority does. / © The greater / the emotional bond we feel with
A St= 7H2 AR o | = X 412
xl %FOM‘L Er_J'\_jl_%l_E Zﬂ% _76:__763 EEl’%EL L2t sl AS =T= 27t FHetof| =77l= EMA |7t
© 2|7} Zcto| L= MM 7t the group, / the more strongly we conform. / ® Other factors influence
og|l= bl Ex5 2 QoIS gt =
2 9ol sl Ex0 QatS =ch @ & conformity, too. / ® When it is difficult to make a decision, / we tend to
o152 = A S =) ool A
E% LHE.|7| O‘IE:|% [[H, '?‘E-|E I:l__)'\_oﬂ % co= ._Ef =2o= LHE|7| O'IE:|§ [[H —ral._ L——%TO”
XM= ZAsk0| QUL @ KEBt Q2| = oot go along with the majority. / ® Also, / we will likely (C) follow / those
=x5Hs 20| 9 5 on| =
I:_I %% x|-c|1|01| %1% Al_%},%% [EI‘% Zdol o—jlc—ol'n_ 7ooO| MEI“ £t Tall_ OHJ?’ [LI'E 3\0|Ef
Ch ® Btodof, otok zicto| LAlel = 5t who are higher in status. / ® On the other hand, / conformity can break
Lo (©] ol ZHES H SEXL g {& A o
510[21 i 0|40 So|51X| brte of 52 XI9l0] Sl AR S stolof SEt DU 2 9tk
Ext aE 4 Qlct down / if even one member of the group / disagrees with the majority
2tof ZEto| ¥ = ot Pol2te Lt Of2A0]| S2ISHA| Sh=ChH
opinion. /
D -
;2 ole
® rshow + ZFHSH0| + ZYSHO| = ~07 & 20{FCrek= 2|ojolct
=Tshow + ZIH=2X01 + to + ZIHHEH0{, ex. Show the picture on the left to a group of friends for an interesting experiment.
® Ask each of them [which line—1, 2, or 3—is the same length as the red line on the left].

— lask + ZIY=H0{ + ZZY=H0|= ~0A -5 ZCret= 20[o|ot of7|ME ZHHOIZE [ 17 AE=H0 s 5ta ltt
~ [J= Te2At + 0 + SALC| TR ELR, asko| ZHFH0| A S 5t ALt o|wf which ‘0'0[2h= 2|0| 2, whichZ| 0{H,
o

Ool='2h= 20| = O] 2HOIMAE Flo| HAKline)E A o=
x0f oJ3tg 5
42 Fof| H}2 SAF 20} ex. Check who wears the crown. (=71 &2t 4

® ~, the friend [(who(m)) you didn’t tell] might answer line 1 too, even though he or she knows the correct answer is line 3!
- [1= gfoll & MAf the friendS 44150 SEZ BACIYARLR, 2X2 2AIHYAL who(m)7} A2kE|0] It

14 | Yol ¥g =0ix
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ZH oi&

1 1,2, 382 =M FojlM wizk (A)2h (B)O| SE01Z HSE Tt M. 1 20| Cj2E mas =X M35H0]
(A): 1 ®:_ 3 Ase d¥st= 20|28, 2= T
7b 2102k £ tiEs o o,
2 o] 29| izH ()0l BEE S0iZ U= JpE MG H? 22 gt HE FHO| M 3s A
@ expect 7|chict @ ignore Azt ® change sfact ME EIM 102k CHEtst & 9les
& follow m=ci (® appreciate o/xsict 2 = QUL kA BIZEH(A)O= 1, &
7+ (B)0il= 30| 7H& ZH-SICE
3 o 22| Y& # conformity0]] B2 F= Q0102 HZEIX| g2 242?
© Qe th Az & e =7 2 23 @oIN Sx2 BEtw o227
® 279 dol= @ T34 A4 2ol 2/A0|Lt ASS v = Jet
® Th4= oo vithshs 3¢ olztn ooz, HIZio| s 2%
4 12 3, 0| 20N MYsH= Az|of st AIE 2F DE H2? (_30“)\1 =01 A = _-°r|;5H e
- Sl AS TEMN D RFE 4= ACL
(A) Jake laughed along with others about a joke he didn’t understand. i (D_Oﬂkl SEEH PoTI=
Jakei= Ol3ftR 23t ST Cis CIE AlSS f2t RUCY. Qo8 MEgiooZ 70| = &2
(B) Amy gave a poor review to the movie that sold the most tickets. A @OM HZ5H O =2 X|Q| 5t
AmyS P e EE B gatol s 82 Ak
(C) Paul chose a college because his parents liked it. SAS O oA X9I7t O &2 A
Paul2 10| S2H0| 1 cist FOAY| 20| RS ML g MELFD RFE 4 ALt w2t
(D) Nancy supported the baseball team with the lowest ranking. M EIZF (C)ol= @ ‘TECFI} 7FE
Nancy= 7Hs 5F2 £912 Rl SPEIS xR/
Aot
@ (A), (B) & (1), (C) ® (B), (C)
@ (B), (D) ® (0, (D) 3 @: ©ctel 3710 chsh AZ2 gict
o2 =% 001, 92 =% @0, @=
5 CI2 AY E0|0f| sHE5H= THo1S S0i|A FHof MA|Q. 22X @0, = 22X ®of o120
o

a connection caused by feelings of friendship, love, or shared experiences

P, M| ZF Ei= PHE ZEo) ofsl 2FS0{TI 1 12|

bond

s

4 Zthof of=2(7| ffst HTte| ofA0|

EE) 1W1B3 2® 3@ 4@ 5bond

@ inorder to= ‘~5l7| @l 2t= 2|0| =, in order to= S of| SAMR

© rthe + b ~, the + B[ -, ~EH2 Of --3iCfats ojnjo|ck, o] 2R E ‘22]7 et Lal= HAN |7t 242, 92l=
O Zsi7 Sxstchatn siAsic,

2 £L} = so as to fit in with a group = to fit in with a group

@® When itis difficult to make a decision, we tend to go along with the majority.
- it 7}2=0{0] 11, to make a decision0| ZIZ=0{0|C}. O]l 7}Z=0] it W} 2 Sl|AdE}HK| Qt=LC}.
- Mend + to-v= ~Sh= Z&0| UCH2k= 2[0|0|Tf.
® Also, we will likely follow those [who are higher in status].
- likely'= ‘Ofofats o|ojo] HALZ, SAt will followE 2A/5t It
of be likely to: ~&F 71 ZC} ~& 7HsA0| QT ex. Seth is likely to follow his father’s path. (Seth= OHHX|Q| Z & S 7 ZC})
- [ 1= ool 2 MAF thoseE =Ash= =24 ZAIYAFROICE 0| those who= ‘~Shi= AFRFS'0[2F4L S4BT
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haven’t come out yet? / ® They emerge when you’re older, / usually after

- OF%| LIX| 42 RS2 Aol Lo S Lh=2Ct 25174 0|F&2
© THAIS o) 5|Z0f| OF&| LIX| o2 | the age of 17. / ® At this age, / it is said / that you have gained wisdom. /
= ~ 5] CHA B =Ne
Ol_jl_%lzl_E zj%%.ﬂ ?‘157'_7913_\'% 0| Lto] mi= olztm st 2Ol X[Sl|E ¥=Ctn
2 HE 1740|532, chilo| LIo|7tE S @ This is why / they are called wisdom teeth. /
Z10| ~st O|ROICt OHE 5f|Q| X 2| | nE=—r1r
of Liorh @ 0| Lio| M. X|3|= ole 0[7¢0] ~t 0|R0ICt T24E0| X3l X|oKAtLI)EtD el
Chm siC} @ 0|740] 2S00 X[5]2| | ® In reality, / wisdom teeth often cause pain and cavities, / so most
A2 = ABH | == E=T} =%|2 oHsi0) T2 CHEE9
OHAIZILNEI T 3l oj20(ct WES lILE 35 531 5718 Rusic a2 cheee)
O MNZL, ARt £ £33} £ people have them removed. / ® (A) However, / several million years ago, /
2= J74S0| R|AE| B SIR|EF auio i H
il% %té%Hkl, EH-‘?‘-‘E_Ql Al_—l_ér%% sz AHE2 IUWE0| MAH=A STt StX|gt =gt = Hoj|
S0| ®|HE|A B} @ SFX|ot AuHot A our ancestors used their wisdom teeth / to eat tough roots, leaves, and
oS 2lo| A _7‘(_59 mE=Jel ZH |2 2SHLC| X|7| BH 1 m=in LtT] % \1! ol =|
Xl_'IO‘”’ —?—E|_Q| ﬂi%% KEI?_I E|EE|, O|E}'E|, T'j—l—l MEE2 = | Aro IE *fOM I' =1 —.—El, O\J-LEL ElJ— EL7| 7| ’T‘IOH
JE|T Y072 W | ARILIZ A raw meat. / @ Their jaws were also much larger, / providing plenty of
_ _, = JE9| B2 st &M o ZiC| a2 ot =25t
83t @ D50 e wat UM of H SEsRE s AR s
A, Clotol| AfHL|Z 93t 225t Z7tS room in the mouth / for wisdom teeth. /
27+ x| =23H H|E 2|5
@® sHX|Tt 017Ho] Q2|2 295 22 A ® However, / as humans started to use fire for cooking, / food became
_ Sx|at 01710 Q2| 9l 22 AIR3I7| AlxtEto| w2 sAleC
%3|'7| AlX_!'s‘:l'O‘” [El'El', %A_!% I:_I —‘?—EE StX| et Q1Zto| | Qs 22 AHEst7| Al ity 5|
T W7| AL @ Zotxoz 22|9| softer and easier to chew. / ® (B) As a result, / our jaws became smaller /
H2{ 7 M| A9 XL ZANf™H o oplo| E{e [ XHo}X L
X, SE|= AFAIAL ARRHL|Z 93t 225t over time. / ® Now, / we don’t really have enough space / for wisdom
Zto| KLt OfR Q3| AMIA S25t Z7HS 24T QIX| 9T ARLIE 9l
-g—?_f%;}:’_?iﬂ%}[fm%'xﬂi,gﬁ'ér A||_|>O|X| f._1 |ﬂ a ||_ PEOSA_I_OI_E =L AR |Lo % |'o | TIE
MM O] Gt ARZFS0| mA ARHL| 7} L} teeth. / @ In fact, / more and more people these days / don’t get wisdom
x| otch MF2 Qs HE O B2 ARSo| AfZLIZF LR pect
teeth / throughout their life! /
By
D -
Il
® Do you know [that you have teeth in the back of your mouth {that haven’t come out yet}]?

- [ 1= know?| 50 &tg 5= YAFHO|CE | WAFY &AL that2 Merst o~ QICk
- {}= 2ol 2 HEA} teethE fAl5H= 4 AICHHAFZO|LCY
- haven’t come2 &ixii2tE AlX|(have p.p.)2, O] E&0IME 270l AJZHE o] SixHol| Bt [2t2]S LIEHHCE OFRI7IEX] X[OF7} Lz
Z40| 2B E|X| LRUCH= o|0|0|Ct HRHARE AINZ LY EE LIEPH mj= =2 yet, already, just, recently, lately S0| &7 AQlCt,
® At this age, it is said [that you have gained wisdom].
- it2 7}=0{0|12 that= 0| £I=0{0|Ct O|uff 7t5=01 it2 [tE s§AISHK| Ob=Ct.

- have gained= $ix{2tZ A|X|(have p.p.)Z, O] 2X 0= 2HH0| A|ZHEl 20

SAxfol| ELt [IR]E LIEHHCE
® Thave + 2X0f + p.p.s= ~7} & BICFEts 20|0|Ct SH0{9t| £5 BHS LIEHAT| /o) SALAE CHA T EA}
of Thave + SH0| + SAIRIE  ~7} --51H| 5lCt [5S] ex. Parents have their kids study. (f2 = XHA7F 3251 ot

A0q |:|._

16 | Hof Hg =0ix
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1 Why are the underlined teeth called wisdom teeth? Write the answer in Korean. 1 2% @-00|M X§2 d=Ctn 3t
LE %l teeth7} AFHLIZIT E2]= 0|R= RBAATR REYE MA|IQ. E 75 Olﬂé—oﬂ A}'%H—ljl' L'|'97| [[H'E'
XS E = LIo[Rl 174 0|0l ARL|Z} LR W20 - ol =
= = of, 2 X|Ot7} R|s{|2f X|OHARZL]E}
0 =0k 3ic
2 Which is the best choice for blanks (A) and (B)? =izt (A)2} (8)0] S012 22 7jaf ={xist 2127
(A) (Bl)l 1 2 (M) Wizt AOIM ARLIZE SBTH 5
However - Nevertheless sx|ot - a2z 27510 - .
b e s X8 SN B2 A0l 1218
dHowever ~~~~~~ As aresult sfxjgt - ooz MBIl T Mat & Hizto] ol
® For example - Nevertheless o)z =of - 2oz 27540 ettt 2t =, 2Izio] Sl
= xh oo MxES 772 &I
@ For example - In fact ojz sof - x|z 0N felof 4ESE %S
® Therefore - As aresult wepy - ZapEoz 1 A8 A= o ARZRICHD TR
= HES ASFICE M2 BIZH(A)
3 Which CANNOT be answered about wisdom teeth based on the passage? ofl= ‘stX|2ro| 7+& M & siCt.
0| 22 HifoR AlRILIo| Bl HE 4 ol "2e? (B) HIZ} QO A AFRISO| 220 2
O Where are they located? 2zi=2 ojrjol 2ix/s 9=k S AFEsHHA SAl0| M| HalxCH
o — [==Ra | —
? =o =
@ When do they usually come out? 2zise 2& ot Li=op 73T 0|7 HIZH0| Qs 22X
@How many of them do people have? ijzise 12152 2 7 7px1=0p M 2alo| E0| O EOFNCHT 3F 0
@ Why do people get them removed? ijzrse of 22152 Hpist=7p 1 elel 0| RO 2t o]
. . oo slictstoz vz = A
® What did ancient people use them for? o sjzise 2ois 9ls) 1252 Arg=1 R0l siot2 =, glzh (B)ol= 20t
MO It JhEh HsIT;

4 Choose the correct one based on the passage. 0| 22 vigtoz agte 712 1249,

In the past 217y Today o=yt
Humans ate foods that were People usually eat things that are

(1) (easy/ ) to chew, and they » | 3 (/ hard ) to chew and have

ALt SYCt
had (2) (' smaller / ) jaws. (4) (/larger ) jaws. @: 2E @O|M ARRIL|E HE 174
QIZE2 A7 () o2 SAS YU, As2 ) H 2 AHESEEW|Q HE AES YD W EH A2 H - -
CER i) g 7% ek, O|%0f| Tt FHCE

I
@: 2% @0IM ARHLITL &
XS |LshM HMAHEHTHD FHCk
EAS
0q
04

©: 28 00N 22|19 iz52 F
71 52|, olmf2|, E17[E 7| 3l

EE) 1 XIS 2= Lo|Ql 174 0[S0 MLIZI LR B2 2@ 30
4 (1) hard (2) larger (3) easy (4) smaller

@ Their jaws were also much larger, [providing plenty of room in the mouth for wisdom teeth].
- [ 1= T2|1 Ukl ARKLIE 2[5+ Z28 S7ts MBFCYet= 20|9f [ALSES LIEHE SAFLE0|CHL BAMTE2 BAPH0IM
LAIRE OIS Mafst 3, SALE v-ing= HHY BHECH
=T™H&AL+ F0{ + SAL ex. Their jaws were also much larger, and they provided plenty of room ~ for wisdom teeth.

® However, as humans started to use fire for cooking, food became softer and easier to chew.
- start= 2X0{2 to2-AIR SHAF BF £ £ QL ex | started using an iPhone. (Lt= Ol0|Z2 At25}7| A|RHHLCE)
- become + S EA}L= ~51/| E|CF2H= 2|0|0|C} 0{7| M= & 2Ale] H| w2 softere} easier7} M4 AL and2 Q1A E|0] ML
- to chewz= “W7[0l'2h= 2[0|E, toRHALS| 2AME ¥ o= M0{ FEAIC| H| g easiers 4511 QUCH

HA‘I

=

ro

ct.

ol

® rHugand Hlug.2 FH O ~8/sek= 2/0|o|ch o] 2E0M= @EAte] H| g more0| A0f “HE Of @2'0[2t1

[
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UNIT 03

L

©® If you sometimes feel guilty about eating meat, / you may be

Lo 17|E HE Ao tish 7+5 ZMz S =70 g2 Mz

interested in a new product / called Clean Meat. /

22 oA =
= OH—- HZof 2talo| leX|E DECH Clean Meat(Z2! 0|E)2t1 E2|=
© THAI0| 7|2 o= ZHoj| Chs 7pa @ Clean Meat is produced in a lab. / ® First, / muscle cells are removed
HRzre Lpictel, srae Dl ojeat 22l 0|2 ool Maect Bx 28 MES0| Mojgls S22
T 2ajs 422 HZof 2Alo| USK| from a living animal, / such as a pig, cow, or chicken. / @ Next, / the cells
==l | O LHEICY EiX], &, E= ot E2 aos aMES2
@ 22| D|E= HAI0|A AJAtEICE are given nutrients / and grown into muscles, / which are the main part
© oix, 22 MEJ} K| 4 o o goreg Bgwert  02ln 280z A9 Qi 0452 2207t B 179l
T 22 Ablls S22 HE Ho{LHE of the meat we eat. / ® Finally, / Clean Meat is processed into various
[ @ 1 e AEL olotos Do z=l mojso|ct OiXgloR 22l 0|Es Clost AlES 2 JlREr
T 2g0o2 7|9X|eh| 0jHES 28| food products, / like hamburger patties or sausages. /
SHH{ 7 A pAY=}
7hef 1719 ZE 29l0ck @ Obx/e} e s B
oz =2l n|EL 7] THE|QF AA|X| ® A single cell can create 10,000 kilograms of meat, / which looks
21 Cotst AlZ o2 JlmEiC) siLtol MZ7} Bt A2 02o| 17]E BHE0j 4 ict 2zt olzte
® stLte| M=} oF Zi2aso| 1Y) and tastes just like regular meat. / @ With this new product, / you
X = % 24 3 2 X= ZNE=2
Z 0rs0{Y & Q=0 0|2 Ojx| BE OFR| 28 17|M3 20|11 gto] ot Ol ME2 HE2E A2
T7|%2f 20|31 gto| LiCh @ O] 28 can eat / as much meat as you want / without killing livestock. / ® In
HEOCZ CHAS 7452 ZO|X| 941 & HE = Tt o] Ysk= tEel 1YIE 7t5E FOIX| ¢4
st ot=o| 7|2 oig 4 9lch @ ot addition, / it has a positive effect on the environment / by reducing the
3 Azie =xOIM AISS/S 2ol At azie 50 38 ggS A £250| 48 F¢/ozy
A2 Zoloz B0 2RE0I Aate number of animals / that are raised on farms. / @ For example, / just four
- =X} L= =2 = C} o
5t CHO| X[t 22 Yol 2ATIAZ HiS cows emit / the same amount of greenhouse gas as a car. / ® But Clean
SIC} @ 51X|TF 221 D|E= x30| 24l 2SO0 BESICE oF CHO| Xtef 22 2fo| 247tAS SHR|2E
JIAL M8 HiE6HR| Qtert @ 1A Meat doesn’t release any greenhouse gas / at all. / ® What clean meat it
_ Erl L xI0o| @Al Z31K| or=| = 1o of h1sp
ST —— 221 [EE £20| LU AT HESH| B=Ch 2131 Q% Yopt s
is! /
71zt
D -
Il
@ If you sometimes feel guilty about eating meat, you may be interested in a new product [called Clean Meat].

- ZSAFIOlE SAFRRE0| REZ, ZEAIL UE +SEI= TESAL + be p.p..7t ECE

- [ 1= 20l 2 a new productE £=2lat= 172 AL0|CE Ol called= ‘~0|2t1 E2|='0[2t1 s{AISiCY.

()

Next, the cells are given nutrients and grown into muscles[, which are the main part of the meat {(which/that) we eat}].

~ "A be given B= ‘A7} BS giTh2t= o|0|2, Tgive + ZHHEX0|(A) + ZTSH0{(B).0llA ZPI=X0{Z F0{2 BtE L= ESO|CF,
=B be given to A;: B7} AWl =O{X|Ct ex. nutrients are given to the cells (FF£0| 1 MZE0]| Z0{ZIC}H)

- [ AISA Yol 2AUEAE R, 1M (MALs) ~SIEFEta siASITE ofu ACHEAL 2oll= e SOHE 20k 07| M= 2ol =
musclesE AR 7PN ‘22| O|AS(2|]S)2 RE7F He 17|29 FE F2IS0|TFo|2ta siAgHTt

> {}= 0] 2 M3A} the meatS $-AI5H= 27 PAHHAPER, 282 BACHEAL which/thato] A2k=|of QICt

18 | Yoi S =0{F & it 84 X1= XS HackersBook.com



1 o 2| HSE Ch32t 20| LIEK o, giZto] S0iZ L2 20iM &of XA
Eh FO{T HAFZ AEf510] 2A|2)

A New Type of Meat That Protects Livestock and Nature

15T Rl BEsHE N2E REel 2]

2 o] 22| diztof SoiZ U= JhE ME 22?2
(D makes raising livestock easier 7iz2 sgsie 212 o 27 gt
@ improves the treatment of farm animals 7}=of cist 522 Haisict
has a positive effect on the environment stzo) 2x=i0l @zt 7|70t
@ lowers the cost of producing meat 7|2 s g2 Wz

® is able to produce meat more quickly w7|= cf =7 maret 4 it

3 o] 29| h2 ARSI T, IFK| YOH FE MA|Q.

[y

(1) Hamburgers and sausages can be made with Clean Meat. T
et MK S8l 0ER 2SS0 4 ULt

(2) The taste of Clean Meat is similar to that of normal meat. T

22 0|E2| 9k2 ¢iErx{el 17|of ot H|XSICt

(3) A cow releases four times more greenhouse gas than a car. F
gt Of2|o| A7}t CHe| RHECH b O B2 247IAS WSS

4 0] 22| LHEO= HOL, L+ BIZof S0{Z LS (E7])0f|A FHot AA|Q.

removed  muscles  processed  reduced  nutrients
HlofLHEITE == JFSECt S0{7ITt gd=
Clean Meat Production Process

22l 0|E 4t oty

Muscle cells are (1) removed from an animal.
2= MEZI SSEHE (1) HOo{LHEICH

v

The cells receive (2) nutrients so that they develop into meat.

1 MEE D250 17|12 MFE 4 USE (2) PYSS Wt
\ 4
The meat is (3) processed for a variety of uses.
1 17| Ceket 822 (3) ZHREICE

EE) 1Meat Livestock 2@ 3MTQRTERF
4 (1) removed (2) nutrients (3) processed

ZH oi&
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(1) 2% ©0M 2zl DEE
THE|QF 2AIX] 22 Chefet AZE22
7FSECta SHC.

2) 2% O0IM M=ZojM ZHS0]

al

22| 0|EL BE 1Y|9F 22 g
EHCE SO

(3) 2% @0f|M 4| otz|el A7t 5t Ll
o| X}Q} L2 20| 2AITIAE HYEEH
Cho 4Ck.

® Asingle cell can create 10,000 kilograms of meat[, which looks and tastes just like regular meat].

- [ & «of 2 10,000 kilograms of meatE MAALZ 7HX|= HEH 289

BACHYAREO|CE

- Mook like + WAL= ~X{& HO|CF2h= 2|0|0|1, Maste like + WAL= ‘~X{& St0| LICF2t= 2|0|0|C},

of "look + HE AL, ~5tH| EO|Ct ¢f Mtaste + S&Aty: ~§F BHO| LILY, BHO| ~oFA| LICH

® In addition, it has a positive effect on the environment by reducing the number of animals [that are raised on farms].

= by + v-ing,= ~& 22 M, ~slAf2t= 2|0[2 oL Y S LIEHHTE 0 2E0i|A

- [ 1= &0l 2 Mt animalsE +4{5H= F4 2AYAFEOICE

@® What ZIEF2 TWhat + (@/an) + @EAF + HAF + 0| + SAHE ~= Ao} -
JLSF 7[QIZHEt: SAMSHCE Oftf meat”t Al o~ gli= HAIO|EE ag MX| QIQUCE

= ATt

22 BB

tret= ool 2, of 2&0AM = ‘T2 dokt Tl
= Mz What clean meat! 2 £
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UNIT 03

® Look at these two works of art / painted by two different artists. /

O] & 712l ol ZZFES £ot2f T go| thE dlz7tEof 2l 2z

® They both look like typical abstract paintings. / ® However, / one of the

JORS2 = O T FYEHHY 2ot SHx|at = & ol
O T Ho| CIZ of&7tSof ols 12 two has a very unusual story behind it. /
2l 0l £ 7Hol o THEE Hotet @ 1 T ROl ReloPIE AP A
HES = O} MYEO| ZASIHZ KOl ® In 1964, / several paintings by @ an artist named Pierre Brassau /
Ch @ 3HX[EL S = BiLt= 0j 0|3t 1964A0f  Pierre Brassaugt= 0|22| 0f&7Fe] o2 1glS0|
SI0|0p7|2 7Hx| 3 Qich were exhibited at an art show in Sweden. / ® There were works by other

) A2|elo| Gl & T A|5|0f FA|E|0] QIQIT M Al Ci2 oavtsel ZAHZ S0
@ 1964130], Pierre Brassauzl= o2 ] ol ST AIS|off HAIE|0] RAUCH dI7H|2] CtH2 oll&7HE2| 2EE0|

7te| of2f T2lo| Ag|cle| o ST A 0] artists from all over the world / as well, / but it was Brassau’s work /

oloir st SEX|2k H o] 2= 0|%JC
FAIEl0] %CE © B A CHE ol A : IR B Bressaue] ARSI
Jl=o| RZS st QIoiX|ot JbEL ot that attracted the most attention. / ® Critics praised ® his paintings /
_ JHRFOte Al 11 e HmEHIIES o] T2I=2 x|xISHL|
O @ H|ZIIES Zasth s MAsH A for being powerful yet delicate. / @ Everyone was curious / about who
o= 2245t MAM|EHZ 3| = 5H5H
O‘” EH%H 19| 1%!% 7é>|75_|'§ﬁ|:|' 0 E—I|:—7|' OELE‘”E I:I)\‘”L AOH I:HOH ET7}'8DOHME|. BraSSaU7|’
BrassauZ} S=70IX| 2Issin 1= & Brassau was / and couldn’t wait to meet © him in person. / ® But
ot X/ LT AlO| BT @ B[t CJoIxol sl J2|D 15 e X ohim Alo] FCt six|at
27|z, J= Af2to| OfL|} EITHK|ICH surprisingly, / he was not a person but a chimpanzee! / ® Pierre Brassau
_ - =2t = AMZHO| OfL|2f &I X|SHALC] i =
@ Pierre BrassauE sl_}, 7|X}'9_| 7c(>|.7£||'20| =o '”E Sl h:n | I' | I‘Et |/\A I' Pierre Brassau=
9UCH @ 11 7|KF= 0|2 H|TIFS0| RN was the creation of a journalist. / ® The journalist wanted to test / whether
- - - 5t 7|Xto| AEF20[IC T 7|XH= AEsiE T A
24 ol HET Y O XHES R s Al s
8 4 QI=X| A|BHE T AQICE @ 124 art critics could tell the difference / between true abstract art and fake
X, O 2x S280] ol 4amia| & O HIZ7HS0| PEE 4 YLK 2 24 Ol XHET 7P ol HF 2t
X7} 21t 2242 J4X| D =52 i) art. / @ So, @ he let / a four-year-old chimpanzee at a nearby zoo /
@ Eo"t'% 0 EE l—l_élol ’_é!r#_ﬂoﬂ —O—léH 1EHA-I d= Nél'EE §\ﬁ|:|' E'i'l %%%Oﬂ (A)/I\E 4)\E}»Y\I.EI 7.;!17-|_HX|7|-
OLSO{RICD MZbster ® 1742 2 play with a brush and some paint. /
= 2712 ==}
5_7—:0‘” %E ZdO“:I_ Aj|>§EIE7+X|—‘— =
® Which painting do you think was made / by ® the chimpanzee? /
gil2 o 22i0] BrSORtt W2ist=ot Zlex|of <fsh
® It’s the one on the left. /
2 F0f Uz Aot
D -
;2 ole
® There were works by other artists ~ as well, but it was Brassau’s work [that attracted the most attention].

- Titis ~ that ---, 2= 2L -5t 242 HtZ ~0|Cf'2H= 2|0|0|Ct 25t A2 22 it isef that AtO|of| 411 ZxE|= 2HS K26 Lt
0| 22 that F|oj| £2Ct 2= sh= cHabof| w2} that Ci&l who(m)/which/where/wheng £ == QIC}.
ex. | saw Jim. (L= JimE £iC}) - It was Jim that/who(m) | saw. (L7} 2tE AF2He HEZ JimO|UCt)
@ yet2 ‘J2M|T, JFX|F0l2t=E Q0|2 CHS6t Thofef Thof, 2ot 7, Hat Hg o1Zsks TYHAIO0|CE o] 20| HEA powerfult
delicateE 91435110 QIC}
©® Everyone was curious about [who Brassau was] and couldn’t wait to meet him in person.
= [ 1= TO|2AL + 0] + BALO| |22 02, abouto| BH0f 9{&HS 5k1 QL.

- fcan’t wait + to-v.,= FZ ~5t11 40] STt ~& AS 7|CH 4= giCheh= 2|02, HiZo|Lt 7|CHE LiEfL = ESI0|Ct

® ™ot A but B,= ‘A7} OfL|2} B2t o|0]o|ct o] 2xtoj| A= ‘ARZto| OfL|2} &ITHX 2} T sfA{aHCY

20 | ¥of HHS =0i=
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ZH oi&

1 ol 2o| FHIZ 7kg mEst 222

HHESITE
® a story of two different paintings by an artist st ojzvte| = so| c12 a2l 25t oo
= 7|XE 712|7| 10, LMK |= 25
2 0| 22| Y5 2 @~@ &, 7t2I7|= chito| LiMx| Yat Che 2482 2 @= IS =l LBTE B
g Z/HX|, = Pierre Brassaug 7}2|7!
0@ Q® ®© @ ®® o
3 0] 29| Hiztol| S0{Z U= JpEF MESH U2
®,E = E ;ﬁa * 5 3 Iz S0 21Xt ol HIEIHSO|
creation == target === pet ojgtss - =
XImF =AF Of|= RF=ZTF 7R % Xt
@ rival —_— @identity _—_ ,_1)(} To E)“E —|EJ—|' |' |'_O1|E =
22 TEHY & UK AREEY|
ol 5| x| 1T = =1y X3
4 o] 22| Lhgo= Ko}, Bzt (A), (B), (O SOIZ U= 7t HEs Re? Flofl, ZUXH 2 SAS IRl
=L =2 JHCtD SHCt w2tA Pierre
Some paintings drawn by a(n) (A) appeared at a(n) (B) R Brassau= 7|X}0|| 2|5} oH=S0{Z7l 7}
and they drew a lot of attention. But they were actually made to test W E7IlS o & 9looE HIZt|
(€) £ @ Fxhgo| 7hy HEsict
(A) ZEx|ol| oJaf T24xl HH 2150 (B) TAIS|0l LIty IAS2 Y2 2HHS BUCH
SHX|SH OS2 A (O) Ol HIHIIES AlRisi2 7| 2Ial SHSOo{RICh
(A) (B) (C) 4 T'__x'” 6HA—-|I DI-—T|—
@ artist e Z00 e other artists oja7t - 529 - o2 djl27ts
@ journalist - Z00 e art critics 7|zt S22 - oz HEIIS
® journalist - exhibition - other artists 7|xt - A3 - Ct2 ol 27lS
& chimpanzee - exhibition =~ - art critics #mx| - FA|5 - oz HIEIIS
® chimpanzee - exhibition - journalists zwix| - HAl5) - 7|7}5

EB 10 20 30 4@

@® The journalist wanted to test [whether art critics could tell the difference between true abstract art and fake art].
- Twant + to-v = ~5t11 AL}, ~517|E §IstCfete 2|0[0|Ct. wants SH0{2 toRYALE £LF.
- [ 1= to testo| S%{0] A& S Sh= YAEE, O|nf HAFE H&EAL whetheri= *~QIX| (OFX|Y2t11 S{ASHCH
® So, he let [a four-year-old chimpanzee at a nearby zoo] play with a brush and some paint.
- Met + FA0] + SAIHY,2 ~7} -5t & ottt} FLFEk= 2|0[0|C} of 2& oM & [17F X010l sHEEHCt
® Which painting [do you think] was made by the chimpanzee?
- Which painting was made by the chimpanzee= "2|2A} + Z01 + SAL,Q| ZHHO|220|Ct
- ZHE 9|22 (Which painting was made ~)0| Z&El o2 20| A4Zt0|L} £ZS LIEHLY
ZHEO| 222 o ZAIE 27 M 2Hol| £2CF O] 2X0IMAME 2| ZAHwhich)7t

= Do you think? + Which painting was made by the chimpanzee?
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specially qualified people can

Su3| XS 2E ARSDI0| 20K 4 9

participate in? / @ It is the Cybathlon, /
= 742 Cybathlon(AtO|BIE2)0|Ct

which means “cyborg Olympics.” /
O] 01242 MO|21 2SS 2ottt
® Every team in this competition / consists of one athlete and a group
ol thelol 2= He ot Yol M=ot ot RE|9| 2R JHEXIS2

of robot developers. / @ The athletes are called “pilots.” / ® They have
FIECt MeE2 TEAFEtD gRICH ase
physical disabilities, / so they wear and operate robotic parts / designed
MAFOHE D It D2 1SS 2R RESES H8stn IBICS

by the developers / to help them move. / ® During the competition, /

WEXESO| ofslf EAlE 250 SH0|=5 571 ?/5H tha Sof

pilots have to complete everyday tasks, / such as walking up the stairs
ZEMNES LYH AHSS et4olof BiTt Aete 2ol 227k= Ao|Lt

or hanging the laundry. / @ The team / whose pilot carries out the tasks
WS H= At E2 go| JZ4(E)e] ZZAPF I NISS 71 MExo=z
most successfully and quickly / wins. / ® The winning team receives two
EERB VRS TS ojZict  olz e = JHe| it et
medals: / one for the pilot / and one for the group of robot developers. /

ZEME RIE A 02| 2R Ut R2E fIE A

© The ultimate goal of the Cybathlon is to make robots / that move

AfojiEEel SSHel S2E 2RES M= Aot o g2 220l

[

more easily, weigh less, and have a longer battery life. / ® This unique
FAHZEE HA Lot o 2L EiEE] S T o] S&at thal=

competition will contribute to developing wearable robots / to assist
g+ A= 2RSS st Aol 7(ofg Ao|ct HOHE 71z

people with disabilities in their daily lives. /

Did you know [that there is an international sports event {that only specially qualified people can participate in}]?
APEO|CE Ofmf HAFE LAt that2 Makgh 4 QUCE

- { }= ol 2 H&At an international sports eventE Aot X2 TACHHAPHO|CE O|uf &2 A CHHA} that2 dekst7Lt

whichZ HtY £ £= QICt

® |t is the Cybathlon[, which means “cyborg Olympics.”]

- [ ]= Cybathlon2 M3ALZ 7HX|= 7|

A
® every(RE) Floll= BIEA| BT AKteam)7} L0} 5104, Tevery + CheBEAL = BH4 FF5I0 2, CHEZ AT consists of 7| A4 QiCt

£X Y| HACHYAIEO|Ct 07| “T2iH| O|Z(MO[BIEE)2 ~SHEb et siAfgtt

® They have physical disabilities, so they wear and operate robotic parts [designed by the developers to help them movel.

- [ = 0]l & robotic partsZ 4415

te ZHHEALFO|CE O|ul designed= “M7|E0|2t 1 sHAISHCE

= "help + SH0{ + SAHHH2 ~7t 5= 5 FLFet= 20[0|tt. =Thelp + 0] + to-v,

22 | ¥of M2 =0i=

rir
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1 ol 2l HZo= 7bat HHS A2? 1 AA FHOIE TR Mot 2R WXL
@ Cybathlon: Cyborgs vs. Humans rojsiz=: Afo]= of izt S0[ & B2 0|7 Ld= HHE
@ How Cyborgs Assist with Daily Tasks ito|= 1= of=| 2at=iol oty 2 S0t otast= AIO|HIZE Ci3|2 AVNS}
® An International Event for All Athletes == x452 9jat 2r1x st L 20|, H2oz 6 oz 2
@ Technology to Cure People with Disabilities == 71zl Alziss 2=2ste 7|2 SaEE EU a7} 7hRt MR

A Competition Helping to Overcome Disabilities ziojz 3=siz2 s&= o3|
. 2 @:7hz| 7|Ztof| chet eig2 giCh
2 0| 20f|A Cybathlon0]| sl AZE|X| k2 ZHE NEAIQR e E
. § ¥ ) ) O: 28 ©, 0= Sal LA HOoHE 7t
A7} oA 7% 717t 53) A )
@ Z7} o ‘H-J 1 ® 53 A X Mof 25 JHRXIS0| A7} ChAL
@ s =24 ®AETEX
olS of & oIr}
o= =2 T M .
. Ox} C = HHF L
3 ol 2o| vizio| Sof Uz Jhe M 22? ©: £% @0l Al 227, & &
L . 7| Z2 NI et4sliof st T
@ sports activities ~zx == @ volunteer services xgl2it 2= ot N = oixt A
. . e s e}
& wearable robots =gg = 9= 2x= @ medical devices o|z 717/ @ 28 @0M AHE 7HE d3H
® physical training programs % £z zzas S 27 A= ZEAIF QL
= g0l 0]ZITta Fet
4 Cybathlonoj| 25t 0] 22| LY} UX|5IX| = 742? ©: 2 O0|M AtolHiEES| Z=IE
i o . 21 2| =
@ Each pilot participates with a group of robot developers. SH7HH A 2o, 2A7HH
2t =EAE ot Felo| 2R JHURS Tt eH FIttct 7| Lp7b, of 71 HiE(2| &3S It
Pilots use robotic devices during the competition. =
e e P t 2R3 UE= 202l MOt
& People with a lot of knowledge about robots can become pilots.
ZR0|| cifsh B2 XAlS 71zl A}.%’%OI ES N MR=E ‘EA'E}.. . o 3 HI7} oto| Chato M MAT} 25 2
@ Athletes compete against each other doing daily activities. o - B
HASS Yyl §S SN MZ ZHBICE =2 A8t =Sttt 3, gizt
® A medal is awarded to the winning athlete and robot developers. OOj| A AJOJHiE RS 2HII AMSs &
HIE2 02 M52 2R IWLRSOIAH| =01/t _
2 282 U= A2t At ot
2tM BiZholl= @ AHE8Y = A= =
R=0] 7k HEsICt
4 Q2% 0, O Sl LIAFOHE 7t
7 RSB0l ZEAPHE 4 282
& 2= Lk
2 2% ©-00, 0= 2% 00,
@= 2% 00, 0= 2% 00 A=

ful
2
30 MO
u]

EB 106 20 30 40

® The team [whose pilot carries out the tasks most successfully and quickly] wins.
- [ = Qoll 2 H3A} The team +Alste 232 BACIHAPYOICH A8 EACHYAL whosels BAICHEARE otolq 2R o
SHH, AMEh AR, S22 25 H™-ALR 7HE 4 ULk

Wt
mjo

© The ultimate goal of the Cybathlon is to make robots [that move more easily, weigh less, and have a longer battery life].
— to make robots= ‘2R 52 PE= Z'0[2h= /0|2, toRHAIS] HAMH EH o= M0 ise| 0| AES o111 UL WA S| to2
YAz 2% HollM 304, H0f EE= =X0] gtg sict
- [ 1= 2ol 2 Ml robotsE A5h= 2 2ATHEAFEOICE Ofuf =24 2tACHE A} that2 which2 HHY & == QUCH
- S AlH| 53 A move, weigh, haveZt F&AF and 2 AZAE|0] ACE Ofuf M| 7HX| 0| &te] THo{7} LIFE|ISB 2 TA, B, and[or]
C.= LIEHSHCE

@® rcontribute to + (5)HAL= ~5h= Z10]| 7|04SICFEH= 2|0| 2, Ofuf to= MX|ALO|CE.
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pp.38~39

© In just one month, / more than 420,000 people / looked at a picture

th st 2 2ol 422 Fol "= AEEOo| QUE{SIO| A B AFEIS BT
HO A on the Internet. / @ It was just a picture of a house on a beach. / ® Then /
==Y OR2 X S0 = Tl ARKIOAC J™-CHH

© Tt SH e otof], 429 Ho| W Alzt why did such an ordinary photo / get so much attention? /
So| SIE{HI0LH 3 AITIS STt @ 1 o T2 Bist AbElo] oj B2 BAS WSt
2 x| siEo)| 1= Elo| AFEIO|QICH @ ® In 2003, / one website had a collection / of over 120,000 aerial
SEirel of Jai West AFRI0| TS 2003Eof| &F AALO|EO= 280] AU 122t 7} ool &S A9
ore FHAIS HiotSgl pictures. / ® They had been taken / to record the geological changes
@ 200340, 3 FAIO[Z )= 128t 2215 S WS 23| Lo sforilel XIMsHH ¥istE

7§ O|Ate| ANl B S0| QUQUCH @ 11 of the California coastline. / (B) @ One of the photos was Hollywood
HES Ma|mL|0} SoHHO| K| EIBHE t 7|Z317| st I AEIE B siths g2|RE Aofelel Barbra
312 7|12517| 8l ®aQUCH @ 1 A entertainer Barbra Streisand’s house. / (A) @ Streisand asked the
S Streisand(B=2t AE2f0lME)e] FoICH AEEjOIMES Ao 33t
AEZI0|MEQ| l0|QICH @ AEZIO|M photographer / to remove the picture from the website / because she
o om0l q14e] TS HI|= Wl 2 Abzlg HAOIEOIA Kigiztata a4t
Uo7 | WRof| AFRIZIOIAH| 1 AtEIS did not want the public to see her home. / (C) ® But the photographer
AOlEOI K22l QEsCt @ o Chz0l 2ol T2 2718 2lsR 27| wof SRIBE 2 AbRIHE
X|9k AFRIZH= 0f2] Xt2f| HAICHL © 2 repeatedly refused. / @ Eventually, / she filed a 50-million-dollar lawsuit
2 S AMES ZslE 2oz o ofe] xta| HECH = JlHE J0A 5 eRiRE] 252 M7 [RICH
7| 5ot cieimie] A4S H|7|3HCH @ against him / for invading her privacy. / ® This incident was on the
0] AFAS LA0| LISITH @ 2, 2tHot mIE SN =gy RIPASE O] AFZ12 7200 LIRECE
Bo| AZIS0| 11 AFXIO| sl E1 a7 news. / ® Soon, / millions of people heard about the picture / and looked

= R HO| AFZFS 0] 2 ARZIOf CHal S U a2|n a%s

® 0| A2 AERIOIME B0tz o it up on the Internet. /
2RI EI%CL ® 012 HEE 4718 B O
= AE7FLRAE Q3|7 1S M @ This phenomenon became known as the Streisand effect. / ® It

0] pig2 AE2IO|ME 12 Y X|H =AUt

refers to a situation / where an attempt to hide information / ironically
aR2 &= 7eRIc HEE 57/3= A7t LRA=

helps spread it instead. /

Q35 NS HELl= AE BE

[

® |4
Al

Then why did such an ordinary photo get so much attention?
- fsuch + a(n) + &AL+ BAb= A ~&F -, 1R ~&F - Eh= 20|0|C}. 017 | M= ‘2= S AFEI'0|2F 1 sHAISHCE

= — S

®

They had been taken to record the geological changes of the California coastline.

- SEEI7H AR AR MQICE 2PJE AlF= had ol ZHARAHP.p)7t REE, 27IE AIF|9| £+EE= Thad been + p.p.,7t
=

- torecord O|5H= “Z2|Z L|O} 5l RtA1 o] X| &It

il
e
o
]
sl

Fop7| flalf et Q0| 2, [EH]S LIEU= toREAS 2AY 8o = Mt
@ Tone of + B40AL = '~ & 5HLPEF= 9|0|0|CE Tone of + AL S Tk X Z6tO R, Flof TS AL was7t AL
® Streisand asked the photographer to remove the picture ~ because she did not want the public to see her home.
~ Task + 2H0{ + to-v,= ~0f7| & HS QEBICHRELSICI 2t ojojolct.
- Twant + 2801 + to-v,= ‘~7} ---5}17| 2 @lsiCfek= o|o|o|Ct

24 | Yof HHS =0i=
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ZH oi&

1 What was Streisand’s intention and its result? ~=zjo[s=o| o|zo} 1 Znj2 715 Xxst 2127

<Intention> o|= <Result> zat S| Eqf
@ to delete the picture - She won a lawsuit. M X|Qetain QXEICtD s, 2
AVEIZ ARlekE W 347} 2801 olzict _ oAl s
& 'to delete the picture Many people viewed the image. O-00IM 11 2FS HES AIEIZE
AR Aol 2 BrS ARZISO| 1 AMEIS O , ALS W[5 AFHO| = A
® to meet the photographer = She visited the website to see the image. Oll7A £25E H7 8 AFAO] z20f Lt
AEI7}E BiLp 7 L7} 7 ARIS 2] 9fs YALO|ES Hresich ot A= B2 AHEE0| JHe| & AL
@ to meet the photographer The photographer accepted her proposal. o 2t i X o= -
AZIHE BiLLE 2 7 AREIZHE U2 RetS wolESiC TIS RORRCHL T et B2t
® to keep reFord§ of her home -~ A picture of her home was uploaded. O|MEo| o|z o T2 FIE MEBH
o] Foil thsl 7| =3l F= A JuHof T AREIo] YR EERICE
A2 Q AXE AMAgh= A - B2

2 What is the best order for sentences (A)~(C)? 2% (A)~(0)2] £M2 715 Exst 2127

@ (A) - (C) - (B) & (B) - (A) - (C)
® ECB:)) - ((CB; - &; QOIS 2 8 WAOIE0] BBAE 20| U
9= B= CrD M2t Flof, 1 ARRIS 5 3Lt
N ) o 7t vt AEZto|ME=9| Zo|RACt
3 Write T if the statement is true or F if it is false. o] 2o/ L8} 2x[stel T, 72ix| 2O F2 MAl.
. . o = 82| (B), 2EZI0|METL CHE
(1) A collection of pictures was taken for an exhibition. F
Al 220| FAI5|E s WL OlA &S H0|10 41X 2Ot AFEIZHO||
(2) Streisand’s house was located on the California coastline. T A O ARIS XQEEtD ACH=
AEZIO[MES| F2 Za|zL|of sHRtMof| 2RI ARACE _
Lig2l (A), 5

(3) Streisand sued the photographer for invasion of her privacy. T

AselolME S AHYE R8I AZIZHE DA

4 Complete the sentence with the following words. cis = 2iare 22 za} 2312 efsiile.

. a 5 =3 SIE 2|l | &
privacy hide spread see attention 3 () AR 20| HASIE <lsh AR
e, &7Ict EECE, st} =y Ch= Zd0f oifst A=2 gict
. . : Ha|m 5
The Streisand effect occurs when the act of trying to hide (2) 2% @, @0l M Zz[ZL|o} st
information attracts even more attention from people. Mol X|HshH H3LE 7|15517| 2lsl
ms| ARIS & 5He HIEZ2f AEZ
AEZOIME St HBE £7(2{D =2ists HEO| AZUS2EE 252 O B2 BAIS T o wasict, Hel ATIS S stprbraer 252
O|MEQ| ZO|QUCtD FHesZ AE

EE) 1 20 30FQ@TQBT 4hide attention

© invading her privacy= ZXx|A} for(~22)2| 2X0{ AeS 5t= SHALLRO|CY,
® ook + =&0{ + up,2 ~Z A0t 2= 2|0[0|C. E&0{7 ARl AL lookZt up ALO[O]| 2LOF BEX|TH CHHALZL OH-l A2 look up
FlolE 2 4 QICt. ex. Look up the word in the dictionary. (AJFOf|A 11 £HO{Z &totelat)
@ T"become + HEAL= ~otA| E|CP2k= o|0]oICt. O] 2&0M = Flofl TARAE known as7t 40§ ~22[0[2t1] LEHX|A| E|{CrEt
shAfsiCt
® It refers to a situation [where an attempt to hide information ironically helps spread it instead].
- [ 1= 2ol 2 M3Af a situationS =A15t= BARAFEO|CE 2AR AR "HR|AL + ZACHEALZ HHFY £ == ACH
= It refers to a situation in which an attempt to hide information ironically helps spread it instead.
- to hide information2 HEE &7|2{='0|2H= Q|0| 2, toEHALS| HEAMH 2HOZ M0{ an attemptE £=Al5t1 QUCt
- Thelp + SAIRIH 2 ~si= 24 EChate 2Jno|ch =Thelp + to-v,
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UNIT 04

L

o 159 717t g ROiEo| ZEltt H MA A oA
HO A means / that about the same number of old phones / are discarded. /

pp.44~45

© Each year, / over 1.5 billion phones are sold / worldwide. / ® This

ojojstct Aol &2 £of QalE FUESO| HHZICE A2

® But unfortunately, / only 10 percent of these phones / get recycled. /

© 0, 159 77t = ROHZ0[ T A
o 40 SHX|2t 25| O] FUiES2| 10 HIERHO] MEEECE

Aol HEICh @ 0|2 Aol Z2
° ® Phones contain many precious metals, / including gold. / @ If

FHEM= M2 Bl 3450( 501 ALt =S ZE&ot0d 2te]

C}. @ st 2345], o] EriEo| 10
MERtO| RfEREIC,

[=]

they are recycled, / 400 grams of gold can be extracted / from one ton

sri=ole os maislol ye 7t Jx0| MEBHCH  40072e| Fo| FEE 49Ut 129 HSEHB 225
HI# 20| S0 QICH @ DHeF I7iS of them. / ® This is a great amount, / considering only five grams of
o MigEsictn 1=0| SrEmoza ozt ZgE golt 52el 39 Fa5ls 22 neftel
400729| 20| 2= £ 9t @ 2 gold are extracted / from the same weight of rocks. / @ Recycling phones
o] ofo 2| 52e| a0t & ze R yMozwEl SEEEREELE
Zg|= S D24siH 0|72 ZYaksh o also has ecological benefits. / ® When phones are discarded, / they
ot @ BHiES AEs Ziole & Z0ll &% 239| oje| irt Fohzol feix|a REEL
2 ©59| 0|2E 9/C} @ SCHEO| B usually end up in landfills / and contaminate the surrounding soil and
aiA|o w23 s OfRIK|E 71 25 23 sef| ofXI2 JpA EICt 20T Feie ot 22 A
o] = oM 22 =M 2El2 QY water / with toxic materials. /
AZIC sy gus=

© JaiA, TS ofeH| Qs By © So, / how can you recycle your old phones? / ® You can donate
=S RS £ Sk @ LAS 1 T2 G2 of g gilef @E RHiES ME' +ASMt g2 aES
742 XM CHjol| 7|28 & QIct @ 1 them to a charity organization. / ® That way, / the precious metals from
ajom omlEl BOEOIA LIS ZH| EERof 7158 4 2ict QgHos  owjE FTHZolM L2 Zui
M Z20| JEREE £ 9 1O Lole the old phones / can be recycled, / and the profits can be used / to help
c20| Lot AtEe 27| o5 Ml 3450 e 4+ 122ma492 M4t £80)
£ 9lct those who are in need. /

Lot AlRtSS 571 9i3

2 o
® This means [that about the same number of old phones are discarded].

]
= [ 1= meanso| 250{ 2t sH= BAFHOICL 0|0} BAF F4A thate A2ret 4 IC

()

including2 ‘~& Z8f510{'2t= 2|0[2] HX[ALOILY.

®

If they are recycled, 400 grams of gold can be extracted from one ton of them.
- ZSAFOlE SARE™E0| B2, ZSMIt U= +=SEl= TE2SAL + be p.p., 7t ELL
® This is a great amount, considering [(that) only five grams of gold are extracted from the same weight of rocks].
- considering2 ‘~2 125} 0|2t= o|0|Q| BAITE HFHOZ, F o] that&o|Lt YA 2L}
ex. Considering her age, my younger sister is very smart. (1142 L}0|E 12{5}H, Lj 052 0jR S=E35ICt)

® Recycling phonesis 20| Z0{ 932 st SHAITO|CE SBALTE T S22 5|0 E-SA has7t MQiCH

26 | ¥o MES =0iFE Ctst sty Xt MlS HackersBook.com



1 o] 22| W= #l This is a great amount2| 0| RS QLE|UZ MA|L.

(1E2| FCHZ0) M 400182| 30| & 4 3loLh

2 2712 Mol M= 50| ot FEEOZ

2 0| 20N A= 2 22?2

@ the number of phones abandoned yearly oy szix1= srj=o| 4

[as

13

(5 how metals are extracted from phones 20| oj@# srj=ozme 225=x|
@ the results of discarding phones =g vjz|= 20| Zuts

® how to recycle phones srizs yzgsis wy

@ the percentage of recycled phones zigz|= grjzo
|

3 ct

BO| E|=8 HIZHo] S0{Z &S S0M Aot 2A|2.

ojo

ZE0 o

i

Q. What are some positive effects that come from recycling old phones?
R2ME JFLHES MEBot= AORRE LI2E SFHe ZUs2 RAYR
A. (1) There are ecological benefits by preventing them
from contaminating environment.

J0S0| SHE QYAT|= AE AS22ZM &1 B52] 0[9]0] RCh

(2) You can help people in need with profits
from the precious metals.

I 3LOSRE| L2 40|02 80| WS MRS

o
H“
Mo
+
0
ful

(A=

4 Cr2 chste) wizto] S0iZ HO{S 2014 50t A2,

A:Iplan to donate some money to the children’s hospital.
Lt Ot HRloll =2 7|28 #2lo]of.

B: That’s a good idea. It will help many patients.

Z2 4zojof. a7 B2 SRS =20] & Aok

EE 1052 FoiZolM 40002| 30| FEE 4 UOLh) Z2 2AH|2| hMofME 529
U FEEEZ 2@ 3 (1) ecological benefits (2) in need, precious
4

donate

ZH oi&

FOHEM 2£0] oEH FEE
X|of| cHgt AZ2 Qi
£ Salf o 1599 7Y

ol
19
Job
o
i
o
I
v
ikal
mjo

oF A O]
=2 T M

neore
Ao
0
®
©r

=

@: ¢ O0lM HeXl= FiEe
Om{MERF HEEEICH JACt

@: 28 O0|M HHT FLhEO[ =

ol EoI 22 £4 232 Q4|
ZIcka #c

() 22 0-00|M FHE2 25

02
i)
omo Ix

2 5=

o 10 &y

=
2 =80 st Alss

UCH

T
o
OIII

ful

Ots Helah 2EE ApAo
gfel Aof7| B7} 22 B
oA ==0] & ZI0|2t CHERHCE

@® That way, the precious metals ~ can be recycled, and the profits can be used to help those [who are in need].

- ZSAFlOIlE SAIRR0| 2EZ, ZEATF U= +SE= TESAL + be p.p..7t ECE

- "be used + to-v = ~5}7| {|slf A0|C}, ~5h= H| AFZE|CF 2k 2|0|0|Ct.

of Tused to + SAIRIA: ~ol2 UL} ex. | used to play soccer every Sunday.
Tbe used to + (Z)HA},: ~0f 2==3ICt ex. | am used to living by myself. (L
- [ 1= 2ol = M3fAt thoseE Alst= T4 HACHHAFEO|CE 0|t those whoi= ~5H= At
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pp.46~47

©® Rembrandt, / one of history’s greatest artists, / died in 1669. /

HEREE At 7+ fltist olevtE & o Eel 1669EH0f| AU
O A Ad ® However, / a brand-new painting of his / was recently released. /
== oi4 SHx|a J9l Mz J0| E[ 20l S7HE|RACE
© AR 7R QI ol2TtE = 5t ® How could a dead painter create something new? /
sl Azt 166910] AT @ O F2 BT} 2Ot ML 2SBS0l 4 A2AS7t
stx|ot 19| 2L J2lo] &0 274 © Actually, / this painting was created / by artificial intelligence (AI)
Al 2| ot=o{ HAE 2|-d2] TZHMES
EI%iCh © O1EA F2 377} 2oi7} A e o s RseE s EmEE e
22 712 nhs0{d 4 QISR from the Next Rembrandt Project. / ® @ It analyzed all 346 paintings
x| 3 [=) =
© APAl O] TI2IS YAE BBEtE T S XI5 (ANo]| ofsH JR2 WEMETL O8I 346H2| HE
2RE0| olZX|S(AN0| 25l BHSO|H by Rembrandt / using 3D scans and facial recognition technology. /
O @ O3S 3D AT o1Z olA] |% JRSS EAMCH 3D AT 22 O] 7142 ARSI
2 At25t0] AlzatE | T2l 34680 B ® Based on that data, / ® it learned / how Rembrandt painted human
= T2 S @ 1 XIEE Higte dX=EHEeR DR S0t AMEZETO{EA Algfel d=2t
2 7S algtEs} 9| 2ABIOIAM faces and bodies / in his portraits. / @ Then, / (A) the researchers decided
o1 AfEte] dZnl B8 Taiax| 5 R e IELE YT as drHES UEN5E
&3Ct @ 1 5, ALRES A TR|SS to put the Al to the test. / ® They asked © it / to produce a portrait of a
NEEEY|2 25sC @ 1= 7 AR | = 23Ut 52 J0| QEHCE 30t Fdof =YSE MAE Ae
off Z2M 23} DXIE &t 300H LHA man in his thirties / wearing black clothes a_nd ablack hat. / © They didn’t
o ZAIBHE T 212 QAT © 1 AoM 21t oM DRLE HBstn Y ase a2z
S 17{0f CIZ ofist M AT F give @ it any other details. / ® When the portrait was completed, / it was
= 5 =5 AlstZ =X| otot XAFSIJ| QM Elo1S =
x| SEOITH @ EASITL ohMElolE T 1 T Ofmf3l M AP 7] QS 0 ZMBP} RIS of ase
7S 1 & 3D m2IE2 QUM QUCH @ thin pr_inted by a 3D printer. / @ The printer used 13 layers of paint /
EE|_|E'|E %!EE._I'EQ 1g9| é'?:,"% IIl_El_ 1$3D iEJE-IE O|_|iHE|91|:f liE|E‘|: 137k:ldgl §7EIF§ Al’%?\ﬁtr
517 Q5 1329 SUS AI2SICH @ = to imitate the texture of Rembrandt’s paintings. / @ Surprisingly, / the
SE. 1 AAISHS O}x| Auzte ol uzteo| D2jo| WAL wt 5f7| 93 see
, — Lo 2T O—C—

portrait looked / as though ® it had been done by Rembrandt / himself! /

O EMslE BICH  ORX| 2200| HEEEo] ofs) eHYHRIE LAY 220

D -
S22 ol
o

Rembrandt, one of history’s greatest artists, died in 1669.
- Rembrandt2} one of history’s greatest artists= Z0IE HZAEl 524 7|2, RembrandtZ| SJAHA 71EF QICHSH Of|&=71E & S HO|
2h= 2|0|0|Ct O EFOlME HAte 7He fIChst ol&71S 3 5t Wl MERtE RN siAftt,
- Fone of the + Z|AtE + E404A} = T1EF~5t - & SHLFEFH= 2|0|0|C} 0|} the CHAIO| ARZAS £ £~ QIC} 07| A= history’s7| ML}
=

AN
== 8l0f 0|5 ARZ 2= LEHACE

®

of his= Fof + ARTHHALC| 0|F5AFZ0|CH HAF 2F0f| a(n), this, some S0| X0|H ARAZ 8HA|
® It analyzed all 346 paintings by Rembrandt [using 3D scans and facial recognition technology].

- [ 1= ~S AE51012t= 2|0 2, [SA|SX]S LIEHL = 2AF20|C} = It analyzed all 346 paintings ~ while/as it used 3D scans ~.
® Based on that data, it learned [how Rembrandt painted human faces and bodies in his portraits].

> [1=Tol2AF + T0f + SALQ| 7HYQI220=  learned2| 2X0f kS 5111 ULt

e —

©® rdecide + to-v,= ‘~5}7|2 ZASICH ZAISICFEH= 2|0|0|Ct decide= 2X0{Z toEMALE 2Lt

28 | ¥of M2 =0i=
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1 0] 2o 2o 7I1& MAFH ZH2?

@ Artificial Intelligence: Then and Now olmx|S: ot x| 2

® Restoring Great Artists’ Masterpieces g|cst ojz7t59| Zxtg =eist|

@ Can Al Create Art Better Than Humans? olzx|so| ol7tsct ojas of & 253 2 glenp
® Rembrandt’s Hidden Painting Is Revealed zi=zi=o| 5747 azlo| cajiict

2 o] 20| UZ 2 @~® X, 71217 | CHALO| LIX| Lz} C}2 He?
D@ 2® ®0 Y6 e
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4 o] 22| LIS HOL, [t BIZof| S0{Z LS (E7])0IM S2t AN
analyzed printed portrait texture imitated
ErerT EERE =453 = afet $ict
The Next Rembrandt Project

UAE AUBtE TRME

AI (1) _analyzed all of Rembrandt’s artwork.

QISX|S0| fERES| 2= ol AFS (1) 2M3ICt

Al produced a (2) _ portrait  with the information it had collected.

QIBR|S0| +EME HE2 (2) ZAlSLE HHC
A 4
The work was (3) __printed  with 13 layers of paint.

1 AZS 1379 2202 (3) QIA=|ALCt

EE 10 26 30 4()analyzed (2) portrait (3) printed

OIZX|s0| WERES| 5128 &5
stof f=RtE 2olo] 12! Z4XE 0]
£ JrH2 Folsith AlellE A5k
20|22, =222 @ Q&EX|50|
HERES Mokt 7HE ME st
ct

©= QIZX|&0| Bte =HSE 712
7|3, LIHX] 2 2% Q13 X|sE 712
ZIch

2% @-@0 4 PS0| Aegte
9| 5l2& A5 QIS K|S0l ME A
gte FX| 22 M =HEIE I et
13T, O A IZX| 50| AeRt
E 20l0| 45t XA 2ol= =4
5+5 BFSO{RCtD BTt ThatA o1
E0| UFX|sE AMEHET|Z &t
SXMoZ 7t 7+ MHs|Ch

® They asked it to produce a portrait of a man in his thirties [(who was) wearing black clothes and a black hat].

- lask + FH0{ + to-v,= ~0|A & NS QESITHFESIT 2H= 2|ofo|ct

- []= ¢ofl 2 a mang Al5H= STHEAIRE, 0| wearing2 ~2 {83t QU="0|2t 1 siASHCE STHEAF 2H0l| F5=24 ZACHHAL +

bez At 7t Mefz|of QT
© rgive + ZIESE0] + AYZH0{ = ~Of|A| -2 FCFeks 2|0j0|Ct = Tgive + AHEE0] +to +

® Surprisingly, the portrait looked as though it had been done by Rembrandt himself!

- Tas thoughlif] + =01 + had p.p.;= ‘OHx| ~JE/YUE AxE0|2t= o|0|=, FE| AIMELt O AlFe

JVEIE W MOICH 07| M= FAFSIT} 2IBEHEO|| ool 2FAISHIC! ZARK2 HQICH= 0|F A|RQ| AFAl

O M A =

ZHE 01,

- MX|Al by ZX{0{(Rembrandt)E 27517 | |5 ZHCHHAL himself7t 410} ofwhe] T AHCHHAR= “22l0], Z1%'0[2t1 34450, 4
arst
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pp.48~49

® Even if you don’t know / what a “meme” is, / you have probably

H|E GLlo] BELID SHHEME ‘Yol FAUXE L2 oot SLE 25|

22 s ns o oo e o A oo

© H|Z THAl0] ‘90| 2oiolx| mEC} text / that is spread widely online for fun. / ® “Keep Calm and Carry On”
3 SICIEIE. o0} SIEI0IA B © AOIS 9lef 22felofAf Ha) Tixls Ftste SXIsH s Y Adsiers
o15| gt74st X2 912 Z40|Ct @ T x| is a well-known example of this. /
012 9lsh 2afelolM Ha| x| 20| oEE e
ol=o|7| 9l= o|O|X|o|ct. @ ‘EZtstS O It was originally a poster / produced in 1939, / just a few days before
oxsiT 51 U ALHrS 0749 Q32 el EABICE 1930410l MAHE 2%k A Ciol Q07| B oiEl
& orad %l of|Alo]C}, World War II. / ® British people were terrified / that a war would begin /

@ 27ie 2y 231 A CHEo| 97| YReISS 2ot 3ol AlEHE %8
20} 042 F 193940) HEHE TAEN at any minute. / ® So, / the government designed a poster / to ease the
L} @ QWZOISS Turol2tE MEO| Af EYC JeiM R = EAEE CIXRRIFIC tizel sotds
x| 742 =493t @ A, e public’s anxiety. / @ It had a crown on a red background / with the
CHECQ| 2QtL2 2tstst?| 2lsl ZAHE etatstr| /sl 1730l w7 HAH HIEfol| 2h2to] ARACH ESEStl
CIXIRISIC}, @ 710 RIztstS oX| saying “Keep Calm and Carry On.” / ® However, / it was never officially
S 5T oIS ALslarate 2ol & SRI5H H 28 Zasfetets 2ot e stx/gt J%2 8 ME BYFoR

E

released to the public. / ® Then, / in 2000, / a bookstore owner found
CHSO|A| S7H=| K] FRACH a% 20000 st ME F0l0| O ZAHE 2efE

TIHE|X| LQUCH @ 1 Z, 2000:20]|, B the poster in an old box / and hung it in his store. / (& ® Soon, / customers
A_I;g _;'c_ol_lol a ;l_ll;ﬁE'Ig EEEHEI gl‘IfOﬂ gxl'O“A-I HEF?_:‘éﬁcl' 1El—Tl— JZ:IE 19—' 7|’7‘“O‘” 7249)“:" _2_ él_cl'lé()'
M ST 274S 7ol ZRAC @ =, began showing an interest in the print. /) ® People made parodies of

OIME2 s =o|1=2 Pl 2t=9 1740o| 11 =2 ot=0f
Aniso| 1 olsj=ol tiiE| B0|= o] 2 9l chef £0I o17| AlZHCH ARS2 70| HICISS Bhsoict
7| A|EHSHC} @ AFRISS ZXI9} CXfOI it / by changing the words and design, / and it quickly became famous

= = = 4 o3l
S up a2ie] TICIE rso 1 =xtet CixfoIS BHRIA 22)3 oz ® AAReE weA |HsHct
He M NAMoZ w2H SwslxCt worldwide. / @ Eventually, / it became a meme! /
x| (=N} .
® obElL, 1282 2ol =eich e SAE R
D -

;2 ole
@ Even if you don’t know [what a “meme” is], you have probably come across one on the Internet.

- Even if= 2AFES 0|11 HEALE, HIE ~6tH2H 2h= 2|0|0]C
- [1= TO|2AL + F0{ + SALQ| ZHHO|2R22Z, don’t know?| 2X0{ &S 5t QUCt
- have come Sixligt& Alx|(have p.p.)&, 0| 2&0IM= 22| [ZR]S LIEIL0 "2st 20| QIS ZA0|Chatn st
- 2H"A one2 AOIM Qg El WAtet 242 SFC| 2EHs Ty 7I2[ZICh 0{7| M= <ol
£ 7t2|7ICt.  ex. | like movies. Can | recommend one? (Lt= A3lE Z0t5H. St FH5HF
of it, they/them: 20| ASZEl EXSH CHA
ex. | want to watch the movie The King. Can | watch it? (L= %3} <The King>0| 211 4/0{. 17 Bl E77}?)
® A meme is a popular image with text [that is spread widely online for fun].
- [ 1= 0l 2 a popular image with textE =Alsh= 24 ZAHHAPEOICE Ofl "5 ZEACHHA + beSAt= W2keh 4 QUL

30 | ¥of AlEg =0{FE CIefst 515 XIZ HS HackersBook.com



1 ol 2e| izt S0z 2= Jby Xt

@ to raise money =g mo7| 9|

2#e?

@ to encourage people to join the army sziso| 2of stz = z2is7| 95

& to ease the public’s anxiety

sl

S0 etstet| 28l

@ to spread national pride among citizens AlplS Atojo] Zol= x2S Tez(y| 98

® to announce its victory in the war zizio|so| s2|2 2e|7| 95

2 0| 2o| 3E0= Hof, LIS 270

| Soi7b7 1ol 7k Bxst Re?

Soon, customers began showing an interest in the print.
=, &=550| 1 20| this S0IE 20|7| AIRRIC
® ® & @ ®

3 0] 2o| U= 7l the postero 2+

-
et

(A) Why didn’t the government release it? === of 122 Zojstn| wr=sp

(B) What did it look like? 2712 of

(C) Why was it found in a bookstore? -
(D) What was written on it? 2zi0) 29i0| #0{ i%1=7p

@ (A), (B)
@ (B), (O)

4 o] Z2e| L}go= Hof, CI2 BiIZto| S0

war

meme

@ (A), (C)
& (B), (D)

A W=7

® (A), (D)

2 LS (710N 22t AR

government

stores parodies

PE]

[=1]
a3 o

=
e

Mg 2{C|E

The History of “Keep Calm and Carry On”

‘EEEtE fXI5H 5tE LS ALkl oA

=

In 1939 19390

In 2000 20000

It was a poster designed by the
British (1) __government
2 war |

AERACE

before a

Tzt (2) & FHofl @2 (1) Fof ols Cixtelsl &

It soon became a well-known
(3)___meme __after it was made

into several (4) _parodies

J742 02 (4) W2{C[S2 2HE0{Tl 20 2 & &

Tl (3) Yol =[RAct

EE) 1@ 2® 306 4(1)government (2) war (3) meme (4) parodies

O |t was originally a poster [produced in 1939], just a few days before World War II.
- [ 1= %0l 2 a posterg #=A|5t= 1HFA*O0ICE. 0| produced:= “HMIZHE0|2t 1 S A{SHCL,

® to ease 0|5}= ‘T=o| 2ozt

© begin2 2X0{2 SHAIR} toETAL B2
ex. Jones began to show an interest in collecting artwork. (Jones= 0|

= 235t7| flstiets 20|2, [SA]S LIEHLE= toRFAS| FA}

C A A O

A Kb A
E&P%TXI

ZH oi&

g7t 2ol P=elS0| FHol2te
THo| AlZHE s Fe{ctn 3
o, 217F Sl 1 ZAEof| ‘ElEke
2 RXlstn st YS AlLstiebet=
B JACtD oo 2, diZtol=
O thEel sctzg 2tststy| sl
7b 71Ek MG

ZAEO=
EEKELEY
A
M
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® People made parodies of it by changing the words and design, and it quickly became famous worldwide.
- by + v-ing = ~el{M, ~t QM 'Bh= Q0|2 ~EHo|LE S LIEFHCE
- "become + @ &A= ~aiiX|C}, ~otA| E|CFEk= 2|0]o|Ch

UNIT04 | 31



UNIT 04

4

©® While on vacation, / my wife and I were having a lovely outdoor
77F Sl LH OfLHet Li= ZALSH OF2| OFF AIALS SEa UUTE

breakfast / at a hotel near the beach. / ® The beach was full of tourists. /

(M
HO
%
2

i 25 SEoIM SiH2 BAUSE 7= Xt AT

© S} S0t0|, LY OfLHS} Li= 3 2 ® Suddenly, / a waiter pointed to the sea. / @ The water was pulling back
2 SEO|A DAl 012| OFE] ALAME 3 >xp| 3 Zei9lo] BICIS Jleizict 20| o2 w27 12 wx D Uct
T 99iCt @ s AYH=Z 7= 2} very fast. / @ The fascinating sight drove many tourists / to take pictures
QI%ICT @ 2K 3t Zoielo] HICIE 7} ol ohzizel e Be Eas0 ~shi Yt Q50| frjzez
2|7iCt @ 20| 0§ 27| 5|2 x| 2 and videos with their phones. / ® But not my wife. / @ She held my
oloiCt @ O DH2ix{ol TS ore BTt Afzlnt SEd= HA StX|2t L OfLi= OfLRACE J= W &S
ME0| BLHZEO 2 AFITF EQALS W 7| hand / and shouted urgently. / ® “Run!” / ® We ran toward a high hill. /
SiCH @ SHK|2F LY OFLH= OfLIiCH @ oot 22|30 Crgshl A2|HTt Hol RPE|E 2 AHS ol LU
JlE L) &S & ohash A2lECH ® Soon after, / a giant wave crashed into the shore, / destroying everything
0 “=0]Qr @ 92|= =2 AATiS 35| Z0[0f 7Cifst Zt 7t setof fERCH Jde{3 LM O =0l A= BE AE
SHZICH @ 20|01, ZCHst THE 7} et in its path. / @ We had nearly been swept away / by a monster tsunami! /
Ol EISIX| T LIA, O Z20)| 9l R [ Rict REE 7ol =T It Z{CHEH 2L taof| of3H
S THRICE @ Q2= Ahat ALtojof ® When we returned to the hotel, / we saw many people badly injured. /
o|3ll 7{o| B2 taHCH 27t 22z SorRte 2= U2 ARIS0| Yot Tl AE EHRACH

® 2= SORtE U, R2|= W2 M ® I asked my wife / how she knew / that a tsunami was coming. / @ She
2r=0| Alsl| CHEl 7S woch @ Lt LH= L OFLHOIA| SRATH TUA7F OfEH| RAER XLtD|7F & Aol2ts A mIES
L OFLHO||A| Of= | ALt0|7t 2 Ziol2} explained / that tsunamis are enormous waves / created by earthquakes
L 712 otorx| 2oiCt @ = ML} 23Ut MLEO[7} et oteS0[2tn BiSES X[ Tlof 2lst 2HS0{z
0|7} HisH X|Rlo|| o|8h ar=0{El ALy under the sea. / ® The seawater pulls back very quickly / before a
st DizalD AEICL @ MLio[} 2o B2 Of Wha 52 Wit sLfol7}

5 04 W2 S2 bt tsunami occurs, / and the larger the tsunami is, / the faster the sea moves

oLt | Tof| J2|30 MLt 245 BItE2 O 27 FI2 SZIeICH

backwards. / ® That’s how she knew / that something wasn’t right. /

24 5 L OloH o A2 | HE
oF 227} Za7IX| okotCtH 2| X| ® If we hadn’t fled, / we might not be alive now. /

o
2 Aol 9IX| 2t A% ict Blof 9317} EavIX| QYT 93l= X3 Aot UK %S & Ut
[=Tar—1 AN L= T AN .

[

° |4
Al

While (my wife and | were) on vacation, my wife and | were having a lovely outdoor breakfast at a hotel near the beach.

~ RAPHe| F0{7} FHe| 019t 22 0, 70| + beSAL MatE 4 Qlct,

~ "TbeSAte| IHAHY + v-ingu= AT MM Z, ~512 AUCE, ~5hi= SOIULY2t1 siAEIT SAthavert HLtet=s o= M = T
HHOZ & 4 ULt ¢of have(ZIX|Ch): ZIHS 715 ex. | have a small boat. (-t 22 H{E 7HX| 11 QICt)

®

rdrive + 2X0] + to-v,= ~7} ---5}A| SiCF2t= 2|0|0|C}.
©® Soon after, a giant wave crashed into the shore, [destroying everything in its path].
- [1= 321 LM 3219] =20 /= 2= AS nhaSictel= 2|2, [A4SA]S LEU = A =0(C
=T™£&AL+ 30| + AL ex. ~ a giant wave crashed into the shore, and it destroyed everything in its path.
@® We had nearly been swept away by a monster tsunami!
— SEE7L IR AR R MOICH AR AlRIE had 0| THHEAHP.p)7t QO 2, 2HAR AH|2| £SEl=had been + p.p..7t EICt

32 | ¥of HHS =0i=

rir

Cikst st& A2 MlE HackersBook.com



ZH oi&

What is the best title for the passage? o| 22| xj=o= 7}z mxst 2122 1 MLtOle] A SAS LOLRIE! OfLY
@ Enjoying the Beauty of Nature xieic| o=t 57/7| CIE0| MLIO|0|A AfOJt2 HEO|
@ What to Do during an Earthquake xz1 ot siof 5t 2 USHE AJlste 20|B 2, ME22
® Tips for Staying Safe While Traveling osstist= sor ot x|u47| 2j5t =915 @ ‘ALOjof| A Afopete AE 0| 7t
The Experience of Surviving a Tsunami xciojoy 2ojee #e X &SI}
® The Difference between Earthquakes and Tsunamis x|zia} #Lto|o| zto| &
2 =0l F7t S0 OfLiet st =2
How did the writer’s mood change? =#o|e| Az oj=7| Hai=7l? _E _ B o_ - -
; hopeful — d d X SEO| M ZAFSH OFF! AIALE 5t
curious — sad zzst- 2= opeful — disappointed s/ztof 2t - ztst _
v d Zhop PP o S92 200/C T2} Hokst Lt
® bored — excited xzat- Alo| 1t @pleasant — scared =742 - 242 SpveT g Dol DAjele
. ojo| &l& SHY| 2 ”Ue
® worried — embarrassed zxg~zie - csireie ol E=2 B th2oll RARS
Z0[Ct m2tM S¢20[e| &l HEt2
N . . . . ‘= o oo Xt MES
How could the writer’s wife predict the tsunami? Write the answer in Korean. @ EHE -~ FME0| 7ty HEst
240|9| OLHL OfEH ALIDIS OAIE 4 QAT QB|LR MAQ. Ct.

BISIE0| 02 W=7 72 WA =[E%/0/=] A5 2

Which is NOT true about the writer’s experience? =o|o| Zalof ztaf Ux|stx| b= Zie?
@ He had breakfast with his wife near the beach.

= Sl 20l Af OfLiRF 817l OF AJALS BiCH

& His wife took some pictures of a large wave in the sea. Cha sfct

19| OfLfl= HICH| AHrish ot ARRIS 2 & U

=P oto ppaHe

® He and his wife ran to a hill holding hands. 4 Q=¥ O-00M H= 2EHS0l

Jof Oftl= £2 &2 A A2 {0 20| iR H2H| 5§ 2 WX|= ZHS

. ARl =QAto 2 HOAX| gt 19| of

@ He saw that a wave had destroyed everything. cee—— M

1S et RE S THIfsHs 242 T Lh= OfL| Tt BiCh
© He had a talk with his wife after th dto the hotel o2 2% 00, G2 2% 0-00i,

e had a talk with his wife after they returned to the hotel.
S0 S012 50 = OfLHR: CHStE FC, Y @ 200, 0= 28 @00 A
==(0] UL

- nearly= 7{2'2t= 2|0|2] BALZ, Mnearly + SAt = 72| ~&h tH3ICF2t D SHASICE  of near: 717t [EEAH / 71710] [FAH
| asked my wife [how she knew {that a tsunami was coming}].
- Task + ZFYS 0] + ZYSE0],= ~0j7i| --& 2Crats olnjolct 07| ME ZHHel2 R [17h HE=Ho| AEs

= = b RACE.
= {}= knew?| SH0{ qet= 5t= BAFEOICE Ol PARE T HAf that2 d2Fet 4 QICt

ol

The seawater pulls back very quickly ~, and the larger the tsunami is, the faster the sea moves backwards.
~rthe + H|@ ~, the + 8| @3 -2 ~842 ¢ -sicrats ojojolct,
If we hadn’t fled, we might not be alive now.
- TIf + 01 + had p.p. ~, &0{ + might/would/could/should + SAtH -2 = 7t
Blc'2h= 2|0]o|Ct 28 72 Bt Atalnt BTHE|= 0| SX7HA| dekg 0|X|=
2 SIXiE LIEILH= now, today, this time S0| &4 AQIC}

-

2, FHoF (Aol ~HCHd (K1) &
28 ol FHo= =
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UNIT 05

© Is there an issue / that you’d like to change? / ® One person’s voice
M7t A=t g0 BT A2 ot Afghel =a2l=

may not be enough / to influence a government or a society, / but online

(M
HO
=t

x

= ST = 4 ULt HELE AR of H&kS =70 SEX|2E 22t
© THAIS HIT Al2 2|7 9l=T) petitions can be. / ® By sharing an issue with people / and collecting
el H(Z=EHSH A o) =T B2 Do =of
9 gl_lf'_L.}' A}'ilo‘” Oé)‘@% —7|(—7|0‘” %._l' }‘EE,II_ Y2 JHEGEEY) = UL AIRNED 2XHE SR Jejn 389
o] BAE|L EHEIX| %S £ 9X[ot 2 their signatures, / you can turn your ideas into action. / @ In the UK., /
Blol Hele ZEE A o/ @ AlZS MES ZOpA il Glo] Mzths s o2 v o ATt G0 M=
I 2x2 2estn JSe| Mme Dot all of the people printed on money / were men, / except for Queen
Sl = = F =l |
M, TAlo] AjZtS SEo= R A 9| stmol] QI2HEl 2= ARRISO ERIACH 2[RI A 24|
Ch @ Q20| Ms, A2|XHA 24| 01 Elizabeth II. / ® One woman wanted to change this, / so she started
. ojge melstns 5t 0142 0|2d2 B M| 2 2=
S Helstnl, sHHof ol DS AR 1S Hlelstl 12 O|AS v &RACtH M 24
S0| UXIQICH @ 3 0JA2 0|71S HiTL an online petition. / ® Soon, / over 35,000 people signed it. / @ As a
2710 M2 A|&FsH a2 x| O H A2t 3 045H
T AT deiM aEE 2atol HYS =2tel HYUS AERICE = 32 53 Ho| H= ARRHS0] 210 MEICt
AIZHHCH @ 2, 30t 5 T0| Wi Afat result, / the Bank of England decided to print the face of Jane Austen, /
™Mo o 252 x|o] Q AE|O| AHAZ2 O|A|S ZAX5H
% | 13‘\'0‘” A‘l%‘?ﬂﬂ'eﬁﬂl’&!gi,% EI’-l’ﬂ—E = LOLX1‘L gfn;l—l d== ¢l Hc’l'7|E EOMEl'
= 282 A CHIS CiAIsH0d, Xel @ on the ten-pound bill, / replacing Charles Darwin. /
==y yI: AtA CHRIS CAIS
Atlo] ¢i2g 10m2E X/l 2lst o A s R e
7|2 ZAXSHC} ® Governments around the world, / including Korea, / offer
_ . A7 RRe| s 822 ZgHsto
® 828 E&sio], M7 2Rl B sy R
L ADIS0| AE™Moz IS0 oHS petition websites / where citizens can directly express their opinions. /
o B _ 2| AAO|EE K| 2SI A|BISO0| ™Moz T£09| 9|48 T3S & OIE
E35 & ol Mol UAO|ES H|2st Y YAOIEE MBIt AZIS0| 2FH oz O59| g HAE - A
C}. @ H|Z XEXIS0| BE o|740| Tt © Although leaders may not be able to reply / to every opinion, / petitions
=2 =0| CH5lX| B8t A O] = o|o
X| 28t A% oIX|OF YIS ZHIIE An HIS X|=XFS0] Bt 2E 4= AR 2E oA Y2
ol =Q5F 2R Sof BAIS To{UC} drav:r attentioFrAllto Jilm%ortant issues / t}:atE k) ‘t7e overlooked. / ® As more
ol 2ot 5235t 2xIS0| BHaS BojHc el = o %2
@ E_I E‘%S Al‘%l'%O| 78'-?_-]0“ EF():‘?:I'_O“ [[I‘ F2%t ZHS0| 2 E B0 f oHE QL | B
2t O L2 At2lE flst HetE 2od|= people participate in a petition, / it becomes easier / to inspire change for
AM2HS0| H2lof| zHoqato)| 2 o $|YFIC| Ol LIS ALSIE I8t HEHE
20| & 4(2lzIc}, tehS0l ol Fofeof w2t A HRIEICH 4 L2 AF3|E 918 H3lE
a better society. /
o7 A0
D -
;2 ole
@ Is there an issue [that you’d like to change]?
- [ 1= 0l 2 AL anissueE 4l6t= S5 ZACHEAPZOICE. Ofi SX 2 ACHY A that2 MEf5tALE whichZ BHY £ 4= ATt
- f'would like + to-v,= ‘~5}11 AlCkat= o|ojo]ct,
® One ~ voice may not be enough to influence a government or a society, but online petitions can be (enough ~ a society).

- to influence 0|5h= HRLE AFE|0f B2 F7(|0(2t= 20| 2, toR AR AN 8Y o= 40 #EAL enoughS =45t Q{CtH
- can be F|0f|= enough to influence a government or a society”7| M2Fz|0{ QICt BHEE|= 22 MEFst=E AL 7F RCE
® Governments around the world, including Korea, offer petition websites [where citizens can directly express their opinions].
- including2 '~ Z&t5t0{2t= 2|0|e| MX|ALO|CE.
- [ 1= ol 2 MEfA} petition websitesE AI5H= LARAIER, MlATE FA0|H A LA whereS £201 A EAH=S THXAL + 2t
ACHHEALLZ HHY £ %= QUC} = petition websites in which citizens can directly express their opinions

34 | Yo MES =0{FE Ctst sty X2 MlS HackersBook.com
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1 ol 22| x|z 71& MEs 2#2? 1 22 FU2 Soll AEH 2HE ol
O A4 the gAS 253t HE7t a3t Aot el BoU O L2 AIBIE
@ AR+ Higt G2 ANE9] gHE Eofof gt Qe HeE Yoz 4 QI HHG|
& eatel BRe 2 AL8) WS o] T 4 A} = 30|02, 9X|2 ®0| 715 N
@ FEEs 281 LS Y] S8 34 A A7 B asi sict
© 27 Y A=7t Y= AR S FFAQ Foj7h =T
oo e
2 ol 2| uizhl SoiZ L= JFE MM %22 2 ?g:i,;ﬂlﬂ;;ﬁ;i;ﬁi
@ make a place famous st 242 gaisp oisct AbSJOl| QBtS = 2 9lctm oo
@ create an online website ezjol ¢ajo|E= ot=c} =T -
® easily socialize with them 253t 27 oj22|ct =, 2otel gES S 2t 2A
turn your ideas into action ghilo| 47t siso= iyt S JH2 dehhd = s s »FE
® learn the causes of social issues Afs|x 27| 2lolg v} 2 QUCE M2k giZHole @ 2o
M2tE HSO 2 BHCE 7L 71E HE
3 HUS Ssll A= su| & 2AS0| oY HAMER| Q2 UR MAR. STt
(1) g A: A2|XHA 24| OfZE H|2lotn 25 HXIICE
(2) B9 3 (10ZHRE X|mof ZA CHRl CHAD) HQl QAEIS| HZ0| QIME|RICE 3 (1) 2% O0j|A L2|XH|A 24| 012t
= H2lstil= F=of shm|of QI
4 o] 29| LH83 JHY & of22|= SH2? DE ARSO0| FXIACT FHCE
@ Look before you leap. =7 Hoj amsiz). (SCi2|s sc2i= 1 71Uzt (2) 28 00lM F)lo| 21tz d=
@ Bad news travels quickly. vp 242 wa mzict 2&0f|M 10I2 = X|mof ZA CHl
® The early bird catches the worm. 2= 2lojiti= a7t ey 2 zhect, CHAl ®|O] QAEIO] U=S olf517|
@ A little knowledge is a dangerous thing. = xjxle g|asict (42eto| Azt ZHeCt) = ZxsiC)D siC)
& Little drops of water make the mighty ocean.
E2 SYE2E0| 20§ st HICHS BHECE (EIE 0L EfLH
4 SHARRS Z242[= SRS Y2 &
U E, S Sall 21 013 Atgt
9 Sadls O U2 AFE B
7| I3t HElE oA £ QCh= L
82| 20|28, £HOE @ A2 &
HES0| 20 AHosH HICHE BHECH
(EIZ 2ot EfLhy7F 7HY & o2l

[l
e

EE 10 2@ 31 22/X|A 24 oi22 H2lstn D& HARQICE (2) (10T2E A|m|
o] ZrA CHRI CHAD H|QI @QAEIC] FZ0| QUE(ACEL 4O

© Although leaders may not be able to reply ~, petitions draw attention to important issues [that may be overlooked].
- Although= RAFES 0|11= HEALE, HIE[EFX]] ~0|X|2 ~StH2t 2k= 2|0]0|Ch
- ZEAs 8 Hoj| atLiet MO 2 ZE A may Flof|M can Cial be able to(~& 4 UCH7F AL

- [ 1= 2ol 2 MA} important issuesE 4=~lot= =2 ZHACHEAFEO|CE

- ZSAFOlE SAIRRYO| B2, ZSAIILUE +SEI= TE2SAL + be p.p..7t ECE

©® As more people participate in a petition, it becomes easier to inspire change for a better society.
- it2 7}3=0{0] 1, to inspire 0|5}7} TIZ=0{0|C}. Ol 7}=0q it M2 S{A454K| Y=L},
- become + HEA} =~ X|C}, ~51A| E|CFEH= 2|0|0|Ct 07| A= &2 Ale| H|WZ easier?} AL}
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pp.58~59

©® You've probably seen chicken breasts or slices of beef / at the

Y42 ofof 5 7HSE0|L 27| R2tES 2 0| S Ao|ct

supermarket. / @ They are both pieces of meat, / but one is white and the

- TrIHOEI0A ARE2 = L 7| =2S0|H SHX|2F ShLh= 21M0|1 LI K| Stt=
© THAI2 ofo} 2mOPH0|A Sf 742 other is red. / ® What makes them different? /
2o M [=Fe}] HES =
SOILF A17] X248 & 0| 2l 20| s 2440]ck 2ot0| IS C2A BHSt
Ch @ £ Cf 17| X=ZH0|X|ot &Lt= 3 ® The reason red meat is red / is not because of blood, / as many
_ g2 1yt gL olgs o] 20| ofL|C ore ARZIS0
MO LIA| it EeMolt @ = 2 177} 22 09 s | o] ofLict 42 RS0
ol0| IS S Ct2A s people think. / ® It’s actually caused by myoglobin, / which is a reddish-
HZI5H= % 24 O ARAd = S| = = ol
® =S 1Pl Be ojek Bre A YASIE XY S A DI232UIOR ole FolCt B 0112 2801 9l
=0| Mzbste 74X, 1| Tj=20| ofL|Ck colored protein in muscles. / ® Myoglobin stores and distributes oxygen
= 5 o =2 =| o HyIE
@ 1712 AJA Dje2zuloz olst A EIAEEH MZo| thEo|Ct D|R= 22 MAE Mot 2K0i| ZHIEHT
ol 0|7 2o Qe 2aAZSH M to muscles / when they need it. /
= o o gl =
o] CHEEIO}. @ 0]QIZHIS AbA ARSEK)0| DA (LS 2= e
2 xzbslT 20| AAS Lo & oj ® Some animals have lots of myoglobin in their muscles / and others
o=o = = o oo
(HAE) 20| SHIBHC ol SBE2 ISe| 280 B 0|2 EW0| c o2l e s882
@ oH S2E2 20| 22 0|92 have less. / ® It depends on / how long and how much they move. /
2810 91 Cl2 E2=2 O ®A| 9C} o HA ACH O ~of A0t oLt @24 12|70 Hapt B I2S0| 2{0/=4
® 172 J7iS0| YotLt 8 a2l © Cows usually spend long periods of time / standing or walking. /
ASS HE 71 A7HS HHC M QAL A= &
A0kt o] 20JX|o| aiglch @ SE s e s
AL HE M QAL Al o 71 A7t ©® This continuous activity requires them / to use all of their body
3| 2™M0o| Bt 1HERZ o2 ~st A2 915 =0 Al =2
HLHCH @ O|2{3t X|& ™ol SH=2 1174 Ol2{gt XMl 52 JANSE 5toia ~& AS st IS ZE M 228
=2 510{2 DE AF| 222 AlgSH 7 muscles. / @ Therefore, / their muscles contain more myoglobin. / @ This
St HS HEo| 1L oo =24 =0 ol H S
< Qasict @ DAy, azis0| as ASEHE  meby Q%S0 289 of B2 0je3240| S0] Tt ojzte
o g2 0je=z=28l0| 50{ Qlch @ oA makes beef look very red. / (d) (® Pork is pink when raw / but turns
S AT} OIS WA HO|E2 o= 247(7} 0i 2 WL HO|== ghECE HX|7|E S0 o 2&A0lct  Sxat
O} (® S| 07 |= 224 o 2540|X| white when cooked. /) @ In contrast, / chickens don’t move around as
_ _ Z2|E|0d Sl O 2 Hi5H 0] Bt CHS2 0r2 S0}CHL| K| QH=C]
of 2|5 SlA{o 2 BisCH) @ 0] Bt |=[H 2oz f off gkt SE O X| =ttt
5, cHe J0k2 SOICH|X| =Lt ® 1 much. / ® They only occasionally run or jump. / ® As a result, / the
_ O7A=ES Ml cia| L |7 |at s 1 7
HSE Tk LepiLt et sick @ ARSI R s L
1 Z3} O7S0| Cha| AL ok7t 25 M meat from their legs is slightly pink, / but everywhere else, / including
. aZiS0| Cle|oj|M LR T 7|= ok7t 23 Mol SHX|HCIE QE gl =hH Q]
O[X[ak Lolol FlAArS TatsH ClE @ JES| CllolM LR 1ol ozt oIt siXItCIE RE B ot
= o= slMo|ct the wings and breast, / is white. /
JhsAte Z3sto] glMo|ct
D -
;2 ole
® ‘'ve(=have) seen2 FHxfietz AlH|(have p.p.)Z, O] ZFOIIME 2| [ZRi]S LIEHHCE
® They are both pieces of meat, but one is white and the other is red.
~ & & SfLi= one2 &, 1 2| LIHX| SLt= the otherZ Liw0f Epigh = ULt 017|ME 2 2E0IM g8t 217[9F & TH52| & 7t
X| 17| &2t = 5IRFMQI StLHone)2t F2M0Q1 LI X| StLt(the other)Z L=0{ MHIUCE  ¢f another: & CHE SiLt
® The reason [(why) red meat is red] is not because of blood, as many people think.
- [ 1= 20l 2 MEHAF The reasonS AIGH= BARAEE, BARAF whyZ| H2FE|0] QICE AR ALS] MEALT} the reason, the place,
the timelt 0] O|R, &4, AlIZhS LIEHLE LEPHQl HALR!I Z MABAILL 2AIFAL & SHLHE d2fet & QAT
~asE ~XM3, ~5K0'2tE Q0|2, RAPES 0|11 YEHALZ 240 F0f T30 + SALC| EO| ATt
® It's actually caused by myoglobin[, which is a reddish-colored protein in muscles].

- [ 1= 2ol & myoglobing M3

36 | ¥of M2 =0i=

rir
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1 o 22| FH|= 75 XEEt U2? 1 AT7|9F5tny|o| A0l L2 0|
@ how the color of meat affects its taste 7|o| 4iz0| o] 27i0| Stof Slars =% 7} 0|2 28! IjR0[2t=s s MY
@ different roles of myoglobin in muscles zgoj 9= njezz¢lo| Clofst oas 3l= 20|22, =2 G ‘Bojo| 1

® animals that have different blood colors ciz zoy szs x =22 7|7} CH2 MZS ZHE 2 otE =X 7}
@ why myoglobin is important for animals oje=2zti0| o E20|7 Z25H| IV MEsiC)

what causes meat to have different colors scio] 177} cj2 Mze 2z = slesx|

2 0] 22| ()~(e) &, MA| S0t gl 2H2?

7| AZ Xt0|E H|ush= LHE o,
@ (a) @ (b) ® () & (d) ® (e) E| 77| U2l nf SEA0|x|aH
ZE|EH slMoz WAL Et= LB
5 21 Ax|5 x| of =
3 D|S2yloj| 250 20| LYt YXISHH T, IHX| YOH FE MA|Q. o| (d)= | =1 TAeiCH
(1) It is a protein that stores or carries oxygen to muscles. T
A2 MHAE ML 2]0| 2= HHEO|Ct oxt 01250 oIC
_I_x -

(2) Its color varies in different animals. F 3 () 2% 0-60 As5=0f /L.

J2i9| Mzte SB| w2t c2ct 2) 28 00M Djz282 22

(3) Chickens have more of it in their wings than in their legs. F
52 Ch2| oECH E7H Qfoll 2248 Of B40| ZkX| 2 QlCh

A AMZoRID L, ZE @AM

4 CIS thste| HIZH]| S0{Z SO S0l|A S0} MAR.

A: Tom, your continuous loud music has been bothering me all day.

Could you turn it down?
Tom, Ul X[&HQI Al112{2 S240| LIE 23 Y 1F5|1 A0, 22| & E0i=2H?

i A =

O 2S5 A Lt AALS

B: Oh, sorry. I thought everyone was out today. H2 2EMOIX|D, ZIhet Vtsde

2, nlot £t &5 B 2iZ8t B Y0 s140[a} BT kA SlAol ol

27H0l= 28Mel Ci2|=Ct 0|3

5 0| 22| L}8OR Ko, TS QloflA L2 US E2t HASIAIR. ZHI0| 90| O ECH= S o 4 Q)
Ct.

The amount of myoglobin in animal (1) ( blood / ) determines the
color of meat. Red meat like beef contains (2) ( / less ) myoglobin, while
white meat like chicken breast contains (3) ( more / ) myoglobin.

HESIHN, 283 I21 H20f A%

n 2] 5 5ol H|Z
£20| (1) 280] Y 0]Q2 24| e TY|o| MZS BHSIL ANI|M B2 1ol () o B2 o220 S PR EF [CepAf Chstol gzt
Of QUm, B Sf Tk AR & 1o (3) f B 0]Q32eI0] S0 UCkH o= 22 ®9 ‘continuous(X|&H

EE) 16 2@ 30TQFQRF 4continuous 5 (1) muscles (2) more (3) less

©® Some animals have lots of myoglobin in their muscles and others have less.
- TR 3 YRE someOZ, 1 9| T2 YR others Li-0f E&E 4 ULk 0174 20 Y2 0|22 2W0| = SEES(Some
animals)zt M| Q= SE5(others)2 Li0{ AL

® It depends on [how long (they move) and how much they move].

they moveZt H&AL and2 Q1ZAE|0] MQICH

©® Cows usually spend long periods of time standing or walking.
- fspend + A|ZH/&= + v-ing = ~hi= Of| --2| AlZH/ =2 HUCHMACH'2h= 2|0[0|C}. O] 20| M= M UL 2=
D SIMEICE  of Tspend + A|ZH/E + on + @AL ex. | spend lots of money on books. (L= ®oj| k2 =2 24r}

® Trequire + EX{0{ + to-v.,= ~2 5013 & S @SICFEl= 2|0|o]Ct.
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pp.60~61

©® On the fourth Friday of November, / stores and malls in the U.S. /
ne| v = 2o 0|29 4™EL LEHEE2

are full of chaos. / @ It is Black Friday, / the biggest shopping day of the

S22 IS ot agte =8 Zetoglofo|ct st alel 7hE 2 A ol

year. / ® On this day, / many companies offer discounts of up to 90% /

olgo= a2 7|950| QOMMETIX|Q| BHolS X =S}
on products such as electronics, clothes, and toys. /
HXE217], 2R, J2|0 FAEn 22 4250 cish

® Recently, / people have begun waiting for another event / called
512 ARIES & CH2 AIR 7|Ckal7| AlRricH Aol

Cyber Monday. / ® It’s an online event / that takes place on the Monday

HEjol2t E2l= %2 22t BAo|ct =2 Z2ojEfo|o| Ly = Y| gal=

after Black Friday. / ® Consumers can easily shop on the Internet /

2HIXE2 QIEUYM A £TE 4 AT

without having to visit a crowded store. / @ And on Cyber Monday, /

ARRE0| SHl= 7Hilof Y28 2e §lo] 2|3 AfojH HEfojofl=

goods that were not sold on Black Friday / are sold at an even lower price. /
=2 Z2tocflojof He2|X| g2 &ES0I N O &2 Aol Zeict

® These discount events are beneficial for companies / as well as

ofz1st etel HAIS2 7|YE0 = 0[fo] ElTt AH[RFSOf| A et oL 2}

consumers. / (A) © When there are unsold items, / companies have to

Le|X| b2 4ES0I AS JI¥ER2 ssE 189
send them to their other branches / or to discount outlets. / (C) @ This
CHE XIMEE ELf{of stCt LE gl uEER o[

results in an extra shipping cost, / which is usually high in the U.S. / due
F74HQl 24 H|8S of7[stet ™| O0]=0M 0|62 28 =Ct a(@=)e
to its vast size. / (B) @ Therefore, / many companies choose to sell the
st 37| uh2of I EI] e 7|™S0| AHXS0H AEE Tt Ae

products to customers, / even if it is at a lower price. /
Mesict HIZ 2200| of W2 JtAYx|atE

be full of= ‘~O 2 7}= XICt2t= o|0|9| ES0|Ct = be filled with ex. The store is filled with people. (AR 0| AFRISZ 715 X} QICE)

Recently, people have begun waiting for another event called Cyber Monday.

— have begung 3ixj2t2 AlF|(have p.p.)2, 0| 2EO| A T7{0fl AIZHEl L0 BxHo| Bt [2HR]ZS LIEFHC
- begin2 2X0|Z SHAR} toRHAI B £ 4= QICL  ex. | began to wait for my birthday. (Lj= M2ls 7|CH2|7| A|ZFEICE)
- Twait for + (5)HAt= ~& 7|Ci2|CF2h= 2|0[0|C

of "wait + to-v,: ~5}7| 2|af| 7|Ct2|Ct ex. I'm waiting to see the concert. (Lt= 312 27| 9|3 7|cl2|= So|ct)

® Consumers can easily shop on the Internet without [having to visit a crowded store].
- [ 1= ™X|AL without(~ §l0], ~5tX| et1)2| EX0] Aeks ot= SHAO|CE
- don’t have to= ‘~& B Q7| gichet= o|0| 2, 07| M= FMX|AL withoutO| note| ishs CHAIGED QUL  ¢f have to: ~3{Of SHCt
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1 ol 22 MZSoz 71 MY 22? 1 Oj=2ciEXel Eoldatel == =
D Ways to Shop without Shipping Costs 22 1/ gio] azst= UHs 2to[ci|o|_t AtO|H MOH|0|E ATHst

@ Consumers Who Enjoy Shopping Online ezjol azs 57/= cuxis 0A| T1740| AH|KFSOf| A/ L2at OfL|

3 What to Buy on Black Friday and Cyber Monda of olo| ElCH= M-S Aoy
3 Eotoleol8] Aol 2efoll Ao e 2 ’ =t 720l 0[=]o] Elrh= H2 2

& Consumer and Company Benefits of Shopping Events . s of= 20|22 =22 @ a8 @

x

S|

Aol AH|Xtet 7| 0]2f 0|

N
0

® Monday vs. Friday: Which Day is Better for Shopping?

22 of 329: of= 0| £T37|o| o F27P

3 CI3 20| 3t EHS REUE M.

2 o] ol 23 (A)~(C/ 2ol 7| wis 2022 J1 T 22 > stol BA} LSO oL
OW-®-©  EW-©-B  BE-A-© 01 0folo] Sicta oi=3 O
PO-W-m - eO-E - oI, ZaIX| 52 40 2 1 7|

ool IHSE 1R X EE ol
ORIl LAk BICHS L§B2] (A), O

Q. Why do companies participate in discount events such as Black Friday or
Cyber Monday? 7|12 f =2 Zajo|cjo|Lt Afo|t] TiEjo|ef 22 ol SAjo| Ftofst=7t?

A de|x| P2 J&FS TE XgolLt ol ifgoz HifH ICH= LHgQ| (B)Q] 320| 7t& X
=2 (F7h 24 HI80| 57| W= =stct
= .

4 0| 2| Lhg22 Hof, T} HIzZH SOIZ 22 20IA) 30F AR,

3 B¢ 0 00M 22X 2 dES
7|Y40| CHE XLt gl nfEe 2
o Many companies provide big discounts on Black HL{of st=r|, ojmf Z=Jdol 24
Friday and Cyber Monday, but I prefer Cyber Monday. H|20| =0f 0|=0| 37| mRo| 1
I don't have to visit a store, and I can o wri
sometimes get a product at a much lower IS SE T
price

= =| x
4 =M &M Ea
Z2}0|H|0|2F Aol HEH[0jo] 2 &HelS HISSIX|R, L= AfO|H 2IH|0[E M
IOk L= JEE YEg doot gl 7B gH G 2 =

@ 20 3EX E2YESHEXHOIL YR Zez B =2 (F7h)
a
o

H|&0| £7| &0 4 discounts, visit, lower price

® And on Cyber Monday, goods [that were not sold on Black Friday] are sold at an even lower price.
- [ 1= 2ol 2 MEAl goodsE =AI5k= =2 ZHACHIHARO|CE
- 2Ateven2 EW0|2t= ol0|Z HugS A e + UCh 0| 2F0llM= F&8Ate| H| g lowerg &St QUL
® TBas well as A= ‘A0t otL|2} B '2H= 2|0|o|C}.
=Tnot only A but also B, ex. These discount events are beneficial for not only consumers but also companies.
@ This results in an extra shipping cost[, which is usually high in the U.S. due to its vast size].
= [ 1= 90l 2 an extra shipping costS MALZ 7IX|= AL SHO| 2AHYAFEOICE 07| M= 23 O[R(F7Hl 25 HI8)
= ~ofCretn sASHTL,

® rchoose + to-v = ~ot= 25 MEISICY2H= 2|0]0|Ct choose= 54012 toRHAIE £Ct
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pp.62~63

©® My friend Edward makes a sound like “oh” / quite often. / ® He

L 217 Edwards “@°9} 22 42| S thct ETRRES B

makes the noise / when other people are quiet / and even during class. /

- 3 22|E Wt CHE AR S0l =8 J2|3 X0 Y o=
© LH 17 Edwards 3f Xb= @79} ® However, / he doesn’t do it on purpose. / ® In fact, / he can’t stop
SFX| 2k J= 1748 19| 2 3HX| t=L] Al = XpAlo] IAHE
75"8 _+_E|§ L|_H|:|'QJE I:l_%Al_%l_%ol ofx| gt = 3748 192 5HX| gh=Ct At JE Xpelol 3
=838t nj Ja|3 AlX|o] 29 Zo|E 1 himself from doing it. /
. st= 28 Y& 4 8ltt
22|E ot @ SR O= O2iE 19|
2 31K L=C} @ AFAL 1= XFAO| 1 ® Edward and others like him have a condition / known as a tic
HS 3l 712 9E 4 9irt Edward J2|10 J19 22 CHE AMRIS2 Hehs 7HX|1 Aot El Foli2ta ezl
® Edward J2|1 19} Z+e o2 A disorder. / ® Those who suffer from it / may experience a wide range of
_ 712 ot A lEtES Clokst EAES ZH2 A olr|
T QCh @ 7S 9= ARES 2 symptoms, / such as blinking their eyes, / shaking their heads, / clearing
S0| =2 7o | = 7 2t =0] 2s5CcL A 71Xl
20| 7 Df2|= Bl 7 57|AS 159 8 7ol 2T} 22 RECEERIE I M=
sH= 74 e EX3H CHo|Z BhExXo2 their throats, / or saying a particular word repeatedly. /
CISSA L EXSICIo|E HIE™MO 2 Btsl= 7
Ui AT L2 ClUE BYS HE 4 e FEnm R RS fee A
= 9Qlct @ Tic disorders are much more common / than we think. / ® Between
E| XtoH= &M [ E5}C op AMZtsH= 4L
® < S0l Sa} S 2T} =) Foli= B4 o Esict P27} Y2fste 2t
&M o S5iCH @ & MM 100)A] 10 to 20 percent of children / worldwide / have tics. / ® It’s not usually

M 20 AMIE Ato]2| Ot0|S0 M of| & EIS JIX|Z QlCt 0|2 thy
20T ME A0|] Of0|S0] EIS 7Hx|T 100i| A 205 HIE At0[2] 0}0|Z0] S Ao =2 7HRI QACE 02 7N

QIC}. @ T1S0| LI0|7} ST SAN0| X}od a serious matter, / as the symptoms naturally disappear / when they get
A AZIX7| TS0, O|HE T A Atst SRl OLICH  BAESOl KteIARA Af2bRI7| who Q50| Lolt S8
2kt 2= OL|C} @ &FX|RtH THok El older. / @ But if you force people with tics to stop, / they can get

| ol Ao HEE2 Zestc) SEX|2t 2hoF GAI0] BlOf Rl ARSI RS =S ZQsitH 152 AEZAS
M IES AEAZ H2 A 9l 0 stressed, / and this can make the symptoms worse. / @ Thus, / the best
HS ZALS [ ofsiA|Z 4 9iCt @ et Ze ALt 02|10 0|H2 SYES O ASAIZE =+ ULt metd g flE
A, B & 9l 71 E2 2 Elg Ty thing to do / is ignore the tics and just treat them / as you would treat
510 Y IS OE AlRES oists 7 Mg E2 A2 EE RAlstl Od 358 tisks Aot gLlof CHE MEhS st
MY Chist= Zd0]Ct. anyone else. /

AxH

D -
S22 ol
(4]

In fact, he can’t stop himself from doing it.
- Tstop A from v-ing /= ‘A7} ~5t= 748 2L} giCP2h= o|ojo|Ct

— SAl stop2| 5017} F0{(he)et Z2 CHYO|2Z THFCHHAL himself7t ATt OfwHof TP CHYAL= ‘21 XHeO|2t 1 3HA5H, d=fet
= giCk.

® Edward and others like him have a condition [known as a tic disorder].
- [ J&= &0l & a conditionE $=Al5t= IHEALO|CE O] known ase= ~0|2t[@ 2] &e{Fl'0|2t sHA45H04, be known ase ~0|
2f[eZ] YHX|CF etz o|0]2f a~FE FF0|C
¢f be known for: ~2 2 RH35IC} ex. Bob is known for his donations. (Bob2 7|22 RH5iC})
be known to: ~0{|#| LEHX|C} ex. The actor’s nickname is known to everyone. (1 H{R2| HH2 D= Al2ESof| A L2{X QUCt)

40 | Y¥of M3 =0{F = iU &85 XI2 HE HackersBook.com



ZH oi&

Which is the best choice for the blank? wiztof sofzt ez o) s=ist zie? 1 HIZE FHoM O XpAo| A2|E We
@ likes to keep doing it 7212 A4sHM st 212 Zofaict 2 HE £ Qirtn ooz, HiFt
@ does it when he gets bored =7 x=sjx 1 2212 it Ol= ® ‘128 19|2 5X| Y=Lt
d doesn’t do it on purpose 71zig moj=z shx| gect b 74A ®ESIC)
@ doesn’t think it bothers other people 717i0| tt2 AtztSS K7tA# Bickn Mztsix| ehect
doesn’t want to go to school stmoi| 721 410f sjx| of=r
© 8 et 2 @ 2% Ol = FojE Y= oS
2 &2 4ol A, HE|E EE=
2 Choose ALL that are mentioned about a tic disorder in the passage. _ = _E': L * - _E =
ol 20/ € Fofoll B AT AS BE D2A|Q. A, 87|18 ot A, st To{E
@ the cause of it 71710| /ol HIEMOZ Yot= At 22 A2
d its symptoms 170 545 Z4=C}7 SHCH
® the origin of its name 72| 022/ 23 ©: 2% O0lM ™ MA/0lIA 10~20
@ medications used to treat it 772 x|257| 2Js] 2101 of= HAIE Q| 0|0 EIS 74X T 9\Ct
(5 the percentage of children with it =zi= 7tz ojo|s2/ Hi2 23t
. . o S .
3 What is the besF attitude toward people with tics? Write the answer in Korean. 3 9% @M Jlxt Z2 e gl o
El0] QL AIRHSO Cist 2|0 BjTE RAUQITR QBITZ MAQ, =e c s A= =T
Si2 SAISHD Qi IS THE ARIS OISt ZUME Cfste 2 Alsha & HohE e 015 1<
CHE ARE Oishe X thst= A
L . 71 SH
4 Which is the best choice for blanks (A) and (B)? Ol2f1 Sict
HIZH(A)QF (B)Ofl S01Z 2& JHEh XASt A7
. . . 22X A =t
People with tics cannot (A) their movements or sounds, and they 4 =M EHH AL
shouldn’t be forced to (B) .
El0] A= AIHE2 359 SEYUOILE 22| (A) SME = 811, 152 (B) HELS ZQHOtME= o EICt
(A) (B)
@ control - repeat Sxsict - u=sict
d control - Stop Sxsict - @}
@ realize - say et 2aict
@ repeat - say wh=sict - wsict
® repeat - stop et=sict - mxc
EE 10 20,060 3EgRAsn ag 152 OE A2 tisk= 2443 dists A

40

clearing their throats, or saying a particular word repeatedly}.

- [ 1= 20| 2 MEAt ThoseE =415
- XAt mays ~& £k QL ~&X|E 2ECYEt= 2J0|Z,

=

b= =2 A HEAPEO|LY. o] those who= ~5hi= AMES'0[2k1 S

MBIC}

e

Ol =2
—|F°|_F T=5=

LIEHACE

of may: ~afi EICt [3{7}] ex. You may watch TV now. (L= O|X| TVE 2t =ICt)

- { }= XX|A} such ase| 201, blinking, shaking, clearing, saying0| 0|11= =4

rforce + BX0q + to-v,= ~0|A| -2

ZQ3sIChEk= 2|ojo|Ct. 0] 2E0i| M= people with tics7} SZ{0{0f| st

Thus, the best thing to do is (to) ignore the tics and just (to) treat them as you would treat anyone else.

- the best[first/only/next] thing to do + beS AL, F0l| toRRALZ| 2 il to= MEFHA £ 2~ QUL

— as ~A@, ~5H0I2h= 2|0|=, fAFEE 0f

T= HEALZ 20] Fof "30{ + SARC| O 2T

Those [who suffer from it] may experience a wide range of symptoms, such as {blinking their eyes, shaking their heads,

AF7F HSAL or2 GAZE|0] ALY
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pp.68~69

© “Free for one month” is a marketing trick / often used online. /

et g Set F='E OHIE -t 2efl0f| M Xt 0|8&|=
o (C) ® A number of movie and music streaming services / offer free
(1= HA‘I
=< 0= oo iol 9o AE2|Y Mu|AL 22 0|82 MBIt
O St =0 2E= 231010)| M R} usage / for a certain period of time. / ® This seems like a great way / to try
QXSt 7|7} =oF JHe 25} diEdx]ad -HO|
O|%E|ED|'7'||%| _J'g_téqolcl_ Eo_jlion_ OlAn_E ._ouﬂ.:.E._':f
© T2 2159} SOk AER|Q AMH|A out a new service / without paying for it. /
(=3 A= = 7 =S oF
E OEI)SE}‘ 7|7|_|, %ol_l_ —?—E O|g_% x_”_g_gl_l_ MER MH|AE AlZsi & 22401 tislf =2 WiX| &1
CH @ 0|72 =2 LYX| 211 A2 MH| (B) ® However, / problems occur / when the free trial period is over /
_ _ Skx|ot = A 7| =] & 717 21| tod
A= ASH E EE5 driR(E wolrt stxat =7t 7ict 22 Hg 7Izt0| Euted
@ 3tx|ot 22 #& 7|7to| BLtm 2 and you don’t want the service anymore. / ® People who forget to cancel
2|3 Ska | A= Al 2| x| OF [ut] 1E0 =2 X ASH S 0l \|2HES
MZICH @ TES | ASH S Q2 Alat their subscriptions / are automatically charged for another term. / @ And
Ct=2 7|7+o]| CHE E=™Ho for=" l:l—|5|_||: =
%% Er% 7|?_|,0“ E‘HEH Xf%ﬁ‘!gﬁ 8% tS 7740l Chis XS &2 0| Fut b 2|1
0| EntEICt @ 12|10 o|XtofH 1S few companies remind their users / of when their free trial ends. /
_ _ =o| 0|2 SHH Qi == S| A= 7{o| of =o| 22 HEH0| AN BLI=X|=
o B2 X[#0] o] BLI=X|= CiA| 3+ 50| 0|8Rjol7f Chal B Qafzis slAts 749 gitt 159 22 AE0] o1F BLH=XIS
= 3= Aol gict (A) ® Moreover, / some of them even make it hard / to cancel
AHC O = el-hd AIX|0] 0{&1AH| ot=LC ==
=2 X AsHe 712 0| DHECE @ o subscriptions. / ® For instance, / you might have to call the customer
| ASH= 72 E= CAlS T17H A M X5}l =13 =
o F43t 22 oIS Sof Zrile 02 As|A ME( Hsteo} Xz 2aCt
MH|A MIE{o]| Hslso} BHX|= DE2C} service center / only during office hours. / @ And it could take a long
_ HQIAlZH Zotofat 12|71 2 AlZHo] 22 4 Qlc
@ laI_T'_ E,_H(| 7_:!%:'_}' O|OF7|6}'E Z_JO“ Ol:lAll_ o_Oﬂ_ — ‘—l— Q° A|\_O\ =22 T M |'
T Qa2 A|Zto] Z2l 4 Qirt time / just to speak to an employee. /
o CtX| =3 o|lok7 6= A
© 1202, 752 M| Hof 2 SR plo R
2 H&o| 0|2 orate Holste 70| = ©® Thus, / it’s important / to check the terms and conditions of free
= HA|ZHo| F|ABH £ QIE 2 hAlo| T trials / before you sign up for a subscription. / ® Also, / mark your

L CIAIO =2 AKXy xl_1 E?_" EI—AJ(_J_ |:I-F_5|
E_:!O‘” j‘j"_AIsH%:IE-}' cHilo] =S s | Ho =} | E o
calendar / so that you can cancel the unwanted service / in time. /
HEAISNFEE GO M| = MH|AE FaE 2 AES HAlZHof

LS

[

fa number of + SHAL = "B2[CH0|] ~2H= 2|0|0|Cf gt S~ X G E {0l ESAt offer7t ML
¢of "the number of + E4HA}: ~O| 4= (Bt F|Z) ex. The number of pens is 12. (HI2| 2= 12740]C})

° |4
Al

®

This seems like a great way fo try out a new service without paying for it.
- 'seem like + WAb,= ~ME HO|C}2k= 2|0|0|C}.
- to try out a new service= ‘MZ2 MH|AE A&l £0|2H= 2|0| 2, toB AL YEAIY 8HOZ 2401 a great wayE =215} QICt
® rforget + to-v,= (01 5HX| ob2 2o17tof| Chish) ~& Zdg Chete <|ojo|Ck.
¢f "forget + v-ing: (0|0] 3+ F17t0f| Ci3H) ~5F 242 QIC} ex. | forgot canceling the reservation. (Lh= 0f|2kS X A5t 73S QlofH{ZiCt)

@ And few companies remind their users of [when their free trial ends].
- fews 72| gl='0|2H= 2|0|2, Fof| & M £ Q= WA 243 (companies)S 4=A|FHCE

of Tafew + A 5 Q= HAIS| S48 WHi9| k70| ~ ex. A few companies sell the device. (RZ9| 5|At7} 1 7|7|E Eofjstct)

'
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1 ol 22| Sxo= 1 XY 22?

@ to explain the best type of online services 2zel Mu|ro| 7tat Z2 22 Muisty| 25

@ to suggest solutions for illegal online services
= 22l Mu|A0] Chet sHERS RMAlSH| /sl

® to introduce some online services available for free
222 0|8 2 Y= 210! MH|AE ATKH5L7| sk

to warn of issues when subscribing to online services
22t MH|A 15 Al 2H[E SO thst =2l 7| 215l

® to compare subscription fees of various online services
Carst 22j0l Mul2o] 1= 232 Hlmst| 9I3

2 0] 20| Tz} (A~(O)Z 2Moll U7 BB HOR TR M3 HE?
@ (A) - (C) - (B) @ (B) - (A) - (C)
® (B) - (C) - (A) @ (C)- (A) - (B)
&(C) - (B) - (A)

3 0] So| HiZto]| S0{Z U2 J1E M 22?2
®you can geta discount ghlo| golg g 4+ qict
@ you can extend the free trial period =lo] 22 #& 7j7t2 eizter 4+ 2t
you can cancel the unwanted service =lo| 217 o= Au|AZE

2%

ICt

+
3

@ you can compare streaming services o] AE2|2 Au|AZ

w3 & 4 et

® you can purchase additional subscriptions =tslo] 7t pE22 Te/a 4 qirt

4 rI3 hste] wiztol S01Z ol S04 BH0F 24|,

A: Can you remind me of the event? I'm worried I might forget it.
1 AO]| Chal LBHE] ChA| SHH 2R{E = AUZILI? it SIOfH =7} B {75,

B: Sure. I'll call you next Monday.

=E0|X|. L7t Chs = ool Matsh Z7|.

EE) 1@ 260 303 4remind

ZH oi&

HOo Jlo oz rlr

2= AN MH|[A7
olgECta igst
2 MEIANME 2
(C), I3t A 7|
Ag SloHEl= 287t
= ti&el (B), Ack7t

2= 4 ACk= 82| (A)
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0
o
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2
nx
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g7t FlolM Az 2210] HALE 9104
HZI77E B 4™ EICHD g0, B A9
EEof| CHal Ttal FZUCH Sl
CF w2kA chstel BlZtoll= 22 @
O ‘remind(CtA| SHH 23{=CH 7L

7F MEsi

= "remind + ZX{0{ + of + (F)Z A= ~0l|7| - THA| BHH L2{FL}, &7[AI7|CF 2k 2|0|0|Ct 07| M= ZHEel2 = [ 17} of Foff ATt

of "'remind + SX0{ + to-vy: ~0f|7| & S MT|A|Z|CH
ex. | reminded James to bring his homework. (L= JamesOl|7]l £H|Z 7tX|0 2 S
- [ 1= "2ZAL+ 0] + AL THHLAEE 2R, of 2] SX0{ g 5t ULt
® Moreover, some of them even make it hard to cancel subscriptions.
- 'make + 2X0] + @&At= ~= --5p7| 2FECEk= 2|0j0|Ch

Y7|MZACL)

- it2 7F=2X0{0| 1, to cancel subscriptions”| ZISX0{0|C}. 0|t 7}=2 %01 it2 2 s{A45HX| =Lt

O it takes + (AHR) + AlZH + to-v.= (AFRIO]) ~Sh= O] 2] AJZH0| H2[Cf2k= 2|njolCt.

® it 7}20{0|1, to check 0|5}7} ZIZ=0{0|C}. 0|ty 742501 it [} s§A15HK| =L},

® sothat2 PAFES 0|T1= HEALZ, ~St=F'0|2k= 2|0|0|Th  of Tso + FEAN/FA + thatE: /04 ~sljAf --5iTt
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UNIT 06

@ Here’s a simple test / you can do right now. / @ Put the backs of your

0f7|off ZHetat HAE QUTE  EAI0] X HIZ & = U= gelel &5 &M 2oi2t

(il iy |

hands together / with your fingers pointing down. / ® Then, / stay still for

glol £7t=t0] of2HE 712|717 Bt AHE J0g 12 327t
017|0f| SHAIO| X|2 HEZ &F £ 9l one minute. / @ If you feel pain in the palm and first three fingers, / you
_ olo{g| OFoF CHA|Q| AHICHIE X M| & 72| E=S w77ICID
|_|‘|:|_|'5|_|' ?:-|IA|'7|' %U:l_ @ —)‘,_\—7|'ér0| Ol'EH% A '| |' = c>|_0| [ %jJ‘l. PN ﬂ |_7|'—|O“ So= —C& L
7427|175 M2 AES Y 20i2} © may have carpal tunnel syndrome. /
IC o 1!:1 EOI‘ |'D|'6| o|o_|a|_ e |:||.o'; %ﬂ% _)n_‘i% E‘II_E_' %—?—E% 7"X|1 9}1%“5 E%q‘
0 IS [ P N 1
AHICHL X M| 27|20 E52 L7Ic} ® In the wrist, / there is a narrow space like a tunnel, / which nerves
_ 220 EHupl zte =< 17| ol m=lE He A|AH
?j’l:otlg_ﬁ_%E_lLég_?_E%jl_X'l% L—|0”|_ 1EL+EL (= on_ol A |' —L‘“Ol/\E Lool
x|z Rac} pass through. / ® Carpal tunnel syndrome occurs / when this tunnel gets
6 220|=, E{E1} 22 F2 2710 Satslf ALt CE &= HE ZSZ0| LSt 0| E{'=0] Z=04X|H
=Yl = ET- H- O
Ql=r|, AZ40| 0|S E1tsH X|LIZICE squeezed / and puts pressure on the nerves. / @ In the beginning, / you
® 0| E{0| =O{MA AlAof| orete 7t J21 3 MHo| getg 7kt Z7|0ll= ghile
510 AR E{Y S570| LMEH} @ X might lose some feeling in your palm and fingers. / ® However, / later
7|0ll=, adjetn Azt Z2te e ShAlo| &Hiefat &712ho)| 242ks elg 4 UCt shx| ok LEo=
[ — l — = O/ =2 2=
2 9ICH @ SHA|TE LIS0|=, 22 FF| on, / you can experience severe pain in the entire wrist. / ® This causes
Ol SAlst EX2 742 4 oIC @ 0|71 A2 22 Mo 34 552 23S 4 UCt 01212 Aarzol
MO oo m AN . —
QARSI T D2 QuEEiC @ o some problems in everyday life. / ® You may often drop things / or
AS S7S XjZ Hojma| Lt K72t T SxlSS QU 2 BASS XF HojmY 4 Qrp EE
Argst= O] ofH2e 742 & ot have difficulty in using chopsticks. /
® Q0] 0] MBS 717l Alztso| & Mlate Algsts O 0f2i22 212 4 ot
m=Vl, gl () ==
7} =7k5 QICH @ 0|71 Q=< Alat ® These days, / the number of people with this condition / is
So| L5 oot ANIEES ABS) a5 OlEEs s AEES
Lt 7|22 EFXIZ %|7| W20\ @ O] increasing. / @ This is because / people use smartphones or type on
Bi5t QIS HpEX{o| 0| SE|O|S out S7fst et 0|2 ~ uiZo|tt A S0| ADIEES MESI7Lt 7|HEZ EHXIE X7
SHAd QB =TIAIFIC keyboards / for too long / today. / ® These tasks cause repetitive hand
TIBo= o (=

HE oSt os ol2fat Y2 wH= ol 2o Sxlols Qursict

movements / and increase the risk. /
J2|0 O EME S7HAZICH

oo= o

D -
S22 ol
(2]

Put the backs of your hands together with your fingers pointing down.
- fwith + AL+ Ak ~70 -8 JZ/6HHM Bhe Q0| 2, [SAISE]S LIEHHLE 0] 2F0| M= &7t2fo] ofhE 712|177 & A='2tn
Si|A45H0H, HAHyour fingers)2t 2AHpointing)2| &7t sS0|22 S EAL7F ALY

()

ZSA maye ~EHX|E ZEC ~ o £ QICFEh=s Q0| £, oSt =&S LIEHHCY,
® In the wrist, there is a narrow space like a tunnel[, which nerves pass through].

- [ 1= &0l 2 a narrow spaceE MAAIZ 7IX|= H S Y| ATHHAIEO|C 07| M= “O&H 0|H(E2 32
etct.

mjo

_O'ﬂ
n
utl
]
f
ol
=

s

@ IS4 mights ~&t & L}, ~8X|E BECHEHS o|0|2, maylrt BEHE £5S Lifct

44 | 30| Mg =0{F = CiYT &85 XI2 HE HackersBook.com



ZH oi&

1 ol 2ol Hige@ 7ty HEst 222 1 20 222 Ym, ME Fe 22 X
@ Your Hands Show Your Health 2o| caio| 712 atej= moizcy ol 852 =2 = U= &5 HE
@ How to Test Your Hand Strength | 512 Ajsisi= w S22 MMsk= 20|28, HFe
% Exerc1se.s .to Treat Carpal Tunnel Syndr(?me gg g 5522 x|=sl| 23t 255 2 @ 27} A20| EXS Sulsl=
A Condition That Causes Hand and Wrist Pain 27 220 552 gusis msl XI5P0| 7}AF HE5ICH
® Common Illnesses Resulting from Bad Posture Lt xtijof i bjZsl &5t 2=
2%t M £&7}2H0| OF2iE 7+2|7
2 0] 22| UE # asimple teste| SAOR Fhy HF 222 2 B8 O 2710 O 7ieP
A gt M2 252 M 202t
& N ¥ o= | @ ® oBg, ZA S50 @0 13 X
4- W == ek

3 CI3 20| et Bo| EI=2 gzt S0iZ 22

SO/ FH0of A2, ZS AE51HLL 7|HEZ EIXIE2
X= A2 etEHel &0 SXYS 7
Q. What increases the risk of carpal tunnel syndrome? ah5 QJ3iAS ZIIA|ZICHTD STt

0| &5 B S| fleds SIAPIER

= SF0T

&Zo= S

A. The risk increases because of repetitive hand movements _ _
. . 4 @ &5 HZE 3229 x|z Yy
caused by using smartphones or keyboards for long periods of o \
. CHs oz e o
time. o2 A7t S0t ADIEEOIL F|RES AlSos HOR olsh ghmxiol & 53t m2o] 1 2I3i40| S7HHC et == glct
C

4 o] 22 1 22 B\ ZT0) e HE 2 gl= BR2?

@ How is it tested? aze o=@ Alsl=op

@ Why does it occur?

® What are its symptoms? 1zie
@How is it cured? zie oj=A x|2E=Ip
® What problems does it cause? 7zi2 oj 2xss gwst=rp

, St 2712 $58 SR 2
i ot et Eld 5322 71X D U 4 9UCh
| B2 Rotelrp SCt,
@: 28 00N £=9f 0| =0
MM Mol ets 7hotH &= B

of 222 91, ol &2 FHof 3
M3t 552 242 4 UCD YO
©: 2% ©-00|M =S = EHof
2| Rvrete AEshe o 032
g 7t S ArEl| IS Qs
Cta 2HCE

EE) 1@ 203 3repetitive, keyboards 4@

@® You may often drop things or have difficulty in using chopsticks.

- often(x}5)2 o UO| Lot} X LOJLE=X|S LIEH = BIE2ALO|CE BIESAR= LEESAIS| O EE= beSAlLE ZFAtS| Flof| 28

2 ZSAt may Fof| .
- Thave difficulty[trouble/a hard time] + (in) + v-ing= ‘~5h= H| 02 2/2H|/& = A|7tS ZiCk2t= 2|O|o|C}.

@® These days, the number of people with this condition is increasing.

- "the number of +

¢f "a number of +

S48Ahis ~of a2tz Q|0[o|ct ety th FFSIER Fof| TS Atis7H ALt

S48Ah: B2l ~ (B FE)

ex. A number of people are waiting for a bus. (22 AIZIS0| HHAZ 7|Ct2| 1 QUCt)
A

~ TbeSAte| SIrlid + v-ingi= ST AIH= ~5t31 UL, ~3h= SO|CF 2t siABirt.
2

® This is because= ‘0|72 ~ W20|CF2H= 2|0| 2, because 0]

= U&0| o 2Fof thgt 0|77t ElLh.

iz
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ChY 0| A2 28t Zolck @ 5|
oF, Dot WakS HTE, B ®ot 7
zi0|C

B. @ 9io} Sl XSt EizlshH,
8t 0| 7| 2 oIt @ B/, Tio}
Wate HED, EHAI0| Mz HAl
=8t 7ol

© 2 Aol ofi ZFo| Lfzixof

o]
=

RO =E gE2 gith @ stxat,

o

®

N
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17N
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oz K
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= o
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N ® o A

=300 2250z Helo|
g 73 AEAIE HEHOR AR
ofsi, 92| of2f3t Aol cish 227 A

213f| 4o} BT

[

HO

® Can a car drive by itself completely / without a driver? / @ In other

XSR7F 25| AA2 2T = AST 2Tt 810 ChA 2rstiAf

words, / are self-driving cars really possible? / ® Not just yet. / @ This is

e Tl SR Y 7HsE AL Ot%|2 OfL|Ct o|AH2

because / they cannot make difficult decisions yet, / like in the following
~M2oltt OZS0| oby of2i2 2H S8 WE 4 gVl CEol olAIS ol Aot 20|

examples. /

A. @ If your car goes straight, / five people will be injured. / ® But,

otof @ilo| XtSXt A TI5HH CH ol BY2 gg Aolct atx|at

if it makes a turn, / only one person will be killed. /
aiof 70| wake R o @et 3 2 Zolct
B. @ If your car goes straight, / one person will be killed. / ® But, if it

otof gilof XSt 2 EIsHH 2t ol =7 & ZAo|ct SEX|2F grof

makes a turn, / you will get seriously injured. /
JZol g HHEE  gilo] YfsiA RdE gE Aolct

® Which decision should be made in each situation? / ® Of course, /

Zh Aol A o™ AX 0| LB of oh=7t =2
there is no right answer. / @ (A) However, / self-driving cars must
FE2 glct SEX|2k g =8 XSkt

know what to do / in advance / because they drive according to a
Fols gX| Lotopat shey - ARHO QfLfotH IAS2 2= 7o) w2t 2T | 20|t
program. / @ Every situation needs to be considered / and programmed

SE H=0| 12{=[0{0F BTt 2|7 RS ekl Z=H0|

into them. / ® (B) Besides, / if an accident does occur, / another problem
Mo{0f StCt A7t TF AF 7 HY UO{ Tt I CHE 2X7t LAstot

arises. / @ Who is ultimately responsible / —the software, the car
FToA 3SHo= Mo =7t SZEL O], XtSEE BJA,

company, or the human driver? / ® In order to use self-driving cars

= oIzt 2FAL e T XAtSAE d3H = ARgst| 26l

successfully, / we need to think deeply about these issues. /
22| 0|2{3t 2SO0l Chsh 27| d2tst 2o St

by + MFACHEALE ‘242, E2'2H= 2|0[0|Ct 0] ZY0l|M= F0{Ql a caret Z2 tlyS LIEILE 2 MP{THYA} itself7h 44Tt

© o |4

This is because they cannot make difficult decisions yet like in the following examples.
- This is because= ‘0|%2 ~ WEO0|C}2h= 2|0| 2, because {0l 2= LIE0| 2 =&0] CHE! 0K 7 L.
- 2HEM 2AtyetO] ALRE 4 OFA/'0|2}1 sMBICE  of H&ALyet: —X| 2 THME
® If your car goes straight, five people will be injured.
- XS LIE = ifE (2 ~otH)0ll M= O|2E LIER M SIXH A|X|(goes)E Lt
- ZSAFOlls SAFRE0| QEE, ZEA U= +SE = "ESAL + be p.p.,7H EILCL
©® Which decision should be made in each situation?
- O|2A} Which(0{t, 0{=)2| =415 Hh= decision0| 22 22| F0{ ¥&ts 6t QUL
e p.

~ ZEAF 0l SARIE0| 202, EA} Ak 2SEE TESA +b

LI

p..7F EIC.
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[ | e
SH t
1 ol 20| ox|2 7tz HHEst 2122 1 X8 3 AISKIE MBTHOZ AR
stz a2 2R ol chaf 27 Azt
S 489l 20|02, QX2
® it Fd NHSAE 5| 2

siM= siZ2g 2H7t ACE I IHE

@ Self-driving cars can cause more death in accidents.
118 % RSAIC AT Alol of B2 Al gozict

@ There is some debate over the need for self-driving cars.

Ate =8 Xrsate] 2ol chsh =Zo| /Ct

® Self-driving cars are able to anticipate various traffic conditions.

RHE =8 ASAIC CIfet IS 488 oEE 4 oot

L . . A
@ Self-driving cars put the most importance on the safety of drivers. 2aiCt
g T8 xtsxts 2Rt S THE EQAISITL
There are some problems to solve to make self-driving cars a reality. =
dx}% el MR B ool SISt 28 A7} . g4 2 (A EIZF Ol ZF H-OIM ofEH 2
He Li2{oF ZX|of CHet "E= gt
2 of 29| uizt (A)2 (B SOIZ L2 H3 R 222 -1 2 0, ElZiol /= SZolM it
(A) (B) 2 T8 Xtsih= FAE LX| AR
&/ However Besides szt - 7ict 2rototat sHctnd chxElE LIBS o
@ However - Therefore sixgt - wizpy SACE M2k gz (A)oll= SHEREF
® For example - Besides o2 sof - #ci7t 0| 7}&F &SI}
@ For example - The.refore ER= I (B) HIZ} QoA X8 =3l RKt=xt=
® In short - Besides ezl - 7ot Q= ASIO|A 20iS x| 2 a
O Mof0F stCtn 3, HIZHO| Ql=
o XIo S} CH = = POl o %k
3 CHS Z20f 3t Efo| EIES izt S0{Z U2 20iM Fot 4|2 SO AP} 2L0fLt HS HhAY
St= & CHE 2H|of 2het =7+ MY
Q. What problem could arise if a self-driving car had an accident? + 3 f l N f‘E “
Brof Xt FE8 RHSAIF ALTLS WCIS! Of 2RIt Ayst 4 Q=P £ FCh w2t 2izk (B)ole Alct

\J
-

\J
—_

N
_

A. It would be hard to determine who is responsible for the

accident. Armof cisf &7+ 20| Q=X TEE |7} 04212 Zo|C

o
4 0| 22| 822 Hof, I3 yizhof| S01Z U2 (EI0M B2t 24|12 CHH, 2T ERY0], XESAt 2lAf, 212t
2T =70l Mol A=K
turns  programmed  injured  decisions  situation et o N e
R g0l Aot 2S4S gl EE) 5 et 2A7E S0 2

Fully self-driving cars are not possible now because they cannot make complex
decisions yet. They need to be programmed to drive

considering every situation on the road.

N X2 Y AISAts $iAf 7Hs5HA| 424, QiList 2Z1S0| OFx| SRSt ZHE LR 4 87| t=2o|ck

X 7
RS2 E2 fl0Mel 2E J& S 1250 2Xst=] Z2I0| K0{0f Firt

s L=k-J)

n

EE) 1@ 2@ 3responsible 4 decisions, programmed, situation

® However, self-driving cars must know what to do in advance because they drive according to a program.
- "'what + to-v,= ‘RU2 ~&XI'2h= 20|Z, 0| EF0M= must knowe| EX0] A& 5111 UCH TQ|ZAL + to-vi= 2FHQ| F0, B
0f f£= SX0| Jehg sk
=Twhat + F0{ + should + SAtIE, ex. self-driving cars must know what they should do in advance
® every(RE) Flof|= thHAKsituation)7} 2Lof 5104, fevery + EtBAL = Ch4: FF5E0 2, ChZ AL needs7| A Q40
® does occur0f|A| does= SALE ZZEsH7| 2l ARACE O|wf does= HY, TIAEE1 SHAMFICE SARQ| 4= AF|0]| 2} do, does, did=2
2 7 AL Fol= SAHAYS 20

® Inorder to= ~5}7| @|3l'2t= 2|0|0|C}. = So as to use self-driving cars successfully = To use self-driving cars successfully
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UNIT 06

® How do you get rid of medicine / you no longer need? / @ You
=2 18 H2l=7t YOI Ol Q2 SIX = G2

o
o
=)

might probably throw it in the trash can / or flush it down the toilet. /

ofot IS M7 S0 HE S & QUCt = ONE Y0l LIHH RS = ATt

@ A2 O OAF ZIQ & 5}X| Qb= Of ® However, / you shouldn’t do either! /
g olg7l Hi2l=7R @ ojot 1218 & e sEE s
2|7| = 0f| =L} 7 |0f| Li2{s{Ee & ® Medicine disposed of this way / eventually enters the environment. /
= 9IC} @ 5HX|TE = Cf siAl= of EICH Ol2{st HAO 2 X2|El o2 A= XfAstHo 2 S0{7}A| ElCt

O O|2{5t HHAlOZ 2|2l of2 AR ® Unfortunately, / the chemicals in the drugs / don’t decompose
Xjotsizioz o7 Sich @ st EsE of 20| it 2UEL | SR =th
AHE, oF £0| 55t 2RS 217 E3fig| easily. / ® So, / they remain in the ground and water / for a long time, /
X SHoCh @ BhAM, AZSE ol Al 2o 2ziS2 FolLt 240f Lot U St 21 Azt St
EfAIE sHX|TA|, 7] A|ZF SOF oLt 2 damaging the surrounding ecosystem. / @ For example, / a small amount
20| o} QA EIC}. @ 0|2 S0f, 52 FHO| MEHAE sHX|ITHA o€ 501 SEE o0 =
2 ok Q= M2 Q0| AERAS & of estrogen in hormone drugs / can change male fish into females! /
S S17|= ofzioz B & TH @ se ool ofrERUS 421 27|52 YHES HHE 2 Ut
5k OfT}E|X| %2 2F0| R2|Q| AlhE B ® Also, / medicine that isn’t filtered out / can flow into our drinking
21S0{2 4 oiCt @ BloF 3|7} A2 wst ofatelx| ek ofo| Salo| Al42 EaS0iE 4 Ut
M 0| Q0iEl 22 OpAlCtH 1712 27| water. / @ If we keep drinking this contaminated water, / it may harm
o) 74zt a&l A% 9t Btof 2217} A3 A 0] HE B2 OpAlCt azi2 220

© 124N, R2|= ofEy| QafEl of2 our health. /
Helaof st=7k @ Pl 2% Su cessE e
OFZ0|| 7pMZt & QICE @ QR0 HE ® So, / how should we dispose of old medicine? / ® You can bring it
OFRIB| OFS B2 £ Ql= AFXFZ} QICH T2 R2|= ofEH 22iE oS XM2|sHof =Tt SN A=

to local pharmacies. / ® They usually have boxes / where you can discard
SHl f=S0l 7tME = ot OXSo= BEE ARE0l bt Llo| QFHISHA k2

drugs safely. /

2| A ol

D -
S22 ol
o

How do you get rid of medicine [(which/that) you no longer need]?

~ [1= 0]l @ M3t medicineS 44t BXZ BACHYAEZ, S%{2{ 2AICHZAF which/thato] A42e|0f QIC

SHCSAL eithers ‘S Z 0= Z10[='02k= 0|2, QoflA AT E S JHo| ChALS 7t2|ZICt O] 2ROIME o SE| LI throw it in
the trash cand} flush it down the toiletg 7I2|74 & £ 0] Z0|E sljA= ¢t =ICH= 2|0|0|Ct. O|uf notx} eitherZ neither(E & 0=
ZAE)2 HHY £ 4= QICE = However, you should do neither!

®

® Medicine [disposed of this way] eventually enters the environment.
- [ 1= ol 2 MedicineZ =24{5t= 2tHZAt0ICt Ol disposed ofi= “XM2[ &, GOHEI0[2t 1 SHAIBHT,.
® So, they remain in the ground and water for a long time, [damaging the surrounding ecosystem].
- [1= FHe MEAIE ST 2H= Q0|Z, [SAISE]E LIEH= A 20|k
=T™H&AL+ F01 + SAL, ex. So, they remain in the ground ~ while/as they damage the surrounding ecosystem.

48 | Jof M3 =0{F = CiYT &85 XI2 HE HackersBook.com



1 What is the best title for the passage? o| 2| 5|20z 715 =zst 7127 1
@ Helpful Tips for Taking Medicine ot =gst= Ziof tet R88t 01
@ Medicine That You Should Avoid g+io| mjsfof sl= of
® Don't Store Medicine for Too Long ois 14z eziser waistx| 2otat
@ Drugs That Control Fish Hormones 2u7jo| 5222 xasts of
& Be Cautious When Throwing Away Medicine o= w2l uf zastat
2
2 What should you avoid when you get rid of medicine? Write two answers in Korean.
ofs HE mf 2AS mSHof sh=71 F 7HAE SELE MA|Q.
1) Mm|7| S0 Hel= A
2) B710f Lizz2l= A
3 Write T if the statement is true or F if it is false. 0| 2¢| L&} 2x[al3 T, 12K oD FE MAQ, 3
(1) Medicine can affect the gender of some animals. T
of2 U SBo| Aol Y2 1A 2 ck
(2) Some drugs can get into the water we drink. T
U or2 22|7} OtA|= 20| §01Z & QUCh
(3) You can discard old medicine safely at your home. F
U2 QeliE oFs T QS HE 4 UCH
4 Complete the table with words from the passage. o Zo|A QoS oS slo} T2 2HA5IA2.
Problem =x% Solution sz
If you (1 dispose Return unnecessary drugs to
y = N— y drug
_of  drugsimproperly, | (3) ___Pharmacies __inyour a
they can threaten the ecosystem and neighborhood.
P ) health . 2R ofg 20| Yt (3) Y25 HEF0RL
EHI0] ofg B s (1) M2IBCte, 1SS Mefiie
olzte] (2) 1YL AR 4 Uck

BB 10 2027|150 Hele R (2 #olo aisale 2 3T TE)F
4 (1) dispose of (2) health (3) pharmacies

® Also, medicine [that isn’t filtered out] can flow into our drinking water.
- [ 1= 20| @ M3iAt medicineg $Al5Hs =24 ZHACHHALEO|CY.

— drinking2 {0l 2 YAKwater)o| =Lt FHS LIEHE SZAIOICE O] 20N E “AOfA =

© Tkeep + v-ingu= AL ~oICFEl= 2|0|0|Th keep2 SH0|2 SHAIS L1
® =FAfshouldi= ~afj0F StC¥et= ojn|Z, 1Lt o] 5 LIEHHHTE

® They usually have boxes [where you can discard drugs safely].

ZH oi&

19
o
il
0
rin
o
E

= Hoz HE g ¥
Ste M2t SHE| Hel= Uy

20|28, HZe=z O
2! o =dslbot 7ty HE

mo ox
HJIO m_>._
0

18

2% @-00|M 5| g2 A4S
&HPIEOH HEALE H70f] Li2E
ME = UKD, = oM = e
Cha SHCh.

() 25 @04 2& oo
AEZAO| 27 E1V|E 7oz
B 4 Ui oHcr
2) 28 O0l|M ofat=|x|

P2l 42 E2{S0iE + U

Bt

(3) 25 @-@0lM 23}l %2 S
S0l 7FH7HA eHEIBH B 4 3!
Cf gick

2 34 &1

89| )2t MGt

= [ 1= 0l 2 At boxesE =4I5H= ARAFEO|CE BARARE THX|AL + 2AHYALZ HHY 2 = QAL

= They usually have boxes in which you can discard drugs safely.
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UNIT 07

pp.80~81

©® Dr. John Mew was surprised to find / that many problems with

John Mew HfAtE EASHA SRACH g2 70| et B2 2HME0]

facial structure / resulted from bad habits during childhood. / ® For

Of2! A" Sefol LI SRS HIREIRICH: e

John Mew HHA= 22 o) 2 example, / placing the tongue on the bottom of the mouth / could result
st ore S o2l AR Eoto| Lpu & o E S04 S Yol HiEo| F= A2 HeHEs
THOA] HIRE|QICHS 712 A A St in a short chin or an uneven face. / ® He believed / that such problems
L} @ G2 S0{ 5= 9Jo] Hico| E= HitiEel H=2S 0P [E 4 UULE = UL J12fg EXIE0
He we & we Hfalel Y22 opy| could be corrected / without surgery. / @ Thus, / he developed a tongue
5t A oloict @ T JB{t ZH} & wFE 4 At == 10| o2ty J=d 282
£ 90| WAE £ QICtn Wi} @ et exercise / called mewing, / named after himself. /

M, = XpAI9| 0|22 W 0]2 X|O{Z! WAL mewing(RA)0I2HE E2|E 1 ARO[ 0|FS WA 0|F X|0fEl

Dolojatn 22l 5 2E2 JHuBICt ® The practice of mewing is simple: / ® Place the entire tongue / against
@ Dolo| AlFe ZiTksict @ & XA Tl dM2 ZHEtsict & THE Foi2t

= QIMEt0|| ZIC} CHO|{ F0{2} @ HIEA| the roof of the mouth. / @ Make sure / it doesn’t touch the upper teeth. /

71 SILjo] @A 2E2 sz @ 1 LTl 2Tt CHo BIEAl ~sfi2t 32360l Lo EX| §H=S

S SIL|9} Of2HL|Z mojal AlejE 9 ® Then, / close the lips / while keeping the upper and lower teeth apart. /

X5t Qlae Ch20ia}. @ F|Ato| 2 JCE  YssSHoE0Et SILQFOfEiL S Hojcel HEHE R XISHHA

T2 QJsiA, T2 0|74 2lo| Cr=2o] © For the best results, / you should do this / whenever your mouth is

X ol wjoict siof st Z| ol 2RE ?I6iM YLl2 0[RS sHof Bt gilol 0| 20 IS motTt
© RS st S0, Yo o, o, closed. /

Jz2(3 20| A= 2F]S 20 @ 0jH2

o=z age ztslsn, x|0l2 124 S ©® During mewing, / you use the muscles on your tongue, lips and

X5e O £20| 51, U= DoFS Hpa Fs ste st g2 gy, s, 2|10 20 e 282 20

£ 9lCH @ B2 E35| w7} OF! xj2t cheeks. / @ This can strengthen facial muscles, / help keep your teeth

T 9l= ofzlofo|S oA ETEolCH ® O|A2 = 2=/= Lt + ULt ghlo| X|0tE 127 }X|5k= O =30| E

Stx|et LR HolE2 RY0| aASHA even, / and change the shape of your face. / ® Mewing is especially

AlThs| S22} olckn arstch =0t 02|10 Glo] d3 S HiE & ACH 2 S5

effective on young children / whose bones are still growing. / ® But even
ofzlotol|E0iA Zat=o|ct 59| w7t OFE X2t Q= SHR|2h L&

some adults say / that mewing works well on them, too! /
oIS 5Tt FAO| ASUAE S5 Za7t AT

D -
S22 ol
o

Dr. John Mew was surprised to find [that many problems with facial structure resulted from bad habits during childhood].
~ to find 0[5t ~2 LsA 2t /0|2, [2HO] 9IS LIEHS toR HALS] A SO R Mr

[lnd

= [1= to findo] SH0{ 23t st BAFHOIC 0|0 A A thatS 2ret 4 c

Make sure [(that) it doesn’t touch the upper teeth].

- 'make sure + that& 2 HtEA|[&H415]] ~5ICF2H= 2|0|0|Ct.
=make sure + to-v, ex. Make sure for it not to touch the upper teeth.

® Then, close the lips [while keeping the upper and lower teeth apart].

- [ 1= ALt OIZHLIE HO{EEgl MEHE RXISIHM 2= 2J0|2, [SAISE]E LIEtE= 2AMFE0|CE AFLES| 20| 2H5HA 5H7|
9|5 T2A+ whileo| A2HE|X| QQtCt

=T™&AL+ 01 + SAL ex. Then, close the lips while you keep the upper and lower teeth apart.
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ZH oi&

1 ol 22| FxI2 7He MBst 222
@ how facial structures change with age == 7z of=7 Lojoj wjz} Hist=x|
@ how to break bad habits for your teeth xjojoj| Ljz sz nx/=
® a doctor who studied the muscles of the face 2z 282 o175t ot
@ importance of dental health during childhood ojz! A sote| xjo zizte| 24
@ a method to change your face shape without surgery +2z gio| 2z nos uins gy

2 T2 F20f chst 2ol E|EE Wizt S0{Z U2 20|M 3ot 24|,

[E— e
Q. According to Dr. John Mew, what causes many problems with SHOM HIREUCH= S 2R
facial structure? John Mew sfato] B2, 29i0| 2= 20| Bt e 2HE op|st=TP L 30, &8 @M 1 gatef of
2 5{E Yol HiH| F= AE A
A. Bad habits such as placing the tongue ghCt
wrongly during __ childhood  m% 512 £ a1m e of2l Ajm Sote) Li st

3 2 0-00M 3 HAE AL
3 CI2 Z, mewing2 & mff 5{2| $IX|2 7HEF MASH 74 2? :

= ==

4 mewing0f| 23t 0| 22| LI} UX|GHX| b= HL?

4 O 2% @M FY2 E9] 7} of
@ It is intended to help issues related to facial structure. Xl - ol o2 = 3
348 92 Szrel H9iE SHE BEE oz sISic] S KBRS OfEI00IS o =
. . . _ 0|2} SHC}
@ It is named after the doctor who invented it. 712 72t stafe| 0|22 wirf 0|2 x|ojiCh - A
® It uses the muscles in your cheeks. nzie =0 o= 252 Atgsict O 2Z 005t wI2d= 7
@ Tt can help your teeth stay even. 7z xjop} 12 dejg Rlel=s =2 + Ch ZO| ZHE 4= 10| wHs| flsH
It works better for adults than children. 2212 ojo|s=ct Molso7 o 2117) 9/ct JHetE|Qle s oF 4 9lrt
Q= 2% 00, 2 2% 0o, ®=
=& @0l AZE[0] UE

EE) 10 2 placing the tongue, childhood 3@ 406

© whenever= S RALR, ~&F miojCy2H= 2|0|0|Ct 047| A= whenever CHAl at any time (when)2 2 HIY £ £= QICH
= you should do this at any time (when) your mouth is closed
¢f whenevere| = 7tX| o|0]: @ ~&t WOt @ AH| ~5HEHELE (= no matter when)
@® This can strengthen facial muscles, help keep your teeth even, and change the shape of your face.
- ZXE At can Fo| SAMRH strengthen, help, changeZt & A and 2 GAZAE|0] A QICE 0| M| 71X| O|Ao| BHO{7}F LIPE|IS B Z TA
B, and[or] C,2 LIEtHCE.
- "help + SAFR™ 2 ~ot= O =20] E|C}, ~5t= A2 SCPEk= 2|0[0[Ch = Thelp + to-v,
- "keep + FX0] + AEAL= ~2 5P |XIsIClEl= 20|, 07| M= Fele] X[0tE 12| |RX[SICFEt siAfsHTh

® Mewing is especially effective on young children [whose bones are still growing].
- [ 1= 2ol 2 M&AF young childreng #=Al5t= AR ZACHHAPROIC.
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UNIT 07

pp.82~83

©® Nate was supposed to be a freshman football player / at Cornell

Natel= H1244 0]4|57 448 57|12 £lof 91t 24

University. / ® However, / before the semester began, / he received some
CHstol A stx|gt 3t7|7} AlEf=]7| Fo| a= 5250l

shocking news. / ® He was removed from the football team / because of
24 S YA J= O[ASFEOIM HQ|= Ut

his social media account! / @ Nate and his friend had posted a video with
9] &4 DiC|of A1 w20 Nateo} 19| Zl13t= QISXHEXQI LIES| &= SU

o= E MM

racist content / on a social media site. / ® Although he was a good player, /
22 D|T[0f AO|E0f| HIE 3= Fofit x|t

it made Cornell worry about his personality, / and he had to leave the
0|72 A (Thaho| 12| Q1N chs LafsteE S UL O824 3= st Lok Tt

= =M

university. /

@ Social media has become a way / to judge who a person is / in the
44 0|00l £EH0] =[RACt OftH AtEfelx| Etetet= 0|=30i| A

@ D[=0M 22 D|E|o{E O ARgY

OIX| EHCtste ACH0| E|QiCt @ AKX =, U.S. / @ In fact, / 70% of employers use social media / to review job
n2xso| 70HMEY} e MY =of AHr =2 NEFS2| 7T0HMETL A4 O|C|0{E 0| &5HCt TEXEE MAFSH|
AXIRIS S AALSH| 95 AA O|C|ojE applicants / during their hiring process. / ® They search the applicants’
0|23} @ 152 BXES H=S 5 213H a9 & oy st O52 XAXES AdS 420t
AHEIT} OIE, e e E 0] 2Het B accounts / for things like photos with inappropriate behavior / and
ol A2} 22 ZS0]| chal XA EXMASHE2S ot ARRIS 22 ZS0]| el Je|n
So| AXg MuErt @ 123t 2HIX negative posts about race, gender, or religion. / ® Such content can take
L x| 7|52 9 2 /ch @ ATt QIF, MY, = Znof 2st EFE AN SE Jefst FHIEE=E FY 7|52
AlB|KOZ HIOEQ £ Q= HA|Z22 away job opportunities. / ® In addition, / socially unacceptable posts / can
O L}2IZ 92st= 71| ZHoj20| = & el == QACt Akt MelHo= golsd £ gle AAZE2
olCt @ Q0= 8t Af2H0| 0|2 H|XIE be obstacles to visiting the country. / ® Nowadays, / when a person applies
AESIH MEsp AN OjCjo] HEE & O L2HE WEste 2ol Zolf=0] & 4 Ct QEME= St AtRIO| 0|2 HIALE AIF5HH

for a U.S. visa, / the government collects social media information. / @ It

eIt AM O|Cjof YRE SEBCH 2REPE

then uses this to determine / whether the applicant is a threat to the

1 % 0|#& HEtsty| 2lsl ofgsttt MR 2 Li2tol| IgdE el ERIX| oFX|

country./ ® Therefore, / be careful about / what you post on social media! /
A ~0f| 2Hslf Z=afst2t gLlo] 442 D|C|ofof] RS AASH=RI

-
-
©® be supposed to= ~517|2 £[0] QICFEH= 2|0|2 | 2Lt YRS LIEHAL} be supposed to F0fl= SAFRIES #2L1.
® had posted= 217{2t2 AlH|(had p.p.)2, 0| 2EOIAIE TS| SF AIFECH T 0FH0f LAsH Y, = [CHIIH]S LIERHCE 17} 0]l
TERIOIM M =AU 2HAQ] AI-ECHH o|Xo g SRUCH= 2|0]o|Ch
® Although he was a good player, it made Cornell worry about his personality, and he had to leave the university.
- Although= S2AMFEE 0|11 HHALE, HIS[THX]] ~0|X|2t ~stEHat'2k= 2|0]0|Ch
- 'make + 250f + SALRIE,2 7} -3l 2 BtsCiats o|ojo|ck
® Social media has become a way to judge [who a person is] in the U.S.
- has become2 &ixjj2tz AlH|(have p.p.)E, O] 2&0lM= o0l AIZHEl Lol Sxof| Bt [2tZ]S LIEHHT]
- to judge O|5h= ‘01 AFZIQIX| LEHSH="0|2}= O|0| 2, toRFALS| HEAA EHOE M0{ a wayE A5t Q{Ct

|
= () TO2 A + 50| + SALS| HHOI22O2, to judgec] 0] 2{&tS 3t Ck

52 | ¥of HHS =0i=

rir
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EE) 1@ 2Nate®t 12| 277t QAZRIETQI LB YAIS A D|C|0f AtO|E0] 221 A

ZH oi&

0| 22| 2X|2 713 HHst AH2? 1 NateQ| AlZ2 S0{, 24 O|C|0{of
O 24 Hto] F5& AE| gl AL . ST RN AAZZ st o2 2
@ 24 "t} g B3 XY ARt HE 4 Qi ol e + A= 2E ZYsHor
@ &4 mdofol gt 244 Q14 o] F7}stal it g2 MHsh= 20|22, QX2 @
& 24 vitiofo] ANZE 27 W AF s} ek, b 7pat e

® 24 "tjolg B3t A FE F-Zol Aok St

o] 22| ¥E ! it0] 2|0|5t= LHES REULE MA|R.

Nate@t 19| F77} QIEXHE
Nategl’ 19| 7&'-_#% E'%ﬂ”éx—*‘o._' LHg-Ql Oci)é"% ig D|E|O1 )\l‘OlEOﬂ %EIJ 7)j LH—Q—Ol P E= —)‘\—AEq D||:|O‘| A}‘O

0| 2o| uizio| Soiz U= I3 XHs 242?
@ to gain work experience % zals ol
(5 to judge who a person is o sjzrel

]
E_\
il

_O'I_

r

® to learn online etiquette ezfol of=s vje=
@ to search for better job opportunities cf z2 zjef 7|51 2=

L _— 712 5= AL ks
® to apply for admission to a university cisto| elsie 2zsi= OIEI017F OIS St 0l =l
Ot i, JIZE oM oj=ef 7|
0l 22| LhZO= Ko}, Lt Hizlo| S0iZ TS 201M 30} A2, B AN ES IR LR
7F Ot ALEfRlX| 2telst| 93]
Today, pejople who make inappropriate posts on social 0|C|0Z 0|85k QICHD 34t w2}
media sites may have trouble going to a university, getting a M HIZIO|= @ OfE Af2tOIX|
job visitin
J at a company, or 9 a country. 3H="0] 7}EF M= SICH
R, 24 0|C|0] AO|EY0 SXHES AAZES 22! RS2 TS0l 7I7LE SAt] ZYUS AALE E= LRtE U2
Ste Ol 2HIE 38 =& AT

3@ 4 social media, job, visiting

In fact, 70% of employers use social media to review job applicants during their hiring process.

- THIZ/25 + of + YALIZL 22| F0{2 MY HL, of 70l L= FAt0l| w2t SAte| =7t 2FEICt 0] 20|l = employers2t= S

YAt 2t F-SAF useZt MACEH
- to review job applicantsi= ‘TEIXISS AALSE7| Qlaiats 20|12, [2X]S LIEHHS toRFAL| BAR 8oR Meirt
visiting the country= TIX|Af to(~0f)2| SH0| A& S Ste= SBAO|CE
of "HX|A to + (8)HAL: a secret to(~0f| CHEH H|Z), look forward to(~5H= 742 7|ch3ICh, when it comes to(~0f 2l A 2t3)
It then uses this to determine [whether the applicant is a threat to the country].
- [ ]= to determine?| £X0] &S ot= HAIEZE, O|u HAFE TLAF whethers “~QIX| (OFLIX|) 2t siAIEHTE
Therefore, be careful about [what you post on social media]!

- [ 1= "2ZAL+ 0] + SALL| ZHHClEE 2=, be careful aboute| %101 9gtg shal ULt
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UNIT 07

OF AMES =2 RS IER &
2PISITL @ 0| BESE AR5 ¢
7| efRIg, nje E2pRel shEo| W
SIct

312, SATC ofstel onise
IIYBAVRIZ 01Z5i0] D4ABESE
RlEsls Z2OYS AYHCL @ IS
2 4 ¥ S0t DABTES 90 YT
RIZRIS0Z T2IUS ALY
© X|2 S0 AVIRISS VRAEAS
ST 7kyel 105M2 ATSolH ¥
71X 2HE ARHCL © ANE ARE
0l BEE O &7l OPAUES 57| 2ls
oI AES HASIACL @ 0I5 501, 1
HSS LIRoIM DRolZ RESHE 2
YER E CI2IS ZojM ALE X, Ei
AX|0] L= D2HS Bt 22 EaRCH
© Ut FIIXISO| 3 ol HBHCH
B, 1SS O £2 08 S27tM £ 3
Lte| RIS AlZHE 20|t @ 0] o
2, 252 250 A 302H2| VR 3|
2 YSSS BOHC @ OIXIY $5 &
o, 152l o 70HMET} B H S24
BCin e

D -
S22 ol
(2]

pp.84~85

©® Some people are extremely afraid of high places. / @ It isn’t easy / to

Ol ARIS2 &2 RS IE2 FAsict 2% oct

treat this phobia, / but a very effective solution has been found. /
0| ZZEE X|=ol7|= oA O FupX{Ql Sl ZH0] HALIRAC

® Recently, / researchers at Oxford University / have developed

52 SATIE tiste] @7elS 2 z2 e st

a program / to treat the fear of heights / using virtual reality (VR). /

ESSER = = 7S A (VR)Z 0|83t=

@ @ They tested their program on volunteers / who had been suffering

JS2 s RS XRIXS0lA AlRsH 2 AT =t d S 2R LASEE)S

from it for decades. / ® During the treatment, / the participants put on a
SLO0F AT X = st ZIIRIEE VR S E4lS =E3YCH

VRheadset/and completed ® several tasks / in a virtual 10-story shopping

Jeld RO MHES =Lt 7teol 105H2] AHE0A

mall. / ® The tasks were designed to be fun / to help people overcome
J NS 2 MMoIA=E HA AT ARRHE0| 59 32 E O &7

their fear more easily. / @ For example, / © they involved / rescuing a
O[AUES 57| /sl oE S0 RS2 ZYRCE  LHROIA

cat from a tree, / walking across a rope bridge, / or even riding a flying
IYOIEFESI= R HEREHUEIEHOM A=A £= YX|of L= N2HE Ele A

whale! / ® Once the participants succeeded in one task, / they would
LTk FIIXS0] & 2hd|of &SR asedE2
go up to a higher floor and start another. / @ In this way, / @ they went

FO= S27HM K shte| AN S AlRHE Ziolct o] P2z as2
through 30-minute VR treatment sessions / over two weeks. / ® After
302M2| VR X & 2552 20t ol Z2HMAM

the final session, / about 70% of ® them said / that they were much less

otx|et 2s =0 59| of 70 HIET} 23Tt TS0 "N E Sttt

afraid! /

It isn’t easy to treat this phobia, but a very effective solution has been found.
- [t2 7}30{0] 1, to treat this phobiaZ} ZIZ=0{0|C}. O|tf 7tZ=01 it2 2 siAISHK| =Lt
- SSE7L EXRtE AR 2 At SRR AlFl= have/has Fo0| HARAKp.p.)7t LEZ, FHxietE AF|2| +=SEli= Thave/has been

+p.p..7t ElCh

® Recently, researchers ~ have developed a program to treat the fear of heights [using virtual reality (VR)].
- have developed= &ixlietz AlH|(have p.p.)E, 0| 2&0lAM= 170l A|ZHEl o] &xHol| Bt [t=]E LIEHHCE sixietz AlM = &
FE LIt mj= =2 recently, just, lately, yet, already S0| &7 AQIC}

- to treat the fear of heights= ‘142
- [ 1= &0l 2 a program2 +4{st= &%

=

ZES X|=oh='0|2t= 2|0| 2, toRHAS| ABAME 8O = 40 a programS =45t UL
HEATE, Ol using2 ‘0| &5t="0|2t11 siAfstCt

54 | ¥o MES =0{F = Ctst sty Xt MlS HackersBook.com



ZH oi&

1 ol 2e] uiztol Sojz Y= JkE st 22?

@ failure wuy @ darkness ofs Ol SHZARMO| LALLM, T
® crowded places rzso| 28 2 @ deep water 43 S ch2tolM 1AZZZS X|F5
@high places == = = VR m2 0o Chal Amska Q)
Ch M2k gizkol= © =2 30| 7+
2 0] 22| LE I O~O F, 7I2|7|= thito| 22 22| BX|ofZ 22? = MESICH
OJONG) 20,0 ®0,©
20©,@ $e,©

3 cig &, VR A|Re] YB|S 74 u2A) ofshzt ARte?
© e o] £l ee Tkt WHOR HASES 9,
@ HE: FHEL L7t UAS Tetst > YRS 4,
® A3 S9sHs el sl AL ST 3 ol71ShES 9.
@ 9 S8 oA wrlth S BAS AT,
& 23 ge BANE TR WA SN ES 8.

S22 270 ZXMA BOkRCH
4 VR x| 20| 25 o] 2| L1} YR|GHK] U= He? VR X|=Z2
2| =5

@ People who have a specific phobia participated.

S SEZS 71 ARS0 FIRAC

[l

@ One of the tasks involved riding a virtual whale.

WS & stttz 7Hge| 12HE Bt A2 ZERICH

& Participants went down to a lower floor after completing each task. Ht=7] ofstigh Atz 23/0|Ch
RIS S 2 2 2Zst 20| OB LhRCH
@ Each session of the treatment took half an hour. B )
xl=e| 2t g5 2 30%0| Z3Ch 4 O 2 O0IM H7IX7t ot 2txof
® More than half of participants felt less fear after the treatment. MNIFCHH O =2 E02 22170t
X & 2o EIIRtSel it 0|40] SEE E =7Ch _
a3
O: 2% OIM 1A3EFS oUH
NexES tidez T2Og Al
STt YC.
Q= =% 00, @= 2% 00, O=
2% @l A= =/0f ACH

EB) 16 260 36 40

O had been suffering2 "Thad been + v-ing,2| DtHAZ XIS A|H|Z, DA EF A|FELHH OF0| AIZHEl O] O A|-TIK|E A& Il

x|
BO|ASS LZ5t0] LIEHHCE XYXIS0| O R T2 S AYSHRE 1 GAIA =4 E S UASZSS g0t 2ACh= 2[0|o]C.

® The tasks were designed to be fun to help people overcome their fear more easily.

- be designed + to-v,= -5t & M| =|CF2H= 20|, fdesign + JZ{0] + to-v(~7} -5t 5 MAsICh 2| ~SE F30|C

= Researchers designed the tasks to be fun ~. (A3E2 1 21H|S0| xHO|QYEZE LA RLCE)

- to help 0|5t= ‘AIS0| SEE O &7 O|AUESE 57| flsi2t= 20|, [FA]]2 LIEI = toR-Ae] 2AMY 8oz ML
@ Tinvolve + v-ing,= ‘~5l= 248 ZESICPEk= 2|O0|0|C). involves= 2X0{2 SHAIE 2L} 0{7|A = involved2| Z2X0{2 rescuing,

walking, riding0| 0|11= SHAFR7| &AL or2 1A Z|0] AL
© Oncet ‘Yt ~ol, ~oiXiOfats 2|2, FAPEE 0|11 HLALZ 240 Slof '2:0{ + SAf2l Ho| 2Lk

of §Atonce: @ st &1 @ 0|F0f, Htf ex. Christine rides a bicycle once a week. (Christine® LZ=0j| 5t & XIS EIC})
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0|2 ZH|7t 2/E|5t7| AIEFRYCE
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pp.86~87

© Imagine yourself with one billion dollars. / ® You might think about

109 B2 7hl gl RIS Arasstetat T
buying / a luxurious sports car / or perhaps a private jet to travel around
=2Ert U AR RTIE = O E T MIAIE oflist| 2t TS

the world! / ® But, / what if you couldn’t even buy an egg / because three

SHX|2 rof b0 Azt st LR} & 4~ GiTHH ofEnt Azt M o]

eggs cost 100 billion dollars? /
1,000 &2{0[7| w20

(B) @ In 2008, / this actually happened in Zimbabwe. / ® Zimbabwe

20080 0[R2 HBIE A HHIZ LOIR{C e =

was once one of the richest countries in Africa. / © But its economy
Shf ot 2|70l M 7t £78t Li2ts & SHHRACH Stx|2E 2zdo| ZR7t

began to (d) grow (- decline) in the late 1990s / for several reasons. /
1900LiCH Stol] SFBP7 | 2IEI517]) ARCH wololgse

(A) @ The first of these reasons is / that severe droughts sharply
olz{st o|7E & A M= ~0|ct =48t 7t=0] 243
reduced crop production. / ® Furthermore, / economic policy failures
A2 NS LA R Akt 28| =3 Anjot

and political corruption / increased the national debt. / ® As a result, /
R 27t =7t BE ST e )

the country became short of money. /
3 Liets =0| BESHATt
(C) ® The government tried to solve the problem / by printing more
HRE O 2HIE siEsta 0 =230t o M2 =2 g¥ste
money and creating larger bills. / ® Unfortunately, / this only made
O 2 (Sl XNHE HF22MH RU2EAE olAd2 =x7HH

matters worse, / as the money became less valuable. / @ So, / the price
oot =5 OHE7(|2HSICH =0| & THR| 7| Eofl w2t JeiM AEC| 70|

of goods rose sharply, / which resulted in hyperinflation. /

=5245] &St O3 o|R2 stolm{elE2i|0| S of7 | 31Tt

® In the end, / people used one-billion-dollar bills / as firewood,

2= AEE2 109 E2i2| X|HSS AHSRiCt =,

wallpaper, and even toilet paper. /
#x), 2|3 AlX|o] EX|2

You might think about [buying a luxurious sports car or perhaps a private jet to travel around the world]!
- ZEAF might= ~8X| = DEC} ~8F £ QICF2t= o|0|2, mayRrt S5HAlst x5S

LIEHAHTE

= [ 1= XA+ about(~2, ~0i| thal)2| FH0| Hets ot= AT,

- to travel 0|5t= ‘A MIHIZ 043l5}7| QI8F0|2H= Q|0| 2, to 2 ™AL YEAIE ¥ O 2 M0 a private jet

U

S445tn et

® But, [what if you couldn’t even buy an egg because three eggs cost 100 billion dollars]?

- Twhat if + £0{ + SAtQ| IpHH ~?,2 7}

Y A2, ~BICtH OE72h= o|0|O|Ch B Atadt BiTE[AL X2 20E 7Hs40|

A2 og2S 7Ee o 2010t 0 2F0IM= 109 HEj= Algh o & A 4 gl ANE o 7540 M2 oS 7Hgsta QICh
=Twhat would happen if + £0{ + SAtS| It ~?, ex. But, what would happen if you couldn’t even buy an egg ~?

©® Toneofthe + Z{8a + S+FAbs 7HE ~8t - F SiLf 2t 20|o|Ct.

56 | ¥oj AMlEE =0{FE CIef6t 515 XIZ MG HackersBook.com



ZH oi&

1 What is the best order for paragraphs (A)~(C)? cizf ()~(0)2] &M= 7ta =5t 2122 1 72t M| 0] 1,0009] Zh2{ol At

@ (A) - (C) - (B) & (B) - (A) - (C) JbEt 3, 0/240] AlxIE Uojute
®(B)-(C)-(A) @(C)-(A)-(B) ZIHIEQ= 1990 SHHRE] ZH|

® (C) - (B)-(A)

7t 2| El3HCH= LH&2| (B), G714
Elst O|get & O At Liztol =
2 Among (a)~(e), which one is NOT correctly used? ()-(e) =, »2j0| =zsx| 22 72? 0] BEsESS Mojsis (A), 0|0
@ (a) ®) ® () ®/ @) ® e HEIh O g2 E2 UM 2XIS
_ _ _ sl Zst2 oLt ol 23(2{ stolnf
3 Wh::_1t does the underlined several reasons refer to? Write two answers in Korean. olZa)|0|MS OF7|3ICH= LHR 2| (C)
= Zl several reasonsZt 7}&\3% 742 20101712 £ JHK|E LE|UZ MA|Q. _ ~
m I8t 7H20| 32 WitEre 37| AT ol 250] 7K MEsitt
(2) 4H| éi—.” Aot XA Luf7t 27+ EME SIHAZ A

2 tt2f (B) Fofl O]ofX|:= et (A)0]| A

742, BRI HA A, RN 22

4 Choose the correct one based on the passage. 0| 22 vistoz ate 712 1249,
ols| Hut=gl7t 20| HEsHFCID
Cause 29| Effect zz _ _
0, Ol= HBEe] M7t 2[5
A country f: hor f i _
country faced a shortage o It (2)(1ncreased/)the I% | SHS4510 2, (d) grow(AJAHs}
(M ( / products ), so the value of money and (3) ( [increased) / CHZ decline(4|E|5iCho2 TR0k
government produced more and decreased ) the prices of products. st
more of it. J300] £9l JIXIE () Z2AZID 4E0| 71HE (3) B -
LIRPE () £ 230 Hetaly, 390t MY o Be £g | ZARG
2HSO{iCE 3

4 () 2% e, 0oA Lizio| 20| 25

SRR HRE O g =2 Waksio]
SR|2 siZstad $CHD FC,
(2) 25 9-@0IH HEIC B =
S wast 23, 0| & 74| A &
BN AZo| 7}2{0| 325| An3Ct
2 e

EB) 1@ 2@ 3= UAAZ 2 (2) ZH Y= Ay
QF HAIN Hui7t 27 EME S7HAIZI A 4 (1) money (2) decreased (3) increased

|:|>
o
N
o
=]
bal
NHo
=
r
i
[0
el
Y
ol

O The first of these reasons is [that severe droughts sharply reduced crop production].
~ [ )2 is2l B0f 8HS She HAPHOICL Olm) BAPE F4Af that M2rst 4 Qlch,
@® The government tried to solve the problem [by printing more money and creating larger bills].
- try + to-v,= ‘~ot2 1 = 2ASICPE= Q|0|0|CE  of Mtry + v-ing.: (A& Afoh) ~3H =Lt
- by + v-ing,= ~&t2EMN, ~sliA'2t= Q|0|= ~EHO|LE S LIEFACE 0] 2&0l|Me= YA} printingt creating0| F& AL andz ¢
7”E| 01 PN [_‘_|-
® "make + SX0] + YBALE= -5 BFSCFek= 2|0]o|Ct,
® So, the price of goods rose sharply[, which resulted in hyperinflation].
- []= o 28 THE M™ARE 71X= AN Yol 2ATHEAREO|CE 07| Mz TI-G| 0|Z(&E2] 7H240] 225| 453t
CFEt sHAISHTE

i
F|6
_O'I_I

[
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pp.92~93

©® John wants to buy a pair of running shoes. / @ He searches for
John2 2{d3} o HB{E At 410 Bt JE= JRES 242

I —

them on an online shopping mall / but decides not to buy them. /

- AYES0l|A HASHTE SHX|2H OASS AR 247|2 ZFsitt
© John2 2|5} 5t Zay|= ApT Alof ® A few minutes later, / he goes on another website, / where he sees an
o= c == 9y = 2 3 =
M ZAMBHR|EE AFK| 247 |2 ARSI @ advertisement for those shoes. / ® He visits several others / and notices
Aldto]| CHEF 2t = = O oddd 2 2 E(QIAO|E)S HEZSHD
E;I'i'E"II:"O“, JEE}'§QEJ!A|'O|EO‘”%O‘I7|' \_EO“ H|_ olL=E T |' —= X=x I“\_ =3 f I—)E o I'
L] 0|R20jA 1= 1 Aldtol| chEt 2o the same advertisement again and again. / ® Eventually, / John clicks the
= S0} @ T T Cj2 WAIO|EE 020 2 BaE ¥ woln Ert oFEL John2 1 B
D51 2 W= @ Bo| 1 20f @ Of advertisement and buys the shoes. /
_ 2zl O AlEre A
JSLH’ John% a Té"—“—% %E_‘.IgHA1 a A|_I SaloiAM I M-S AT
BFS AL} ® Have you ever had the same experience as John? / @ If so, / you
@ ':él')f_l% JOth_'_l' jEI-% g@g 6”% A2 Johnt 22 A S sl &0 A&7t oref J=ICHH
0| Q=77 @ DroF LW chAle might have wondered / why you see the same advertisement on
(PNE=X sHS | 3 lo a2 FSt 2l = =
o 2o TE Clorst FIALO|Z0IA & gl 2338 4 Uct SHA10] 9 22 DB st WA ESOIA HEX]
X 23S A5 9ict @ 17 T different websites. / ® It’s a marketing method / called programmatic
712 n E| HitH = 12HOHE! 2t Egle
EJEHDHE %I'_T'_E,l'_T'_ %E'lE Dl_;_”% 'E';Ft.':.* — A= |'9‘”o =] ::.O|Cf —E—EH H—| o—l—al'—l— Ealn_
O|C} @ I74S = AH|XIST A advertising. / @ It uses an automatic program / to match advertisements
TS KIE T2 e Ales = A =1} o =
A|9|E Xl’% EEJ%{% Al'g‘s._l'l:}'- @ Eol- JA2 XtE ZEOMS AFESHT} A NE AHXED AZAT =
Alo| 22l Atol| M Roi7tE Z4Mst o} to customers. / ® Every time you search something online, / Internet
CIAIQ| LE2IOIAIA BT} 2 ZHAAHSH ofC| Ol
[} olE{ul 23]} BHSOLX| T ChAlS) 7] SHlo] 2ajeldolM 291718 2 wotct olE{
710l MEEICH @ 0] 7|2 ALRSI01, T cookies are created and stored / on your device. / ® By using these
23S ChAID| THAIASL MBS EE LA 7717} at50{x| 1 Kt =418] 717]of o 2712 Algsto]
SICH @ 1 CHS 7242 ShAle 95t 2|1 cookies, / the program analyzes your interests and preferences. / ® Then /
- I m=2HS CHA|O| TFAIAIGL M E2 EM5iD A =
JHSA0| O] =2 A=A Mefxoz it shows the best advertisements for you. / ® Since advertisements are
o A2 o5t & un= 2 HEA =
H0|7| w20, Ant= 1 Snkxo|ct J2 YilS fIgh 2l 08 HO{ELC} 207 MERRMOZ HO|7| mf2o
selectively shown / to those who are more likely to buy the goods, / the
IHES #7580 H =2 MESA
results are quite effective. /
3 Zit= B 2ot
D -
;2 ole
® He searches for them on an online shopping mall but decides not to buy them.

- r'decide + to-v,= ‘~8}7|2 Z&sICF 2= o|o|o|Ct.
- toBX AL EXS 2 to Q0] not[never]S 20iA LIEILHC}. ex. He told me not to be late. (7= LHA| &=X| 2to 2sict)

®

A few minutes later, he goes on another website[, where he sees an advertisement for those shoes].
- [ 1= &0l 2 another websiteE MEAIZ 7HX|= HEH SR Q| A ZAFHO|CE A EAL wheret when2 H&X HoZ MY 4
QUCE 07| M= ‘| O|(CHE YAIO|E)O| A ~5tCf 2f0 sHAISHTE

— —

= A few minutes later, he goes on another website, and there he sees an advertisement for those shoes.

@ If so, you might have wondered (the reason) [why you see the same advertisement on different websites].
- If so= ‘Bref J-CHH'0|2k= 2|0| 2, 0| so= ol L2 2&2| &S TSI

= If you have ever had the same experience as John, you might have wondered ~.
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1 ol 2l HZo= 7bat HHS A2?
@ How to Avoid Online Advertisements ezfol Zn= ujsis g
@ The Best Way to Find Products on the Internet olejuisofi a2 = 2|m0| g
(5 Programmatic Advertising: It Knows What You Want

EE]EHUHH 2t a7 E}-A|o| ool OJO). x| ot OH:)-

N =_c} TAE T =L X

@ Internet Cookies: Why You Should Be Careful with Them 0| RS Yst=A] & Ukt
QIE{ 27| of JXES ZAsHOF st J4aF MESICE
® Programmatic Advertisements vs. Traditional Advertisements
m2Tajofel 2 of HEHSl 21
2 John2 2{dStE 2210 2T Z0|A
2 th2 5, Johnol 42 i HAt ALR F4a ST 222 M5t 0|3 CHE WAO|E0IME 2
@ “aA n|tiojo| N Fasls A= Tg._— :,Luﬂsh:} ” 2 0l oigh duE Z #o|n 2t
@ AT AL AES HAE ofe] £ Bo)A v mTE” CH $4CE ks Johno| ZHE Ua
“AAYPA A Fo] FIE TE Ao lE M= £}t 7+ H|E A2 MRS HE2|
@ “Folst Adldlo] FaLsts AFS Attt ZNE CIZ AO|EQME 2CHe @
® “HZ 71 Wol Fig sk e AES AAFT 0| 7FRt ®ESICE
o =
e ) 7 =0z I:H At MASE 7HL2?
3 0| 22| uiZto]| S0 U JIE M A7 3 BI7H oo 2 2H0| A|xio| B
% to lL)lse tl}lle Intezlnet O_\Eii'% A8 dAtet MSES Mol 2|0 Z1
tobuy the goods = 422 4 2 HOIECHD o, wizho| Y 2
® to show the products to others ci= Afztso 0 4z woiz
. . oM Z7F AFRSA MEIROS
@ to read online reviews ezjol 57|= 9l2
= Z47 fnivs|
® to share personal information 7ol Hz= zgst £ 20|17 w20l Z2iot 2atH0[=t

4 o| 22| Ligo = Ko, CHS Rzt S0{Z U2 S0l Hot M.

Programmatic advertising displays the perfect advertisements based
on an analysis of customers’ interests[preferences] and
preferences[interests] . This happens as the program gathers

information from what they search on the Internet.

ZZJefojEl 2.
0|71 Z2 a0

EE) 1@ 20® 3@ 4interestslpreferences], preferenceslinterests]

- "might have p.p.,& ~8g & QUL ~HSX| T Z2C¥2H= 20| 2 o7 AEO| Ci$t kst £S5 LIEFALY
- [ 1= ZHEAEZ why 2H0f| M3liAL the reason0| A42ke|0] Q\Ct.
© tomatch 0|3t ‘D= AH|XISD =

St AIZA|7|=0|2k= 2|0| 2, toR™ALS| HEAMY 2802 M0] an automatic programE 4415111 QIC}
@® TEvery time + Z0{ + SA,= ~& mjOjCFEt= o|Ojo|Ct

® Since advertisements are selectively shown to those [who are more likely to buy the goods], the results are quite effective.
- Since= '~ WZ0f'2t= Q0|2 RFAES 0|1 = HLEALZ M0 70l '320] + SALS| HO| ATt
of T1& AL sincel| & 7HX| Q|0f: @ ~ R0 @ ~ O|F2  ¢f T™MX|A} since + HAL: ~ 0|2
- [ 1= ool 2 MeAF thoseE A 5h= =24 ZAHYAFROICE 0| those who= ‘~Shi= AFRFS'0[2F4L S4BT

- be more likely to= ‘~&F 7}=A40| O] =CFate o|njo|ct 0f7 | 'g%; A 7H=A0| O =CpabD siAstc)
of be likely to: ~&t 7H5A40| QICt ~& 2 ZIC} of be less likely to: ~& 7HsA10| O STt
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© Believe it or not, / what makes strawberry milk look pink / is a dead
ALE ZALE LI RRE BSMOZ HOA TtE= A2 2 Hefo|ct

o=

bug! / ® It is a tiny insect / called the cochineal, / which lives on cactus

aRe A2 230I0t IR0t 22l JRE olz2 SEOo A=
O UL} LI} W] 9= BEM in Central and South America. / ® These insects are collected, dried, and
o2 wop| aleL 212 Ze wao|cH Melarg o At ol 2552 HFED, YRX|D, 220 IR
® 172 Ix|Hojetn Bajs &2 @ crushed into a powder / that is then used as a bright red dye. /
O =X S AMO4S} HEFZ FAH OF K| =
solof, o212 Fdlof ol Molgs = T eeRsnEss ess
o1 A} @ O] &S M EIE| T, 22K ® Cochineals have been used as a natural dye / for a long time. /
D, 32|00 5 MHSHEZIM AZE A IRL2 HMAGZZ ALSE|0] RACt 2 AlZt S0t
2= 722 onfFIct ® Ancient Mayans and Aztecs used them / to color cloth and pottery. /
® 3lus ol At Sof Helolm T DjoRRIS T} Ok xEOIS S IHS S ALRHCH U =X7|2 2517 sl
=A== [ - oL oo
2 AM2E|0] 2T @ T DHoFRIS Tt of ® Aztec women also colored their teeth red / with crushed cochineals /
OF=Hl 0{MES T1E=09| X|0}2 WO 2 O1Al5LY|E sHCF  O7H AX|u
EEJ!&I%%J%%%%%FE*EIr7|%%‘ =Bl 01 E2 JE2°| X|0tE WMo = HMsY | JICt o7 AXLRE
M517| 9lsl AFRBICH @ OFXEl 0IMS to make themselves look more attractive. / @ Today, / cochineal dye is
o RSSO HjEEoz wo|sE ot 2S xHig o tfefslo Ho|=E ptEo| Sis) esy  axdYE:
=7| Q5 o7 AX|LZ X0} w7 widely used in products / from food and drinks to cosmetics, / including
AtZ =0l A OAT} ST HE SlRIE 2IAEIS T5HS
oz %‘&‘16}7|E §}|.“:|_ e Qélé}, iil'él SESO 22| AR EICH =430 SERH SIEEK] ZIAElS ZESH
Y@ AT SRRE YAES HElE lipsticks. /
PSS &E0l 22| A8 EILt
® SHX|BE T749| AFRO|| 5t 227} ® However, / there are concerns over its use. / ® The protein in
oIt @ Tx| lZof Q= chixlo T Stx|at O249] A2 ot 2247F Tt X g=of A= @S
o ARRISO|H U 27| e S 2oz cochineal dye / can cause an allergic reaction in some people. /
odod == otpy| = HI22 oloZl A O]
S|ME|T 9ler 12230 ojEs o ©® Furthermore, / too many cochineals are being sacrificed / —it
® TetA, 7|9e o Me Akd ges takes more than 100,000 cochineals / to get a single kilogram of dye! /
AF513 D w25t 9lct 102k 02| of&fe| FX|LO| =Lt 1H2OMo| P E A=t
® Therefore, / companies are trying to use less cochineal dye. /
t2tA JIUE2 O H2 IR GRE AI8st1 st Qlrt
D -
;2 ole
@ Believe it or not, [what makes strawberry milk look pink] is a dead bug!

- [1= 282 0] A st A CHEAPZO|L]. ZAICHEAL what2 MBAE Z8lst0 lond, ~5hi= Z'0[2k= 2|0]o|Tt. o]t what2

- = O

the thing(s) which[that]Z HIY £ 4T QICt. = the thing which makes strawberry milk look pink is a dead bug

®

It is a tiny insect called the cochineal[, which lives on cactus in Central and South Americal.
- called the cochineal2 2t0f| 2 a tiny insectE $=Al5= 2t E2A0|C. 0]l called= ‘~0|2t1 E2[='0|2t1 sHAISHC].
- [ ]= 20l 2 the cochinealg MEAIZ 7HK|= &% 8-2| ZACHYAFEOICE. 047 & ‘23| 0|Z4(2XIE)2 ~ICF 2t siA{SHTH
® These insects are collected, dried, and crushed into a powder [that is then used as a bright red dye].

- [ 1= 20l 2 a powderE =Alst= 2 ZACHHAPRO|CE
® have been used= =SEf7t ST|RtE A[H|Z2 M01 ZI0|CL X 2tE AIM|= have/has FlOf HHEAHp.p.)7t LEZ, SixietE A|X[Q] 4
=Ef= Thave/has been + p.p.,7} £IC}
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o] 20IM AZEIX| p42 222
(D where cochineals live zx|=0| ofc|ofA At=x|

@ how cochineals are made into a dye 20| o= =2 pr=ofx|=x|
® how the Aztec people used cochineal dye o=si a0l 2%
@ what kind of products include cochineal dye o z50| 4=0| 5212 eiz2 =atstn x|
& how much protein cochineal dye contains =x/ =0 2ojLt 22 crEo| Sof x|

o HRE O{FA ABHET|

2x2 YES| B £ IINE Q2R ML,

(1) B0 I BTl T ARSI 22| 832 Ao 4 olct
@) L1 5 2xI<l0| 8|48 D ct,

0| 22| HIFtof| S0{Z Y= J1E MAst 212?

@ are conducting research on food allergies s 2270 cfst o2 Malstn gict
@ need more cochineals than before ojxizc) o 2o 3x|ds woz sict

@ are trying to use less cochineal dye cf xie 212 giz= Argstzin weistn ot

@ develop products in different colors Azs ciofst saoz Hpersict

® mark cochineal dye on their product labels =50 4z sz 752 eizs w75

4 2x|d ®=o| 8ES Tk} 0| LIER f, wIZH) S0IZ LS (E70M Zat MAlQ,

products present concern ancient appearances
HE ol 3 nche| Q=
In (1) ancient times (1) 2ciof Today six
« To color cloth and pottery To dye (3) products

2710 EXF7 |2 A5 | 2|5 . .
R EAIE G4 2lel » such as food, drinks, and cosmetics

A, 88 J2|1 siFED 22 3) 428 PMs|

« To enhance people’s
(2) appearances
ARES (2) 2B E &AIF17] 2Iak

i
J

ol
=

H0

EE 10 20 G20 U CHEo] R ARSI L|27| B8 Yo 4 Qlrt

= =
(2) HF B2 IX|Ho| 5|z itk 3® 4 (1) ancient (2) appearances

(3) products

ZH oi&

©: 28 00N ZX|E F=0l| 2
27| 85 go 4 Qs HE
Of RACt:= X2 2 Z49| 2fof| T
g Ag2 gich

©: 27 @M FX|d2 SHolo
A= Melgs Hu Mrrn ooz,
S0 X[Hof Akz AE & == UL
@: 2 ©0|M ZXL2 MEE D,
XD, IR SIMMM HEZ AL
SEICHD STt

®: 28 ©-00M O =H AHE2
XL FRE 2 =] EE R
Ot PM5H7| I3t AFE AT SHC.

ozt
¢
=2

= M IR H=0fl A=
CHHEIO] R ARZS0IA 227
gSs go &+ U= Hth 3R]
2 YRE Y| Qs R B2 =X
20| & 4E| 1 ATt YLt

2IZh oM XL F=27F RE AREY
SoA g 27| Brgs dod 4+
o aRS HS7| A HR B2 2
XE0| & dE|n ALHM %=
He dgsicnz 7|0l AX|L
2 MBS MHE AYE RFE =
ACE MR giZHfl= @ O X2 2
g GRE A8t =25t
CHot b HEsict

Aztec women also colored their teeth red with crushed cochineals to make themselves look more attractive.
- to make Olst= "5 AtAlE O Df2 MO 2 HO|=5 OHE7| fls2t= 2[0|E, [SE]E LIEH = toR ™ALL EAMY 8HO = MAALY,
- toE Al to makeQ| 2X01{7} =0{(Aztec women)2} Z+2 CHAIO| B2 X CHEAHthemselves) 7t A QLT

Tfrom A to B,= ‘AR E B7IX|'2t= 2|0|o|C}.

Furthermore, ~ cochineals are being sacrificed—it takes more than 100,000 cochineals to get a single kilogram of dye!

— e} BRI AR MU FI AFIS beSAt Flof HHHEANV-ing)7t QO 2, ST AIRIS £Sel beSAte] S +

being p.p.,7t EICL

- Mit takes + (A2 + & /=/AIZE + to-v.= (AIRHO]) ~6h= O] -2 R &/=/A7H0| SLF, Z2|CFEh= 2|0]0|C}. 07| M= TZHE M9

o2

=5 = o102 0f2| o¢el FX['L0[ St siiAMEi,.
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pp.96~97

©® African Americans typically have curly hair. / @ They can braid it /

OfZ2|7H| D|=QlE2 BE S&02|E 71X Tt Js2 %S g8 + At

or let it grow naturally into an Afro. / ® But until recently, / these styles

= 20| XA A OfZ 22 X2t & 4= UCH SHX|2H & Z27HK| 0l2{gt AEtASS
SegE mAH were (A) rejected in some workplaces and schools. / @ That’s because /
=2 nja|= T UL 2 Y S0 St S0 HEEACE 72 ~ 2o\t
=1 = 5
o232 X E 4 9 thejy were conm?erec% messy and udnprofessmnal. / ® So, / many African
_ _ aAHE =250 MBIIER| 2sictn b sz ote ofm
Ch @ ai[gt E|2TIK] of2{st AEfelS JHE0| XKstn HE7IYR RaiCtn 0743 aeiA - e ofmap
ol xIxbDp SO A HEEQICH @ 1 Americans, / especially women, / straightened their hair with harsh
_ |t i=X=} Es MNMES 0| HEZ|E =5t 5lsr 2XRI2 A T
HS 70| K25 T M2IICx| 2 | =S E5| 0{4E2 J5°| ME|E 56t stet 22 = 27| HCt
5t | o chemicals / or cut their hair short. / ® Others wore wigs / to hide their
tmaj7 o = 50 H2|E A =R CIE AE2 7tds ot OS2 ettt

natural curls. /
EE =R

©® However, / Michelle Obama, / the former First Lady, / proudly

SHX| 2 Michelle Obama(0|4! @ulOh7} ™ QGEolol e %l

N
Q
[¢]
M
=2
e -
it
A
10
e
R}

revealed her naturally (B) curly hair / on the cover of a magazine /
JH9f EfLEZ|E 552 HE|E E2{RiCt ELESONISTE PNV Y

[
i
1o
m
kl
r
N

in 2018. / ® That same year, / congresswoman Ayanna Pressley gave
20180 Ze 3 04 =35|2|@l Ayanna Pressley(OtO|OtLt Zaf&2|)=

=

=
Ct. ® &2 &, =32l
£2js FEMHEE Y2 M2 55t A
S st important speeches / with her curly hair braided. /

Fest M2 #rt Jude] Ba0fE|E T M2

= 5

© Now, / their actions have (C) encouraged many African Americans /

ol 59| WFSS2 W2 ot=Z27HA Dj=AS0iA 87|12 F2 ct

2 87|12 =1 QICt ® I THX| A ASS= B
EfQT} 9|mo| 2H|7} ofL|Ct @ 1S to show their natural hair. / ® It is not just a matter of style and
HAS DEai KAIZHS ACCh AT a0l EfLt 022 HOEES a7 THX| AERUT 9|3o| 2RI} ofLich

—L—= 1T o= §— - oo

appearance. / @ It is a sign of overcoming prejudice / and building
£ 3=sicte ot EEEPEIE

confidence. /

MEL —
e=Che

-
-
B Tlet + SH0| + SAHRIE,2 ~7} oA FLF2h= 2|o|o|Ck.
® That’s because they were considered messy and unprofessional.

— That is because= ‘122 ~ I|Z0|C}2h= 2|0| £, because F|0f| 2= LIEO0| f 2&0f Clist 0|7t ECH

- TA be considered B = ‘A7} B5ICED 0{A4X|CF2H= 2|0| 2, "consider A B(AZ BSICtD 047|CH,2| ~SEif E30|Ch

® to hide 0[at= ‘1S9| Bttt Z2012|2 2717] Ssiats /0|2, [2H]S LIEHS toR HAte] #AP S¥o= mairt

Michelle Obama®} the former First Lady= Z20t2 1A=l 52 £t7|0|C},

® That same year, congresswoman Ayanna Pressley gave important speeches with her curly hair braided.
= fwith + @Ab+ EAb= ~7F -8 M Z/6HM Bl Q0| 2, [SAISE]S LEHHLE 0] 2E0M= 9| S£M2|E E2 MZ'2H sijA]
5toq, @AH(her curly hair)2t £AHbraided)2| 277t £=Z0|2 2 DfHEAZE MQAL
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1 ol 22| FHZ 7he MFst 22? 1
@ ways to change natural hairstyles efuctsjojaeis o s
@ the popularity of the Afro hairstyle ojzz sjoj2eto| 17|
® historical trends in women’s hairstyles ofs=o| sjojAet2o] ciaps g
& prejudice against a specific type of hair =xst &eyo| njzjof cist
® job difficulties that African Americans have ojzz|77 njz0IS0| 2= Uxjz| 21|S
. = L 2
2 CHS TS0l Cht Ho| EITS Wizt S01Z LS S0l S0t MA|R.
Q. How did African Americans hide their natural hair in the past?
p7{0]| OfZ2[7HA D|=elE2 Bttt M2|E O1EH s2=71
A. They usually straightened their hair using harsh chemicals
cut their hair short , or put on wigs 3
052 B8 280 M2|E 56t 88t 22 AMZsiM 274 WL, 02|12 A A=A, £= 71es At
3 (A), (B), (O2] Z L= QtoflM 20| Qg2 U2 75 MFSH 222
(A) (B) ©
@ accepted - straight =~ - encouraged gorsoiFct - 22 - 87|12 Fct
@ accepted - curly - discouraged wotsoiict - a0l - wetAzict
rejected - curly e encouraged gg|Qict - Z9l - 87|12 FCt
@ rejected - curly e discouraged 7izs9ict - gzol - epazict
®rejected - straight - encouraged 7g=9ict - 22 - 87|12 Fct
4 o] 22| LHEO= HO}, [} RIZiof S0{Z L2 S0fIM Jot AR
Now, African Americans are challenging
the idea that their natural hairstyles are  messy[unprofessional]l  and
unprofessional[messy] . They are gaining the confidence to show their
natural hair.
O[A|, ot=a|7tA 0|z elS2 52| Eflt SH{AEHLO| XN 25t [MEIHEX| Rt ] MEITEX| RSICH=[XIM ST
=] dZfol =x5tn QIch 252 59| Bttt 02| HoiE Aflge ¢h Qloh
4

EB 10 30

messylunprofessionall, unprofessionallmessy]

2 harsh chemicals, cut, short, wigs 4 African Americans,

Now, their actions have encouraged many African Americans to show their natural hair.

- have encouragede= $1Z{2tZ A|H|(have p.p.)Z, O] 20| = TtH0]| A|ZHEl 20| SHRY7IEX]|
0] H}oter ofo|ofLt Zej|&2|e] #MS0| 7|5 & At =2
olCk.

- Fencourage + 2%{0{ + to-v,= ~7} -5t 2 7|8 FC}, Ae2{siCF2t= 2|0|0|Ct.

It is a sign of [overcoming prejudice and building confidencel.

- asignzt [ 1= HR|A of 2 AZAE 52 #AolC

- [ ]J& ©X|At of(~5lCt=)2e] 2X012, overcoming®t building0| 0|11 &=
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pp.98~99

® Vilfredo Pareto was an Italian economist / in the early 1900s. /
Vilfredo Pareto(2Z2|| 2| E)= O|F 2|0t ZHMISIXIRICE 1900HELCH =

® One day, / he made an interesting observation / while harvesting peas

o=¢ J= S0|E2 2Ee o 9| HRoIM 2ESE

in his garden. / ® It turned out / that 80% of the peas came from 20%

2515104 A ~O2 Ca{yfCt t=Z0| BOYMET} O9| 2I=F AE9|

of his pea plants. / (® ® More surprisingly, / he noticed / that the same
20HMEO|M LIR= A o =gA= J= ORI FRo: &2

pattern existed in the economy! /) ® For example, / 80% of Italy’s land
m{Ei0] EXEICH= A2 oE S04 O[Ef2[oF el 8O MIET}

was owned by 20% of its population. / ® He concluded / that 80% of

J(0|&k2(oh)o] 217o] 20 HIE| ofsh ARE(0] RAACH D= ZES URICH Z1to| 8OH{METL

effects come from 20% of causes. / @ This 80/20 pattern became known
2010 20HMEO|A Lt2CtT 0] 80/20 TEI2 T2 E HE|o2

as the Pareto Principle / or the 80/20 Rule. /
XA = UCH = 80/20 Hzloz

® The Pareto Principle is commonly seen / in nature. / © Let’s take the
i E A2 &3] 2eltt Xpetofl A 7Hoje] o E SO{EA

example of ants. / ® If you observe a group of ants, / you will see / that
orof gilol & f2(2| JH0|E 2rESirtH g2 = HoICt
just 20% of the ants work hard / to get food for the remaining 80% of

7HolS9| 20T ED0| HYs| Yotz S Ot A= 80HMEL| JHO|SE It H0|S

the ants. / @ You might think / that if you separated these active ants

Tok7| 2lsH Y2 YR ZECt tef gilo] of #FHl Ji0|S S LIMA| HEZREH

from the others, / the new group would be composed of only hard-
=eleH a3 M=z2 Yol Eols| Yotz JHoIS 20t g E Hol=ta

working ants. / ® But interestingly, / the rule would apply to this group /
SHX|2t S0|1E7 = T g2 o Metol| & Zo|ct

as well. / ® In other words, / only 20% of the members would be

CHA 23t A TS 20 ERO] YA Zio|Tt

cC
ol

o

productive! /

One day, he made an interesting observation while (he was) harvesting peas in his garden.

~ FAPEQ| 07} FHQ| Fojet &

T}, T250{ + beS A} A2kt 4= 9lrt,

® It turned out [that 80% of the peas came from 20% of his pea plants].
- It2 715:010| 1, thatZ 0| TIF=0{0|C}. O|ulf 743204 it2 Wz M SHA| Q=L

® More surprisingly, he noticed [that the same pattern existed in the economy]!

- [ 1= noticed?| =X0] J&= 5

t

TAFROICE Off AP T} thatS W2ra 4 2Uc,

o= T

® He concluded [that 80% of effects come from 20% of causes].

- [ ]= concluded?| £X0q od&t2 3
- MH|g/2= + of + PALII &<
AZF Qb 245 AF comeO| ALt

64 | Yof M2 =0i=

rir

HAPEO|CE. Ofh TAVE T2} that A2at 4 Qlr.

| F012 MU AL, of 70| 2= AL W2t SAtS

7t ZHYEICE o] EX0|M = effects2t= 54
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ZH oi&

1 Where is the best place for the sentence? cis =xto| Soi717(of 7 xxist 227 1 07l 2%9| the same pattern2
. . . . B2 @M AHGSH AFS0AM LA
More surprisingly, he noticed that the same pattern existed in the economy! - | 1 = oM &
O 270, 2 ZROlE 22 HEI0| ZXBICH= 21 F0RZICh gt 80/20 WiEE 7I2|7|1, 2% @
o ® o @ © ol olei2lote] Wt oo W
giCtD st 80/20 THEHES F0{%I &
2 Which is the best choice for the blank? sizio| Soiz: a2 74z =zt 2127 Ztol of| Alof| sHtSHCt. A F=0{Zl
@ Otherwise 1% erow @ However sxjat 242 22 01 @ Aojof 2= A
® Nevertheless a2z 275t & In other words cii| e O| XfAAHREE, @0| 7+E Z A5t
® Furthermore i} Ct.
3 Choose ALL of the people who are explaining the correct examples of the Pareto 2 HIZHoto|| M T E #El0] YAls|
Principle. miz|= #xlo| B2 Al2|S MYstn e AlRS 25 DEAR. 3H= 70|ot 22510 D= A ZICHo||
= M&gE Aol2t iy, gizko] Q!
Jiwoo: Two of my 10 apps use 80% of my phone battery. - _
1O 28 B 71 AOHE Wielol COBHUEE ASH y £ 2PN YRS 20 HIED
Daniel: I listen to 20 of the top 100 songs on the chart every day. 0| MAFMQl 740|210 510 QF S&knt
L= o 2912 459] 491 1007 25 5 2028 501, st Ly2 2 vhEsto] Aish oIt
Haeun: I have a hundred books on my shelves, but I don’t read 20% of them. E= o= =7 =o0ls
U 3ol 10029 HS0| IR, LHe T24S & 20H4IE S 9/x] glo. W2t BIZHol= @ THA| SHHA 7}
Risa: Abo;ut 80% of theigame company’s profit comes from 20% of its users. 1t =)
Y 3|Atel 0|2 B of 8OHMETL AIEXIE2| 20 HEO)| A Lt
@ Jiwoo, Daniel (5 Jiwoo, Risa ® Daniel, Haeun .
. : . 3 IRFE HEE2 {elel 20mME.
@ Daniel, Risa ® Haeun, Risa

. EH x| oL o| OH=(g|o
4 Complete the table with words from the passage. o 20| 2ore 9t slo} T2 2HA5HA|2. HEI0IC A|2= 1074e] AS(RIL)
S 57, & 20HMET} FOE Y
Causes gl Effects za El2| AFREHZT2| 8OTMES
9 ea = =
20A>of(|1)t . 80% of peas et=zo| gomME HAIZED A, Risa= AFSAIS
—PaTS  m#s3Nseljomde (f1ehe] 20HMETL H|Y 34t Of
hip of 80% of Italy’ T =
20% of Itly's 2) __population ounership of 80% of iy °|(Z22l o BOTHIES STt
olEtelolel () @1ge] 208  — T FCt wety oeE wale| uE
— o|=tz|otel (3) Go| 8o MES| AR
— AHE d™st e A2 X2t
(4) food for the
20% of the ants 7joj=o| 20m4xE RisaO|LC}.
remaining ants <ot gl 20|52 95t (4) 2o

EE) 1@ 2@ 3@ 4(1) peaplants (2) population (3) land (4) food

- DR /AU ALY, BiXio| S SE/AAU2 et STl AIRE £20F 0] EF0IME thatEo| LE0| 2tatx/dutx ARMof| siEstEE
t7{ AlX|(concluded)2t AH2te10] SAXK A|X|(come)7t A QLT

|
lo
=]

=
©® If you observe ~ ants, you will see [that just 20% of the ants work hard to get food for the remaining 80% of the ants].
- RS LIEU = ifR(2Hef ~BHTHH)0| M= D[2HE LIEH = SR AlX|(observe)S 20t
= [ 1= will seeo| S10f %8t Sh= BAFHO|CE O|m) BAFE H4Af that 2tst 4 Qlct,

o
— to get food= "HO|E 57| ?lal'2t= /0|2, [SA]S LIEHH= toR YAt RAY o2 ML

@® You might think that if you separated these active ants ~, the new group would be composed of only hard-working ants.
- TIf + 0| + SAtS| & (beSAt= were) ~, =01 + would/could/should/might + SAIH --- ;2 71EH 4 Z, ‘PHf ~GHCHH
& "iEl2k= 2|0]o|Ct o] 2&0llM= 2sX2l 7io|gt 228|510 BHE MER TE0| @ Ays| stz 710|282k 748 20[2k= &

X AFA el BITHE ZHg3ta QUL
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be about to= 2} ~5}2{11 5= &0

®© o ||

pp.104~105

® You are about to buy lotion. / ® Company A’s product is tested on
gil2 9t 283 A2 ot= Folok AN &E2 SES0I 2Lt
animals. / ® Company B, / on the other hand, / doesn’t do animal testing, /
BAb= gHo] S= HYS il =ttt
and it regularly donates to animal shelters. / @ If you love animals, / you
T2 a2 FIIHeR S8 B0 7|25 §it otof ehilo] SE2E8 Ot
would avoid Company A’s lotion / and buy B’s lotion instead. / ® In
Y2 AAfel 22 T Zio|ct 2|3 oA BAfel 2H8E & Zo|Ct

this case, / the former is called a (A) boycott / and the latter is called a

0| g« HAh= 2o|R0j2t E2Ict 2|3 SXh= Hio|R0l2t E2ICt

(B) buycott. /

® Both of them are active behaviors of consumers / to express protest
RS = o 2HIES HSHel Aot ol L= XKIE
or support. / @ During boycott, / people refuse to buy products from
Hoiot| 2l Ho|R et MEE2 EF 3AME2| UEE Ats A2 RS
certain companies / that have environmental, political, or moral issues. /
sh2ix), MRS, = eixel 2R s
©® Meanwhile, / a buycott is the act of buying companies’ goods / to

t HIO|R2 2|AtE2| 4FS A= ASOITt

roh
e

= o

support them. / ® This usually occurs / when people agree with a
=g XXH| 2lsh 0|A2 HE LojLtCt AFRtS0] 3|Ate| Fatol| Solg

company’s policies. / (d) (@ A company tries to develop new goods / to
BAlE MER2 JE2 st =25i0t
attract more customers. /) ® A buycott can also be the act / of helping

O B2 12s B0S0|7| 2l HIO|R2 ot ASO[ & =+ AUt =30 Zost

out sellers in need, / such as those selling fruit damaged by a typhoon. /

LRSS ot e ENSOll ofsl &&fE MUS Ths AFRISDH 20|

® Whether it’s a boycott or a buycott, / it gives consumers the power /
7740] £0|RO|= HIO|RO|E N2 AHIKSOA ' &4

to make a decision to create change. /

sl= L AXHe 2| A [
HeE He=E 2FS R = Us

IChets 2|2, oI E YS9 5t2i= &S LEHLE o be going to: ~gh Zi0|Ct

J

Both of them are active behaviors of consumers to express protest or support.

- both (of) Floll= BHEA| Z42iAf{them)7} Sf0F 514, Tboth (of) + B~ T F4 =24 FFSDR Fo| S4SA are7t 2%

Ct. ¢ both Aand B: A2t B & C}(
- to express 0|5t= &9| L= X|X|E

£ +45t7 iC,

=)

7| @|8Fo|2t= 9|0| 2, toR-ALS| HE AN 8H o2 M 0] active behaviors of consumers

©® rrefuse + to-v,= ~5t= WS HESICYEH= 2|O0|0|Ct

©® A company tries to develop new goods to attract more customers.

- Ttry + to-v,= ~6t2{ 1 L 2H5ICF
- to attract 0|5t= T 2 1S

66 | Yof M2 =0i=

rir

2t= o|O|O|Ck  of Ttry + v-ing.: (A& At} ~sH =L}

Z01S0[7| flstf 2tz Ql0|=, [SH]S LIEHE toRFALS] RAK 8Yo= MACt

Cikst st& A2 MlE HackersBook.com



EE 1@ 2 (A boycott B)buycott 3@ 4G3,® 5moral

ZH oi&

1 o] 2o HEo= 7h MEsH 712? 1 AH|RFSO| &olL} X|X|2 E3i6H|
@ Don't Boycott; Buycott Instead! =o|zstx| 2, cjal vio| =2 stzh 3l 5t= si=ol HOo|R 1} HIO|R

T Ho

@ Efforts to Protect Consumer Rights 2u|xjo| 222 25517| 2J5t 2=

® How Consumers Support Companies 4[x=e 0= s|Al= x[x|sH=7}

@ Two Different Active Choices of Consumers 4b|xi=e| 5 7jx|o| £}z M=xiol Mels
® The Power of Boycotts Compared to Buycotts sto|5at sjmgt uf =0|z0] &

W50 4= 20|22, X
@ ‘2H|XFEQ| F 7HX(2| THE
Hel MEtS'0] 7+ XHs|T,.

T
2210 mo

rn

JHHu

I= =X L oxt
2 of 3o Hizt ()2} (B)0] SO1Z L2 JIA| &0} Al 2 BIOIRE SE0IN THE £SO
of AAte| 2MS Tste HES, X}
(A): boycott Ho|3 (B): buycott CINES
L BALY| 2ME Al HES T12J7)
01 22 ()~(e) &, BH S8 Wil 2TL? - Rl e Tl BoiRe BE
© (a) 2 ®) ®© &) (@) & e Kok Hoxe el
: ¢ ¢ MES Al= Z0j2ln MEgione,
b schshe HIFt [
4 12 5, buycottoll S{ESH MRS L5t ARES BE D2AQ. SOl shigsh Ezh (A= =0l
= 0|, SXto| sHgksts BIZH (B)ofl=
O 32 A7So] FOHIL 2HHE AES ol ,Hm"ﬁ,Ol eV,
@ EIR): S HRE ALgAGA Q%e FEL Ao, ATTe TrEe
& P Ade B ] 91 5718 Ao o] $EL el
@ A4 A AYE AZS = S0lE shA o2 Bhulshil 9lojA] Aol 3 HO|R3tHIo|RE H|wst= L &
& R15: B0 Balo] WolA] ABEES AFESE B)Ake] FEL Tujsiol. of, ‘BlAts Cf B2 TS Bojso|
7| 93l MES HES st D
5 Che A Z0|of sEists SHOIE 20/4 S0} MA|Q. 2BIChEtE LHRY (d)s A B2
3} BAIgiCt,
relating to the principles of right or wrong
27ILE R 20| x| piEl
moral 4 2 0O, oA )\fa=0| 3lArel A
Eaxol Mof| Se|stALE ==0| E et Ehof
A2 ZoFa & H HIO|RS BHCkD
ooz, ofzYrl 712 ==
IALe] 8+ HHof Sol5t=

o N
0E
o &
i*'JII

>

t2{|7+ HHO|320i| B tC.

-

(EQ&*O._')OI h

A buycott can also be the act of helping out sellers in need, such as those [(who are) selling fruit {damaged by a typhoon}].

- the act@} helping out sellers in need= XAt of 2 1A= =524 2t7{0|Ct.

= L} 90l & thoseS (3= SiHEALE, Oltf seling TH='0J2kD SHABICH B AF SI0f "2 ACHEAL + beS A7t ARt
01 !en, those who= ‘~5H= AFRFE0[2F01 s A4SHTY,

- {}= 20l 2 fruitE Aot BtH2A0|CE O] damageds ‘&4 E'0[2t 1 SHASHT].

Whether it's a boycott or a buycott, it gives consumers the power to make a decision to create change.

— "Whether A or B,= ‘A0|= BO|E'0|2t= 20|, 0|t whether= EAPE ™4 ALO|CE
of YAPE ™A whether: ~QIX| (OFIX])  ex. I'm not sure whether the rumor is true. (Lts 3 A 20| AFAIQIX| EHAISHK| 26HC)

- rgive + ZFHS 0] + AYSHO0{ = ~0f7| -2 FCtake Qjojck = rgive + ZHSHO| +to + LY Z 01,
- to create change= ‘H3}E CBIE='0|2h= Q0| 2, toR ™A H2AIE 2#{ 02 M0 a decision2 4215111 QUCH
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©® Have you ever seen a bladeless fan? / ® @ It has many advantages /
a7

gil2 gl gle M87IE 2 Hol A7t A2 M2 dEEs 7R

over a regular fan with blades. / ® Not only does a bladeless fan cool you

- =7 = BEQ MEV|REC 270 gle M7= JHlel E7)e o = M E
© SIS L ol= MEJ|Z 2 o) off better, / but ® it also uses less electricity. / @ In addition, / it’s safer. /
S L5 qfk=3 CE=1 <] = 6]
%157'_? szg 57H7+%EE%E% ot o2t O2 £t O M2 TS AR8SITt ATkt 2 o QtHsiCt
7|20t ae 2SS 71K Qlch @ i ® You don’t have to worry / about getting hurt by the rotating blades. /
ol Mm7|C Cralo] 7|2 O & A5 YA 24FeHR| otz B &lEists Hfol Sl ChRIS 200f che
£ ®otofL2}, O X2 Mg Algst| ® But how does a bladeless fan create a cool breeze / without blades? /
T BiC} @ AlCH|, IS O oFESICH SHR|EH TN ls ME7|= O g7 Al Hizhe THENt =7H glo]
© THAIS s|FEsts Uolof| ol Chile @ © The fan consists of two main parts: / a base and an upper ring. / ® The
My = ol o HIZE= M [e]] HEx| O|ZZ 0
2401 chah 2{5Hx| epot= ek THETIE £ kel 72 HES2 2uElof Ak wHet 9%l 2el
SHA|TH U7 9le ME7|= ofE| base contains an electric motor with hidden blades. / ©® When the motor
HEX| = s (= (e = = ol =35
LK 910| AjSl3t Hi2lS BisTh @ 1 2 wEtiolls 747 217t 9l #7127 S0f et 2E{7} 2Sted
ME7|= hRICi9} 9|%o| Dajats & is activated, / the blades spin, / and @ it sucks in the surrounding air /
o] =@ HEo = JME|0] Q/CH @ bt Y a=lrd s J2|1 a(2E)2 FHO| 37| S worSelct
= T TEe= S AT =
zicholl= 247 Wit Qe 7| BE through holes. / @ Then, / the base pushes the air out / through the ring. /
He E£3 =1 HIXICH= 7|2 alo{L =2 Ej
7|> %01 %“:l_ @ EE'I7|' E!.%gl_?j’ |é}.7H THE Sl s HHElC= 37|15 Lot ne2lE Sl
7t S0P}, BEIE 0SS Eaf =Ho| ® This creates a very strong airflow. / ® In fact, / the volume of air that
o t243] = = | t = (Z=1
122 E5f| Z7|= Yo{LhC}. @ 0| comes out / is 15 times higher / than the amount taken in at the base! /
O Zeist 7R SHSOfiCt. @ A e SRl sors e e

® So, / ® abladeless fan can be a good alternative / on a hot summer day. /

JiM Ol gle ME7IE 2 tieto] E & Tt ti2 g0

(R =y

2, 8O LIQE 379 22 grEltho|
#HOLS 047l QFECH 158 Of BCH @ D2k
|

D -
S22 ol
o

"Have/Has + £0{ + p.p. ~?,2| SX{2tE A[K|7} M0l QIR 2O E, u7{ 2| [AE]S & W 2L} SMtE ANZE 11| ZeS LiEH of
= FZ ever, never, before S0| &4 AQICt

®

over= ‘~ELC}, ~0f| H|sf 2H= 2|0]2| HX|ALO|CE.

®

Not only does a bladeless fan cool you off better, but it also uses less electricity.

- not only A but also B = ‘A®t OfL|2} B'2h= 2|0|0|C}. 0] 2ol M= Gile] H7|E O & Al5{F #EF OtL|2 O X2 ™
23517| SHFatD sASct
=B as wellas A, ex. A bladeless fan uses less electricity as well as cools you off better.

= not only, never & £82| 2|0|E 71X FANT)ZI EZE 2loll 28 U 2oz 2 f, 22| F0{et SAZE EX|EIC) ojuf 280 401 5
Aol 2t TdOSAH RS AL + 0] + SARIY, fE= TbeS AL + 01,2 £X|EICE = A bladeless fan not only cools you off better
ex. | am never exhuasted. = Never am | exhuasted. (L= &Ll X|X|X| Z=LC})

Af

o
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1 0| 29| Y& 3 @~O 3, 7I217|= ChAko| LIMX| Wzt Ct2 2i2? 1 O= (E7H gls 1E7(9 HE ¢

0® @® ®© ¥o ®® o £) PEES 7t2]7| 3, LiHK|E 2
= 27H gle 2718 7H=I7IC
2 o] 2| wizhl Soiz L= JFE HEH RS?
& safer cof orzver @ stronger cf st ® lighter ¢ 72 2 izt R0 M 3[TsH= HIHofl 2fsh CF

@ faster of w= ® cheaper cf xjzist ASIK| oot EICt

0] st
WAooz Hizto= O T etEgr
3 2K gls MB7(of 50| 22| 8T YX|SHH T, TYX| YO FE MA|Q.

(1) It saves less electricity than a fan with blades. F
a2 W7t Qe MEZJ|HCH T M M2 Hoksirt,

T L

(2) It has blades in its base, which are not noticeable from

the outside. T
J749| gHEItholl= E7H7t QU] 01232 HRZZ0M & =0il & =[X] &H=C

T

4 o] 22| LHEO= HO}, [} BIZiof| S0{Z L2 S0fIA Jot A2

How a Bladeless Fan Works

Ef.
= Sle MEV|7t 2SSt WA
The electric (1) motor in the base is turned on. 4 = sM AT

wace| H7| (1) BEZ} A

\ 4
The (2) blades start to rotate, and the air is taken in at the base.
(2) 27050l 3|Hst7| AlZksta, 37| 7+ HHEIcHof| wotSo{ZIct
\ 4
The fan creates a strong (3) airflow through its (4) ring .

MZ7|E= (4) 12|18 S8 Z=2{st (3) 7|FE THEO{HCE

T= C=

EE) 1@ 20 30FQ@T 47 motor (2) blades (3) airflow (4) ring

® You don’t have to worry about [getting hurt by the rotating blades].
- don’t have to= ‘~51X| L0t EICH ~& 27} giCkat= 2|0|0|Ct.  ¢f have to: ~3{{0f GHC}
- [ 1= TR about(~0fl Cish)2| S%0{ Aehg Sh= SHAO|CE
- rotating@ F{0f| 2 bladesZ $AlI5H= SIX|EA}0|C}. 0| rotating ‘&|X5H="0|2} 1 Sl{AdSIC
® In fact, the volume of air [that comes out] is 15 times higher than the amount {taken in at the base}!
- [ 1= 2ol 2 Ml airS =2A5t= 2 2ATHEAFEOICE

— T 1=

- THa=Ab + W g + than,2 ~E20t R B & --8t/stAl2k= 2|0|0[C}. Of 20| M= "2ETHol| EOIS01Z! Lt 158 &f B2'0[2t1 3
M3IC}
= {}= 20l 2 the amountE +=4{5t= U2 AIOICE. O|uf taken in2 "&OFSO{ZI'0|2t1 SHA{SHTE
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® Around 66 million years ago, / a giant asteroid hit the Earth. /

of 6T 62t 1 o] 7{chet 28450| K| 78 YERCE

® The impact created a massive crater / beneath the Gulf of Mexico. /

(M
HO
=t

x

- 1 EE2 7t 25t E PHEQICt HA|Z 2 Of2Hof|
© 2 67 6B 14 Fof|, HCHEH AsH ® Many believed / that this caused the extinction of the dinosaurs, /
Mo| X2 2Tt @ 1 SES oAl 8o 0S0| WYL 0]70] BEQ| WES Op|YCiD
o =2 O AN . —_— — 1
ot 0} CH5H 2512 ot=9ict but it was unclear / exactly how it happened. / ® However, / recently, /
at St 23t E TEN y M
® 2 0|S0| 0|740| ZEo| WES of SHX[2H SHERACE Heks| aZi0| ofEHA doikteXle Shx[gH Z|20f|
LS — ool o
JI8HCtD oloix|al X3k 1740| ofw scientists uncovered new information / that might solve the mystery. /
AN AN —r O= A =2
7_” OEIO1 '—th|i 2045 %HI-——I' o gl_xlm. USIE2 MES FEE LotiCt O +HIE E0E == U
A — [=len DON . —
20|, TBHAFS S O 2272 =0 ® They first collected and analyzed rock samples from the crater. /
Vi, =ANE=ET T T = =
% _JT\_E ol AHEO MEHE OEFol.l_l-H:l. Js2 UM 1 2570l &M 22 S SFotn 2300t
AT — o = AN
=S My 23 M OrM mE ® Then, / they found out / that there was no sulfur in them, / while the
=2 - (L [ i | — Y
S Amstn SAsC @ 1 5 OS2 m Y i e E RN EEEE stiof
obM FEO0|= £H0| Qi=r, BrHo| 1 2 area surrounding the crater / was rich in sulfur. / @ This led them to
SmE Sai K|l SH0| BIUCH 1 2si7E S2ii xjojols 80| Brotch 0|2 12 stz 2MaiH FCh
= — - — o LS AN —
7S gt} @ o|He ISR 502 assume / the impact caused / a (c) small (- huge) amount of sulfur from
O E=0| 2512 5E Oist 90| & 1 E=0| ~3t=F oS0 O 2ot 22 X2 2§ el ol
0| h7|2 BUtstE 2 gt Qictn 285} the crater / to evaporate into the atmosphere. / ® A large cloud of
_ _ - =gsiC 2 st 5t =2
A 3T © Fiche & 720 ElYE 713 s s JE s
=3 3

sulfur would have blocked the sun, / and the average temperature of the

= HOFS A% oiCt @ 0f2{3 X0 Bherg skt 2ot a8|n xj7el B2 7120

HE2e 44l 4 ot X|AE|QE Zio|ct planet / may have decreased by about 15°C. / © This global winter would
® 0| 7|2t EQ Al=20| =1, Ho|Afa S oF 15 I HoME = ULt ol2{gt X| 1o HA22 X&EAS
275912 Z40|C} @ DRSS 0] A} have lasted / for decades. / ® During this period, / plants would have
?;|O| _g_ggﬂ_t_lﬂ. 0H—|E|' XI—_r“é!_QI E% g{ 3:'0“3 -/F)r;l A %O\_" O| 7||7_|' ot }%IEE ?915 ZQIO|E|'
Qx| o 75HAMEZ 2AA|ZAS Zi0|2} died, / and the food chain would have broken down. / ® Tl_le scientists
7 =XBICH J2|11 HO|AHE0] S1=|%iS Ao|Ck ERES

assume / this event killed off / not only the dinosaurs / but also about
gttt O] Aldo| 2HAIZiE Aot SEEEL ofL2t XTdel BE

75% of all life on the planet! /

MHA| Q| of 75SHMES

D -
S22 ol
(3]

Many believed [that this caused the extinction of the dinosaurs], but it was unclear exactly {how it happened}.
- [ ]= believed?| 5X{0] &S otz YAPRO|CE Ofuf HAPE FLAL that2 defet 4~ QICH

~ it2 7}52010]1, o[ ZAt how?} 0|11 = ZHYC|Z = { }7} £IF0{0|T. Ofu 7H5=01 it2 [}t SiA{SHA| Bh=Ct.

®

Then, they found out [that there was no sulfur in them, while the area {surrounding the crater} was rich in sulfur].
~ [ = found outo| Sx{0] &t sH= BAFHOICE. Off BAFE F<At that2 2¥st 4+ QICk

- while2 2AE S 0|11= HEHALE, ~oh= BHHO'2H= 2|0[0[CE  of whileQ] & 7| 2|0]: @ ~&= EHHO| @ ~ot= St
- {}= %0l 2 the areaS +2I5= AMZALO|LE. O|uf surrounding2 ~= S2{'0[2t3L SiA{3IT.

® This led them to assume [(that) the impact caused {a huge amount of sulfur from the crater} to evaporate ~1.

- Mead + 2X0{ + to-v,= ~& 5102 ---3}7| 5IC}, 0|BCF2k= <|Ojo|c},

- [ 1= to assume?| =X0] J&g St= HAEE, HAPE H&AL that0| H2EE|0] UCH

70 | Hof Hs =0ix
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@ What killed dinosaurs still remains a mystery.
20| &S FU=K= O{Ts| =M= Ot ULt

@ The analysis of rock samples predicts the weather.
ob| BEO| (i3t 2AS HIS oSt

& Sulfur clouds may have led to the extinction of the dinosaurs.
g 750/ 280 TS 0plyE 4= Ut

@ Global climate change is the greatest threat to life on the Earth.
X7l 7|% b= X 7efol Yol 7k 2 fIolct.

® An asteroid impact did not cause dinosaurs to become extinct.

28y SE2 3E0| YBE TS USR] ARACEL

2 1lEIRtEC| Wt ofof| W2 7HAMS CH2af ZH0| LIEF of, HIZHo| S0{Z 22 2oj|A Stot
MAR. (Th HoA| LS2 HElE 1M 2AR)
Rock samples from the crater didn’t contain (1) sulfur s
Discovery  unlike the samples from the area (2)  surrounding it
E v 25175 (2) S X0l Lt2 B} 22|, 25170A L2 oA BE2oj= (1) #0| 501 9!

x| osQtct.

05 M

Assumption  The sulfur in the crater might have (3 evaporated into the

7k atmosphere. 2si70| 9= g O7|2 (3) ZLHS +5 QI

3 o] 22| LE 7 (a)~(e) &, £ho{2| MQl0| MHK| g2 H2?

O (a) @ (b) & (<) @ (d) ® (e)

4 o] 2| L83} UXISITE (A)~(D)E LU 2MIIZ ISR

(A) A huge cloud blocked the sun. 7yt 7.20| ehere 713t
(B) Global temperature dropped and living things died.

X 72| 7|20] HOiA D WHAMSO| ZAULCE

(C) A crater was made after an asteroid struck the Earth.
A3M0| X|Fof| 2SRl & 2517t BHSO{ACH

(D) Sulfur was released into the atmosphere. 2o| 7|2 wz=gict

(©) (D) (A) (B)

EE) 1® 2 (1) sulfur (2) surrounding (3) evaporated 3 ®
4(C)—» (D)~ A~ (B
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Tmight have p.p.,7| E|=2 1tHE2
Al evaporated2 11X A{Of SHCI)

—_

2 00| 7tlist & 50| Efef
S 7S W02t LBz, (o)
k=3
=

=
small(H2)& huge(2UCishE 10X

of BiC}
27 @-@0|M 230l X|7E &
EfsliA ZCH3H 2572 otsQicin
stE 2EX @UM I SEZ ol of
72 BUHD, 27 @M 1 23
7-||:H3|_|’ io}' —_r,‘%(” EH%F% 7|'E:| XI_—F,_QI
7|20| Ho{xCiD 31, 25 O-@
Ol 0] 7|2t St Ho|At&0| B1E|

0f 2 HYA7E =Tt Yt o
2tM (C) - (D)~ (A) ~ (B)2] =AM7t

7F MEsit

- fcause + SX0f + to-vy= ~7} --5t=F BHSC, Of7 [Tk 2h= 2|0j0|Ct 017 | M= { }7F SH0fol| s StCt.

® Alarge cloud of sulfur would have blocked the sun, and the average temperature ~ may have decreased by about 15°C.

— FESAL + have p.p.u= 247 AFEO]| CHEH 2F0|LE 23|15 LIEHHACE Of 2F0ME

 woulde} may7t 0§ 242t ~#2 Zi0]cf,

~E = QTFEtD SiAMBIT) = O 24 Atof et F5S HERNX|2E "may have p.p..7t B ofgt 53 LIEHHLE

¢f "must have p.p..: ~ZHS0i| SEQUCt [2A Ataof chgt et =]
o

ex. You must have forgotten your homework. (L= %2 lo{HZi 20| E2I9ict

- HX|Atby= ~ Y=(2), ~2tF0l2tE O[22 7, Yk, H|ES LIEHHC,

@ The scientists assume [(that) this event killed off not only the dinosaurs but also about 75% of all life on the planet]!

- not only A but also B = ‘A0t ofL|2} BE’2t= 2|o]o|C}.

=B as well as A, ex. this event killed off about 75% of all life on the planet as well as the dinosaurs
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© Chef Jordi Roca had a friend / who could no longer taste food / after

Jordi Roca M|Z0j|Al= ZI77} AUCE Ol O|& SAlel ot 2 4 giA &

cancer treatment. / ® Roca decided to do something / for people like his
2 x& =0 Roca= FRI7HE 517|2 A3t Jo Fle Z2 AIES

friend / and began a special project / that had one clear goal: / helping
S  Delmswsmedes ARYC sfiol 2Hs 2EE K AFEFE0]
people taste again! /

CHAT oF2 /e 55 2

= HC

® To achieve this goal, / Roca tried to find a food / that most people

0| 2HE hM5ty| 28l RocaE S48 o1 w23t TiREQ| AIES0

have strong and happy memories about. / ® He finally chose chocolate /
Yot A= 7|9E T J= oFEL =232 MERIct
and asked people / what memories they had of it. / @ Then, / he

J2|30 AFRSA 2/t 3S0] J%0f chal o 7|AHS ZHX 1 Q=X 1=z =L

— T

rir

made chocolate / that was specifically created for each person. / ® One

EBAUSTDSACG L AE 9ol S8s M

participant named Javier / shared his childhood memories of eating

Javier2t= 0|§9| 8t &7HAh= ZE2EE HAE 29| 02l A- 7[5 SRS

chocolate / while camping in the mountains. / @ So, / Roca decorated the
Lol S shE A Z12iM Rocas ZESIS IR

chocolate with cacao leaves / and added the scent of rain on dry soil. /
gloz At 2|3 0kE & 9lo] bl HAME HoHCH

==

® When Javier took a bite of the chocolate, / it reminded him of those

Javier7t 2818 5t 2 Hj0of EXUS m 742 aofA 2 7[9E0|

memories. / ® This stimulated his nerve cells to feel / what he had tasted
MZHLHA| SO O|HE2 19| AA MZIt =71 =5 At=3ICtH T Ao a7t st A

back then. / ® He was thrilled and said, / “Eating chocolate used to feel
2= 2Hsio] et zZ3ig o s2 342 WE s 2e
like chewing metal. / ® But now I can finally taste it again!” /

o] 2 #loje SHX|2FO[H| L= EE|0f A9 Bh2 T =2 £ AR

Chef Jordi Roca had a friend [who could no longer taste food after cancer treatment].

- [ 1= oo & M3iAL a friend= 2416

=X
= 7

HACHEAE O,

try + to-v,= ~5l2{10 =2{SICF 2= Q|0|0|Ct  of Ttry + v-ing: (A& Afo}) ~s{ £t

He finally chose chocolate and asked people [what memories they had of it].

- rask + ZFHS 0| + HHSHO|E ~Off| 2 2Crate o/0jo[ct o7 |A IR R [ 17 HES 0| HE 5t ict

= [1= o2t + F0{ + SALC| HH2IEE2

— T/ =

2, asked?| ZIF5X0] &g st1 ULt 0] 2&0|A memories 7HEQ|222| SE 010

siiEtstnd, ‘0, R&'0[2k= 2|0|2 #0[= whato| 245 &1 QICt

One participant [named Javier] shared ~ memories of eating chocolate while (he was) camping in the mountains.

- [ ]= 2ol 2 One participantE 4|

St M2 AHLOICE Ol namedi= ~2t= 0|§2'2t1 s A{BiCt.

— SAPEO| F0{7H 70| FO0{9t 22 W), 50| + beSALs M2k 4 9rt

| gof 22 =0ix

rir
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1 What is the best title for the passage? o 2| xjzo =2 71zt =zist 2127 1 0|22 22 AZHE0| =810 chst
@ Chocolate Can Improve Your Memory zzzie giale| 7[of2i saialz 4 9lct 7992 CtA| O 82 7| atE
@ A Great Chef Who Overcame an Illness s 2=5t 9oyt 4= Rocaol Z2MEZ AJlsH= 20|
® The Importance of Childhood Memories ojzl Aj=o| 7joje| 24 o2 FHE2oZ 6 7|22 5 0]
@ A Project on How Decoration Affects Taste z4j0] o7 oo gate Z=xiof cfst Z2xe K2l Z12tS 3= 5177} 7)RF =EE)
Recovering a Lost Sense through Memories 7|oi2 3 2lojszl 21212 52517 ot
2 Which is the best choice for the blank? wizio Sojzr @& s =as e
2 giZio] A= EE0iIM Rocas St2
& helping people taste again izrso| chi| gts Lz 2 S 2 Ll & oinl| § 2lmeb ZHe AlZlE
@ sharing memories with others cj= Azt 7012 253t % o o=l — = - -
3 making the best dessert for his friend 19| 2172 9Jsi 220 Cir=2 pr=x 2 S Floil Z2HMES ARRCL A,
@ finding foods that increase memory 7jofzis zzlA7|= 2412 3= % 2zt Flol ThefollM =330l StS O
® treating cancer patients with foods g0z o sixiss xzs1c 2 Al =771 &l Javiere] At 7F AN
ACE kM BIZHol= © “AS0|
3 Why did Roca choose chocolate for the project? Write the answer in Korean. CHAl BHE 27|28 &= W0| 71
RocaZt ZZHEZ Jalf 223 S MEE 0|R= RALW? LELE XA MHSICH
CHE=0 AIIE0| -5t S5t 7|48 71 S4{017] W0
3 2 ©-00|M Roca= tHFZ2| At
4 Which is NOT true about the Roca’s project? Rocac| m2 == 0| 2isf Ux|stx| 2t 2422 20| Z=stn st 7[0S A
@ A friend inspired Roca to start it. s 277} Roca7t 7% 2 AIRBHES G2 F0E SAloz 28|12 MEHFICIT BHCH
@ Participants were asked what memories they had about chocolate.
EH7HRE2 O50] ZE30) tifsh o 7| S J1X|1 Q=X HES LU
® Each participant was given a different chocolate dish. 4 O 2% 0-00|A Rocao| =3l
2F At M2 OhE 228 Q2|5 Ech ) S o7 Javiery} 2t 22212 oi9f
ORI L Iygpiretion for Roc food. i 7le{2} 0 912 BRI oo
@ Javier tasted chocolate for the first time in Roca’s food. 2, Rocal| SAlg 97| Mof o|O| =
Javieris Roca®| SA0IM X2 XZ5l9| 9tS L2iCt ZaiS ghmore S of 4 ot}
O: 2% @-80] AZ=(0f ULt
@: 2% 00| A==0f ACH
Q: 2% @0l AZ=|0] ATt
@: 2% 0-@0{|A Javier?t LHofAf
ZEEIE HUH J[of s E2
Rocas ZZ25/2 UCO=Z FAlstn
H] WARE H7HRCED et
EE 10 20 3oiREo MEES0| YD #=5 7|AS Il S4/07| W20
40
® Tremind + SX0] + of + (5)FAb= ~Ol|7| - 0] MLt siCt, -2 &7|AI7|CF2k= 2|ojo]Ct.
of "Tremind + SX0{ + that™: ~0f|7{| -2 M7|A|ZICt ¢f Tremind + 2H01 + to-vy: ~0f|A - & WS M7|A|7|Ct
© This stimulated his nerve cells to feel [what he had tasted back then].
> stimulate + 2X0{ + to-v,= ‘~0]| - 5tZ 2 X}25{Cyat= o|njo|C}.
- [ 1= "Q2A + 0| + SALC| ZHHOIZ 2R, to feel| ZX{0] Q&S ot QUL
- had tasted= 217{2t2 AlF|(had p.p.)2, 0] 2ROIME 27{o] S5 AIFECHCf 0|0l 2t &, = [Chal712 LiEfHC

® used tox "~of2 FICF L= To|= ~0|UCFEH= 20| 2 24| SEH0|LE LENS LIEFHTE
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® Have you ever cheered for a team / that was losing badly in a

gl Be S¥sh2 Hol A7t Z7|0IM A2t X2 A
? b .
HO A match? / ® Then / you've expe_:rlence;d_the underdog effect. /
== D0 gl s 1tE desie Aolct
© A2 ZI|oA Azt x| Q) ® A team or person that is likely to win in a match / is called a top
o Bl S9UsE Mol =Ip @ I 47\ollM o2 &2 FolLt A2 Ef=(@xhol2tl stk
Ol chAlS oif=E a2 A= A dog. / ® (A) On the other hand, / the one that is likely to lose / is called
olct gHo|| A L2 AE>OILE AlZh2 A =(2fAhol2t 2
© Z7|0llA 0|2 24 Z+2 ElO|L} AfRt an underdog. / ® Interestingly, / we usually cheer for the underdog /
=2a|[| =0|27 2|t HE JHES S5
A 74 22 ElO|L} AIZFS QI = (2R} when the two compete against each other. / ® While the top dog winning
_ O E0| A Z4XHSF [ Et= e
ol2tn 22ict @ E0|2 %, 1 S0| M 0 S0 Mz et =t=0] 0]7]= 742
Z ZYs o, R2l= 25 ES2 89 is not that exciting, / the underdog winning is far more surprising
=) = S oto = L 7o 5] =2t A
51 @ S=0] o] | zie 13 B0] 2% SOITITISK| 2 B QICIS0| 0]7] 22 BM O ST BEARC
ZIZISIR| &2 v oiE=0| 0|7|= #A and pleasing. / @ This is because / our brains react more sensitively /
o .= b5 ox
23[9| L|7} of|AHEl AFARLCH of|AFR| 2 to unexpected events / than to expected ones. / ® (B) Moreover, /
_ ALX| 25F AMAHE ALE| HE
8 2150 of piZsl ts| wheo| plEr R s plEE R A
Ch @ AL SQB|= ZERpEto] 0]7|H, when only the strong win, / we think it unfair. / © It feels just / for the
3 = 7S 2ams Wztsich ZAs
1310| %%‘_gﬁfq_ﬂ éﬁzfé._l‘q @ Odl:-l ZAtetol 07| H el IAs =3 Yot M2tsttt S™sICHn =AZICEH AE 50|
=0| ZOIZ 0|HLT MBS HEL underdog / to overcome obstacles and achieve success. / ® For these
_ XHOHE nPS k=1 CL 7o B
2 2EsICkD WAEICE @ 0]243 0|2 OIS O|AUL ¥38 A5 A= o243t
=2 2pt JCES X|K|ste ABHO| reasons, / we tend to support the underdog / and relate to their joy /
o= ol olHES SH= Zdsko| Q) So| 7|kl Z2Zts
DzsiC) whenever they win. /
Z150| O] Z mott
D -
28
@ Have you ever cheered for a team [that was losing badly in a match]?

- THave/Has + F0{ + p.p. ~?,2| SXHAZE A[H|7} M0l |22 02, WA [FR]E =2 W £Ct
- [ 1= ool 2 M&Al a teamS #=45k= T4 ZACIHAPOICE
- beFAte] MAH™ + v-ing = BATIRY AlH|Z, ~6t2 QUL ~Sh= SOIUCK 2L A FHCY.
® Dbe likely to= ~& 71 ZCt ~& 7Hs540| QUCF2H= 2|0|0|Ct.  ¢f be more/less likely to: ~&t 7HsM0| o =C}/SCH
® While the top dog winning is not that exciting, the underdog winning is far more surprising and pleasing.
- While2 2AMES 0|11= HEALR, ~5h= BHHo'2k= 2|0]0[CE  of while2| & 7kX| 2|0]: @ ~5t= BHHO| @ ~5l= ¢t
~ the top dog1} the underdog2 SHAL| 2|0|&f 0=, SHAHWiInning)Zt LIEH = S2F2| F=H|0|CH SHALS| 2|0f4 F0j= A
ER ARACE, FUSY YR SHASEZ LIEHHLCE

@ This is because= ‘0|72 ~ I}20|CF2t= 2|0| 2, because F|of| 2= LHE0| o 2&t0] st 0| g7t EICt

I

74 | Yoi HHS =0iFE Ot 84 X1= XS HackersBook.com



EE) 10 2losewin 3@ 4(1)top dog (2) underdog (3) underdog

ZH oi&

ol 20| MZo= Jta MM 2H?

) H

@’ Why We Cheer for the Weak <z|= of otz 2eist=st =2 A
@ Underdogs: Why They Always Lose eici=: 152 of st 1=t Yot= 20|EE, 202 @ Q2|
® How to Predict the Top Dog in a Match z7(oj &2 of=st= w = off oIXtZ SeIst=TFI} FFE
@ People’s Support Can Change Who Wins Aol x|zt =7t 0[7|=%|Z 6} 4= Qi maict
® Losing Is Sometimes More Important than Winning
7HE2 017|= AL Xl= 20| ©f 230t
2 FF ©-60E S8l o= 2t
0| 22| ¥E %l the underdog effectS C}Z2t 20| LIEH f, BIZH0f| S0{Z2 22 S0IM Xpl Bf = oFxfl AC=0| Ze
O 2R, 0 & 7t5d0| =2 Y =0] 077]
The phenomenon in which people hope a team or person that is likely to = SHsl-Hdus g
lose will win NEHS0| & 2 22 FolLt ARZO| 012 %S Hi2te 31
3 (M) EIZE oM Ao o2 A &
2 EO[Lt A2 =02t 3,
o] 22| Y17 (A)2t (B)ol| S0{& L= JP& XAt H2? HIZH0| QI DEto|A & ZH ZHe E
(A) (B) O[L} AfE2 A =02t CHZEE|=
@®Instead e Nevertheless cyaiof - 2201z 27512 LiES M3iCt w2ty Bzt (Ao
@Asaresult e For example zaisioz - o)z Sof = wtalolf 7} 74ak MR
@ Asaresult e Nevertheless zuixoz - 22|z 27540 (B) HI7} koA AAEI=0| 0|7|=
& On the other hand - Moreover g0 - A|ciot
® On the other hand -~ Therefore wipiof - maty

X et Ardol| & 2lst| gt
=] a7 HIZHO| Ol=
0] 22| L2 O K0}, top dogZ} underdog 3 L1 HIZ0] S01Z LS Faf #A|2. THE0[BK o, EIZH0l =
. . L M ZX8E 0|7 |= He 22Y3|ICtD
(1) What is more likely to happen: top dog winning 1 &%t |= A& E38sitia
20i<t 715 40| B 2 3 E1=0] 0PI 2t A2BICHH ECHE O|RE F
(2) What excites you more: ___underdog __ winning atebd w12t @)l A
Gig of SO st 21 iLiE0l 07 /e X
(3) What seems to be fairer: underdog winning HEstrt

O SE5PA| 20l= A: 2IE=0] 0)7|= A

4 () 2% ©0f AZ=0f LCt.
(2) 2% O0lM E=0] 0[7]
Ch eltf=0| o|7]= Zo| Hf
DHEEAZCHD FiCt
) 2% @0i|M iH=9| o
oA =IHTICHD SHCE

Moreover, when only the strong win, we think it unfair.

- Mthe + @&Ab= ~8t AlRFE'0[2H= 2|0|0|C}. fthe + @ 8AL = 24 FSSIEE, F{0| S-S At win0| AJCH

> think + 2H0{ + Z&AL= ~2 50k MzZksict 0f7|Crats ojojo|ct.

It feels just for the underdog to overcome obstacles and achieve success.

- It2 7}%=010| 1, to overcome 0|5}7} ZIZ=0{0|C}. 0| 74201 it 2 s§A5HK| Qt=C}.

- Mfor + 2XMA 2 toE™Ate| o|O0]|AF =012, toE & AHto overcome, (to) achieve)7} LtEtL = SXFQ| Z=X|0|C}.
of Tof + SXA ;: Al2to| MA/E = E LIEIHE HEAZF QS I ex It’s silly of him to trust you. (42 2ICHL| = 0{2|A{C})

For these reasons, we tend to support the underdog and relate to their joy whenever they win.

- Mend + to-v,= ~5h= Z&0| UCF2k= 2[0j0|Cf.

- whenever= E8I2HHRALE, ‘~h mjojCF2H= 2|0|0|Ct. 0{7| A= whenever CHAl at any time (when)2 2 HIY £ 4~ QIC
of whenever2| = 7tX| o|0|: @ ~&t WOICt @ AHA| ~5HHELE (= no matter when)

|-
=
_Lé:E}'_Tl_

30

A=

=

OH
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pp.118~119

©® Honey bees are (A) disappearing / all over the world. / ® Tens of

BHUSO[ AR2EX| 1 QICt HMAXc= <0k 0r2|2|
O fHA thousands of worker bees leave their hive / to s?arch for flowers / but
== Yl UHS0| D250 HES MLttt £5 37| /s ShX| 2k
© 24o| ® MAH™oZ Aletx|D never return. / ® The remaining bees, / including the queen and the
C} @ 20t 0f2[o] 20| 22 57| 2[5 Chi SOIRX| 9=t dof gl s o of2l WS Baso]
HEIS [MLIX|OE CFA| S0}QK| QHeC). young bees, / starve to death. / @ Eventually, / the entire honey bee
© 0123} 0f2l S wfs(ol, o] 9l 20l Fet 23 B 27 #A7} SlEc
L e ol ZErt @ 22, B 27 colony collapses. /
M7t Sk
0| 31At0| 2006H0] XS 21| ©® When this phenomenon was first reported / in 2006, / over 800,000

SIAF 1o oo e e
OD._" 7H7|' IE—lih E'Eol O||:|| Xl_ Ol S0l Mg EXEQUS mh 2006E0] 802t W7t He

3Q
o @
0

r

X2 ZIZIICH @ 0|72 Alztst 2HI2 colonies had already died out. / ® This can cause a serious problem /
_ x= 0| Xk=|2 zt=loir HO Alztst 2= 5t A olr]|
0 HAISIEE =X 7o) Q0] ZQ5+ A because honey bees play a vital role / in helping plants (B) reproduce. /
B sl ol =05} odste 3 = AlZ20| HAIBIE 2 == 0| o]
815 51| H=0[h @ AX2. BHe o) ofLstol Bo| F2st g2 sl W2olct  ABO| HABIES S 20f Q0]
o Jlolnt FAS ZEHSI0] =Q Al © As a matter of fact, / honey bees pollinate 70% of our main food crops, /
o - Ax2 He 8o @ AlZF &H29| 7J0HMEZ $2A|7IC
%F&§9|7011‘|¢1|E§—¢—-E—A|?_|Ef@£ Eﬂ ga . | |T = | O'| e | f
0| QICHH, Q2= MU }MAZ 7|12 including most fruits and vegetables. / ® Without them, / we wouldn’t be
~ 912 Fio|CH iRl ndat MAE ZEsto] JRE@EY)0| gictH 2=
T HAZ= A .
© off 243t BAO| UoiLtT Qx| able to grow fruits and vegetables! /
of chsf 4Bt2 0l20] Uk @ 1 5 B AEsRE s as e
2 710| 314 QY AY L F2e = © There are numerous theories / about why such a phenomenon is
A0S = | sk a{At0] & = 3
9|r01|9| i§0| %(_9_ ‘?:Jo._IOEI _)r\_ 9,“:}‘_7'_ X‘” 02 0|250| ULt off 25k 34440[ UofLtm U=X[of| CHal
ABICE @ ¥ QIS Srj=o| occurring. / ® Many of them suggest / that environmental pollution,
HE = ore A 5 317 9o
HISF 21212 dislaiA, He Ko2 Jte diseases, or exposure to harmful agricultural chemicals / could be the
_ ElH] L 522 =oko|o] L= =Q glojol A
£%¥5H| O1E1%%23|EEI' =9, = ol 22 5202 ==0| Fo 2ol £
main causes. / @ Some researchers also blame electronic signals from
ALt R APYUS2 FUIES HA LIS E S6t7| = Bt
mobile phones. / ® They disrupt the bees’ sense of direction, / so the bees
JziSe YEo| W Ut Wit RENEEL
have (C) difficulty finding their way home. /
azige| WO JIE 48 §t o of2i8e ALt
D -
;2 ole
® The remaining bees, [including the queen and the young bees], starve to death.
~ including2 ~& Zel5t0{'2t= 2|0|o| TRIALZ, HX|ALT [17H 2 2¥ 2 57| 2l 28 Sl HU=(RACt
© had died= 17{etE AlH|(have p.p.)2, 017 | M= 29| £ A ECHE OT0f AJZHEl 20| TA2] £ ARl Bt [H2]S LIEFHTE
® This can cause a serious problem because honey bees play a vital role in [helping plants reproduce].

= [ 1= ™X[ALin(~ofl 2loN)2| SX0] H&hs Sh= SHAOICH
> help + 2X0{ + EAFAH,2 ~0| - 3ZZ SC¥ats o|njojct = Thelp + EX0{ + to-v,
® Without them, we wouldn’t be able to grow fruits and vegetables!
- "'Without + ™AL, =0 + would/could/should/might + SAtRIS -2 71&E 2PAHZ, ‘~0| QICHH ---& 2= o|o|o|Ct. o] 2%
OlMe= ZH0| U= SR Atadel BIHE 7Pgsta QAL

=But for + WA}, ~, =TIf it were not for + HA} ~,  ex. But[lf it were not] for them, we wouldn’t be able to grow fruits ~!

76 | Yol HEg =0ix
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[ | e
2Hl ol
1 o] 2| FHZ J1& MEst 72? 1 ZHOo| AlRIX|= &amt T 2lol g
0|2 Qlaff Ehist &~ Q= EXAEZ2
Mysie 20|02, FHZE @ BY
L pS|
— b |

Ol F0{7h= EX7t 7+

@ the short lifespan of honey bees zuio| e 4o

& the problem of dying honey bees z=io| Zoj7t= 2

® how honey bees live and move in groups zo| o= 22| xjo] A1 25l0|=%|
@ impacts of plant extinctions on honey bees 2 zzo| 240 7/7/= @a

® why honey bees have trouble making honey zwo|¢jzs ei=s o 212 =7

2 () 28 @-00|M Lgo| 2HS
Lt & CtA| E0tRKX| 2LOfA ot QU
2 0| Zo| YR} AX[SHH T, K| O F2 MA[Q. of = CHAl SO0FRX| G20kA ot R
o — b =3 LS —_ = Ja O O 7 EO >4 q __'.L
. . = 20| 0| = =0 25 2L &
(1) Honey bee colonies are collapsing because queens are -

1|=ICkD Fict
@0f| AA=x(0f UCH

&

leaving their hives. F
00| INSol YES MLt 7| mi2of ZE ZE0| S22 UCt

=b N3
—o
(2) The decline of honey bees was identified for the first 3) 22X @Of|M BHOo| =Q Al2F &f
time in 2006. 2| Z4+ 200610 *Z02 HolE/C, l So| 70mHMEZ 25 A|ZICHT SHC}
(3) Honey bees help produce about one-third of the crops
we eal. BYe 22t o Tgo| of 30| 12 WisHE RS BEC F

3 E¢ 0-00M ZH0| AlRfX= o
Ato| @lolo 2 5tA QY AlH iR

3 0] 22| W= £l a phenomenon?| Y9I L] 7}X|E LR MA|Q. 3
A0 =&, FriEe| MX}

rion

g 29, 2Y S22 soflol ==

4 (). ®), ()21 2 U2 SlojA] 2o 2ote U= S S 7
4 (A) 42 Fof|A £t 0j2|e] Yol

(A) (B) (C) HXl2 [['IL-}' E—}'Al E(”.Qx' ol—l—Ef
@® appearing =~ reproduce - €ase LIEfLHs - HABIL) - 4|8 =E= = e
@ appearing - reduce - difficulty vtepts - zoict - ofzig o8z, HE (Wl ‘Aetxl=0l
® disappearing -~ reproduce - ease ARl - HASIC} - 412 =Y MFsirt,
@ disappearing - reduce - difficulty setxis - zolct - ot (B) LI FloflM ZHo| = A2 =}
disappearing =~ - reproduce - difficulty rtatxis - wiasict - ofzig 22 £EAZICID ooz, 2

(B)ofl= HASICEE 2oy HES

ct

EE) 10 200FQTERF
384 2, Y, S22 5209 =&, FUHES| MXtAEs 40

© There are numerous theories about [why such a phenomenon is occurring].
- [1= T 2At + 0] + BALC| ZHHQ2E O, aboute| £&01 9&hg st QL.
@® Many of them suggest [that environmental pollution, diseases, or exposure ~ could be the main causes].
> [ 1= suggesto| 20| {3+ 5H= HAPHO|CE O|nf WA F& At that Af2Fst 4 QICt
- M| 7HX| O] &fe| tHO1S Lt wii= Z0tet &4 OFX|2f £Hof 2fof orfand]S A TA, B, orfand] C,= LIEHHCE
® They disrupt the bees’ sense of direction, so the bees have difficulty finding their way home.
- Thave difficulty[trouble/a hard time] + (in) + v-ings= ~5}= O 0{2{2/2H|/& = A|ZtE ZiChek= o|O|o]C}.
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© Are all black colors the same? / @ Actually, / there are various kinds

BE Z2Ms0| 227t Apd Closet BRo| 2240l ict

of black / with different levels of darkness. / ® Recently, / scientists have

22 4 247t otz Bz 022 7t 2|20 Dsixtse
© T ZHSM0| ZSTP @ ARAL 2t been trying to create the darkest black color. /
2t Ol F=0| oS 2 s J17l Clos = 7t ojs 2 Z2MS Brsei T e e Stk
Zo| ASM0| 9)C}H @ E|20f, TFBIRIS ® The darkness of a color depends on / how much visible light
S JIE 0|SS ZHOMS nt=a T L2 Mol o1FF2 ~0fl EERUACH LOfLE B2 7HAIZM0|
oD o)k is absorbed by it. / ® Normal black paint takes in about 90% of light. /
® 49| OS2 2 SiniLt ke Il 2zl o B4EIER  EWE F2Me ol of 0WHIES S4pict
Mol 70| ol ELE/=X|of LAY ® But newly developed black materials / can take in more light, / so they
[} @ Huist ZeMeS wWo| of g0l sixist B Hee Aoy 2RSS Of B2 WS B48 4+ I0f J2M OS2
EZ 4301 @ SHA[0H MEH JHe look darker. / @ For example, / a color called Vantablack absorbs / up to
gl oM 2RSS O ae ye 54 o of5 2 =Eeltt olE S0 Vantablack(2tEf=2H) 0|2t 22| M2 E45IC}
5t 2 9l0JA, O] OJE7| EoICt @ o= 99.965% of light. / ® In 2019, / MIT engineers created a black material /
Sof, HIEFZ20|2} T 22| A2 Hlo| 29| 99.965TH HIEHX| 20190 MIT SeixtE2 d2M =288 TSRt
99,965 MENIK| 435I @ 20194 that can capture 99.995% of light. / @ It is 10 times (c) brighter (> darker)
of, MIT ZEXISS o] 99 995T{ME 20| 99.995TMES ©S 4 Sl 2212 stz R 108 o Stk o ofSth
= o2 A 9l oM 2AIS oh=oful than Vantablack. / ® When a sparkling diamond was coated with this
£} @ 7 SHEPERISL) T0u] of ]S #ha0| Colof2c 7t o] 23 HaAE o
C} @ EPo|= CHO[O}2E 7t 0] 2l material, / it seemed to become invisible! /
HHES o, 22 ol Holx| 9 & A ROl oA E A
Z4x|2 By ® These new black colors can be used / for different purposes. /
® ol2ist A2 ZHame Clotst 2 olzfet M2 ZSMSS M2l 4 ot Closet 822
2 MO A QICH @ 2= atel Ao By ® When applied to a space telescope, / they can absorb any unwanted
o, 17152 2lx| O of Yolats & 22 Yo we| 2SS x| g Ofwt WolRts E48 4 Uck
282 OICt ® 0|42 B2 pHatst= 7 light. / (® ® This makes it easier / to observe stars. /) @ Also, / they can
S o 47 ot=Ch @ 3t OHsSe & 0|2 O &7 ehEnt HE A= A2 et BN S
25} 0|2 AHEEES 0t=7| Qs xzHAb be used on sculptures / to create wonderful pieces of art / and on clothes /
of 23)7 ==3 Cixjole k=7 9/ F24Y0 2 4 gt £5% ol AESS 0157 ol 23 Rof
20| M2 & 9r} to make unique designs. /
SE3t Cixjelg BiS7| Sl
IS oie
® Recently, scientists have been trying to create the darkest black color.

- Thave/has been + v-ing = SAXIAZ EIS A|M| 2, 2pH0l| ARl 20| SMRWIIK| E A& TS =g ZHx510{ LIEHHCE
- Ttry + to-v,= ~6t8{ 11 25y 2= 2|o|o|Ct,
of Ttry + v-ing.: (A[&] &foh) ~al| 2Lt ex. Demian tried ordering from a new pizza place. (Demian2 MZ 2 L|XtEI0|A F235HZICH)
® The darkness of a color depends on [how much visible light is absorbed by it].
- []J="Thow + EEAt + F0{ + SALC| 2222 F, depends onl| SX0{ d&ts 5t QUL 0| howe
of Thow + F0{ + SAt: Of2H| ~6t=X| ex. | heard how she dances well. (L= T47F 0197 £2 & ==X E94Ct)
@ called Vantablack2 2t0f| 2 a colorE £=Al5t= 1} 2A}20|Ct 0|l called= ‘~0|2t1 £2|='0|2t 1 s{jAiStT}
® In 2019, MIT engineers created a black material [that can capture 99.995% of light].
- [ 1= ol 2 Mt a black materialg $=4|5t= =24 ZACHHAPZO|CE
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ZH oi&

1 ol 22| ¥E 3l (a)~(e) 5, THofo] Ml0| HH3IX| gb2 H2? 1 2% @0|M Mol 0{FZ2 Lot &
@ (a) @ (b) &) @ (d) 5 (e) 2 JHAZMO| ELEI=0f L
Cid 30, 2% @-@0(M Hst A
2 0| 22| 5E0= Hof, L3 250 E0{717(0fl 7+ XH5t 222 SMo gOIME, MZ JHeE I of
. L T2 UHEEE2 99.965mMIES| Y

This makes it easier to observe stars. o|zie 42 matsi= 22 o 27 oh=ct T_ _FE = 1 !
2 g48i0in Yooz we o o
® @ ® @ & 0] E4E4AE Of OjE2 ZHeMo|

3 o] 2e| L83} URISIK| Y= A2

@ Black colors vary according to the level of darkness.
d2Me o|F22| F=of wat 2t7| CH2ct

[= It =

@ Ordinary black paint can absorb 90% of visible light.

s Ao MO JIA|ZHMO| QOHME S S48t 4 QIC}

S = == 5T

(5 Vantablack is the darkest material that has ever been created.

BIEFZ 20| O{ERTHX| BISO{RI 74t O{£.2 2Xo|c},

@ MIT engineers invented a material that can absorb 99.995% of light.

'E.IS E:'é %#ﬂﬂ}ﬂ ooz (c)
brighter(i Bf2)E darker({ 0%
)2 1x0F St

® ITIIT g_l;:WSS ?0219;99?”'135*“ <o %bno Hmi""it twork and clothi 2 Fo EEe dee gefol 2%
ewly created black substances can be applied to artwork and clothing. -
WEA S0F ZEA S ol olLt sol $ < Ach & 2eZol| LaH Ax| = 0 2ol
Btz S48 + Atke Ugel 2%
4 o] 22| LIS R HOL, I3 glZtof S0{Z L (E7])0lM S2t A2 ®2| 2toi| sigsto] 22 @2 F ol
RE A0| XA REZ, Q771
uses  sparkling  absorb  darkest  create - N ©
A}
855 ghatol= Eaoitt 1 ojge BHSCE =
Researchers are working to develop the darkest black. They have
s 3 O 2¥ 0-00||M BEfSE2 Ylo|
created blacks that absorb more than 99.9% of visible light. These
. . IMEZ giel 2o
darker blacks have several uses , such as improving telescopes 99.965HHES, MITOIA 7 el 4
) oM Zxle dlo NEZ
and creating art. =4 2ES WOl 99.995HHES
E43I01T Yoo, pErz W)
AFUS2 71 o2 A2MS JHESH| 2l L=2fstn ATt IS52 7tAIZH2] 99.9HMES A S+dt= d2Me
2HSOYHCE 0213t O O{F2 H2M2 YHFS MMsts At o2 Ffots A 22 R 71Xl 8=52 7HX| 1 Attt MITS| ZH2M SZ0| I 0O{F& Ml
2 oF A o]
= =2 T M
02 =8 00, 0= =% 001, @=
=g 00, 0= 2% @0 A==/
UL
4 =M &M Ea

EE) 1@ 206 303 4darkest absorb, uses

© ltis 10 times darker than Vantablack.
- MHifz=AL + Hl g + than,2 ~82CH 2 i o ---5H/517'2k= 2|0|0|C}. 0] 2Z0l|lM = HEFS 2T} 108 Tf 0J%2'0[2t1 SHAISHT]
©® When a sparkling diamond was coated with this material, it seemed to become invisible!
- be coated with= ‘~O 2 &5 X|C}, Z0|CF2H= o|O|o] 2SEl F&0|Ct
— Fseem + to-v.= ‘~3H= X2 HO|C} ~5H 24 ZTFats o|0jo|ch 0] 2AME =0 H0|X| o E ZAY HiCkatn sfAsict
® When (they are) applied to a space telescope, they can absorb any unwanted light.
- EAPEO| 07t FHO| F0{Qt ZE [, 5201 + besAli= Mafet = QUCH
® This makes it easier to observe stars.
- "make + 5501 + @&Ab= ~& --517| B2FECFEk= 2|0]|0|Ch 0{7|M= FE0] it 7ol HEA
- it2 7}2&010|1, to observe stars7} ZIZ2Z0{0|C}. O|uf 7}2 A 01 it 2 SHASIHK| L=

I=C

o] H| & easier7} AQALCT
F
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UNIT 10

® Erick and his classmates are big fans of K-pop. / ® (B) One day, /

Ericka} 29| g 2152 7|0[Ee| &t Ho|Ct o=

Erick brought to school / his favorite possessions, / which were signed

= Erick2 st of 7} 2tct 74 7tE EOfete AMESS T2 0|HE2 Redpinkt
© Erickzt Jo B ZlmES Fo|m albums by Redpink and Black Velvet. / @ (C) He showed off the albums
o| oiz45t THO|C) @ Of= & ErickS 3t Black VelvetO| | AtelS EH2 AUHSO0|ACH Js= 3 WHES Do ZRS0A|
Do 7t 7k Sofste AREES 7} to his friends / and then put them in his locker. / @ (A) But, / after
XMeted|, O|Zd=2 Redpink2t Black NS J10 LM OREE T390 AFSEof EUCt SEX|2F

VelvetOl|7] AFQIS HFS oiB{0|QiCt @ gym class, / he discovered / that his Redpink album was missing! /

=
~ ~ HS A0l & T HFoSHE el ink 2E10| AF2FRI Z1E
QL oS FTLSol| KEsim LIA] s s =0l o= T 72| Redpink WO ARZHE 213
AF2t0|| HOICH @ SHX[TH HS 29 5 ® Erick was suspicious of three classmates / —Spencer, Tate, and
icke 00| H} X|71=0]| o|AlAR]| 2|,
0f, 1= Redpink 28{0] Al2pzl 712 gt Erick2 Al He| gF ZI7S0] 2y A2{RACt Spencer, Tate, 12|11
AMCH @ Ericke 2= HS 20| & James— / who were all late to gym class. / ® He said, / “One of my albums
= RIS 2210 ST YO U WS B A
= Spencer, Tate, 12|11 James, 0] Al James 25 HS U0 =) AU LUS S S
5ol Bt IS0 oAl ARSICH @ 1= is mjssing. / ® Why WL CIESE late?” / ® Thf:se were th}eqir iSpone /
X EE=S =0 HE Eo| EHH{ = (|0
f @ Z BT AIZITOL @ L{E|S AfetEof LISIS 9f %401 NP ENEEER N
9 S=9i0{7"2t it @ 0|ZiS0| 1 Spencer: ® “I didn’t touch your albums. / @ I just had to borrow a gym
o) erstojeirt Li= U Sl 20K 2it0f o 1 HIS=S Waiof o]
=2— -H = AL
Spencer: @ "Lt 4| Aol CHX| 8} uniform!”/

(AL @I HSES Y

2{0F 3Ho{1”
Tate: @ “Li= BHA| A0 @
AIX|0{ Redpinke| M= OfL|OF”
James: ® ‘L= S5 20| Q2 A|
7t S0t shEkAlof| QIQ101.”

9

L

Tate: @ “I went to the nurse’s office. / ® 'm not even a fan of Redpink!” /
Lh= B2i4of 24401 =t 2X|0f Redpink2| T OFL|OF

James: ® “I was in the restroom for a long time / because of a
L= @8 AlZH S ahaofl AA0T £ =ol

stomachache.” /

\J
—_

oM n2

@ Erick figured out/ who had taken his album / from their statements. /

Ericke 2fofsic Loh a0 WHS JIMURER]  15e| KlaRs

N
Rl
)
3Q
rr
Ral
nQ
(=)
3L
ful
®
[
o 1N

,_
ol
;O

ot B2 Erick0| 2SO0l RsHR| St
= ® It seemed one of them knew something / that Erick hadn’t told them. /

OS5 53 82 FAVIE ok A AT ErickO] ZIS0{|7| 25| FtH

—
=

rO
S
i
<2
rir
N
mN
0
(u]
®
=

ne
0E
mo g
|

ol

Ericke J0f|IA| A Afntet
B

t,

il

® Finally, / he got the album back, / along with an apology from him. /

oFEIU JErick)= dHS SHUUAT A Akt &7

D -
S22 ol
(3]

One day, Erick brought to school his favorite possessions[, which were signed albums by Redpink and Black Velvet].
- [ 1= 2ol = his favorite possessionsE MIALZ 7HX|= AL E 8-l BACHYAIEO|CE 07| M= O] O|AS(37t 7H& Z0tst
= AZES)2 ~ofCf et s ASiTt.
- signed= F|0f| 2 albumsE £=Al5t= T EAL0|CE Ol signede= ‘ArRIS EH20|2t0 SHAASHT
® But, after gym class, he discovered [that his Redpink album was missing]!
- [ ]= discovered?| =X0{ Aets st= HAFHO|C]. O|umf HAFE TLHAf that2 M2Fgh o~ QICH
® Erick was suspicious of three classmates—Spencer, Tate, and James—[who were all late to gym class].
- [ 1= ol & MEA} three classmatesE ~Alot= 24 2ACHHAPRO|LE.
@ Erick figured out [who had taken his album] from their statements.

~ [ 1= Z0{7} o240l 7ol 2 2O, figured oute] X0 22 5ka ST,
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ZH oi&

1 What is the best order for sentences (A)~(C)? 2 (A)~(0)°] =42 7 Hxst 227

-
m
3.
Q
=

o
X

9| gh ZI5150] 0|2l #O|

@ (A) - (C) - (B) @ (B) - (A) - (C) ¥ (B)- (O -(A) 2t dyst 2, 2ot Aol 2EQ
@ (C) - (A) - (B) ® (C) - (B)-(4) ARlE B2 HHE ol ZHRACH
= U882 (B), 1 &HS T S0lA
2 Which is NOT true about the passage? o| Ze| Ljg1} Lx|six| ot 2127 X2tst = AF=2EH)| EQiCH= (C), H|
@ Erick had a signed album from the K-pop group Redpink. £ 50| W L7 ARRIRCH=
Erick 7|0 359! Redpink2| AlQlg BH2 S X1 QUJCH
(A2 50| 7+ =HEsITh

@ One of EricK’s classmates didn't bring a gym uniform.

Ericke] gt ZI9E & & Y2 MI=S 71N K| ATk

® Erick suspected that a student who was late to class had taken his album.
Erick -2{0fl X|2}st at40] 10| e FPRIZITHD OfAlsHC,

2 @: 2% @0|M Spencer?} Tate,
James7} H|= £=20] =RUCt 1= 3

oF, M ol ZAdst Argofl of

2 oich

@OllM Spencer7} X2

OF #Ct ooz, a7t |

7

PHRX| s & = U

@& One classmate was absent from gym class because he was sick.

w217 8 @] OhutA M2 42lof ZAsHC,

Ral

® The student who stole the album apologized to Erick.

BHS FZI SHA2 Erickof| ] ALRHHCE

e
o
-~ |'|

oA

ne
i

3 Who does the underlined him refer to? Write the answer in English.
L= Z him0| 7127 |= A2 +7217F HolE MAQ,

Ho o © ro
HO
o

J
o

S = T
Tate e
Ct.
T TR ) D2 25 @0, 02 2 @0, O
ICN sayin est describes the passage? o| 22| Li2S 7|& & Mush= &5t 2oiol7?
ving passag 23 @of A1ZE|f Yct

@ Walls have ears. == 77} QIct (<22 A

= uio
[SnE- e

rlo

77t Ect)
@ Even a worm will turn. wejzxts Sopd zi0[ct (R[2j0|x sfow BEsHL)
& The guilty dog barks first. z7t 1= 747t eix Sect (250| 7| 2 X2ICH)

@ Actions speak louder than words.
LECH SO0 B 37| LI (Y DiC| ZEC} 5t 7HK| fS0| & SL3tt)

®@0]| A TateZ} X}£10| Redpink

w
fm 1o Mo
g 02

® The best defense is a good offense. 9| woj= (z2) 20|t ARRHO| WS 7pRZIS S o & 9l
C}. M2k Fe] HHO| AR =X

s
kel
N
™

10| O|2| Q= TateZ} him

4 Erick0| O{ 0| ARZPE=X|
SHR| UM HX] RedpinkS o
35t Tate7} Bi0l0|9{0 02, &5t
2O 27t U= W7t UA F=Ch(E
SO M| & Melch)y 7t 7he MEst

EE 1@ 2@ 3Tate 40

- had taken2 ItH&tE A[K|(had p.p.)E, 0| EF0IM= 2| EF AIFELHH oMo Zdst &, & [CHatAIE LIEFACE Ericko] &

OFRE TP 2| AL} I OF0l| HHE 7k Z{{CH= 2|0jo|ch
® It seemed [(that) one of them knew something {that Erick hadn’t told them}].

-t seems + that® ,2 ‘~¢l Zd Z'C}2t= <|Ojo|C}.
=TZ0{ + seems + to-v, ex. One of them seemed to know something that Erick hadn’t told them.

- {}= 0l 2 H&lA} somethingS $=Al5h= SAA 2ACHYAEO|CEH MAliAto] -thing, -body, -oneQ 2 ElLt= CHEAF MRAS f
= F& thatg £C}

- Mell + ZESH0| + =M= ~0i|7| -2 TelFCf, LEHF0FER= 2/0[0|ct 0] 2E0M= themO| ZFE=X0], { 12| MlAL
something0| 22X 0{0f sHESHCE  ex. Erick hadn’t told them something = Erick hadn’t told something to them

- hadn’t told= 2}7{2t2 AlR|(had p.p.)2, 0| 2RI 2472 £ AIFEC} T 00| LAst U, = [CHDAHIS LIEFLACE
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* Review Test °

UNIT 01

1© 2® 3@ 4@ 5@ 6whenitcomesto 7 delicate 8 fall out of favor 9 2L} 2F 452 0], 7Hm[2l0]
=0l &t85| SEof| a2t T S0 ARREX|7| AIESICE 10 SIZ0| DIEHA, A2 222 S0|2ER 248 FE| 2 H7 ECt

[1-3]
1 preserve(2E3ICH - © O 212 T2 Mel2 RAIst| 23 1212 BEsitt
2 proper(2612) - ® SFE MF| HEsbiLt Lo

3 steady(ZHsH - @ O S L2 $F0|Lt L2 H&5H=

[4-5]

4 possesses(2RECHRE 7H H|%EH 2|0[Q| £Ho{= @ ‘owns(AREHTH O|Ct.

e
0t
4
roe
inl
S
HL
fol
ro
o
@
02
ook
mjo

7IFICt ®H

nx
o
n

5 assumedEEEICHt 74t bl2t 2|02| THOf= @ ‘supposed(FSEICH0|C}

@ SYEC ® Szt @ ZEECH © ¢7|Et
[6-8]
Mol A= A3t 217|E glojrz|ct iRl ~0f| 2rafj A2t

6 Zfof 2ot Fetst S50 7HY SR8t
7 O TAS2 AAsh| 20 0|HES SZ W ZHsHFMIL.

Z05t= A2 712] gl & Aot

[9-10]
9 go away: AR2FX|CH

10 leave behind: (EX-7|1E 58) =474 FCt
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unIT 02 B

9 12iM, ORE

1® 2@ 3resemble 4 pursue 5 influenced 6 consist of 7 stand out 8 disagree with
2 Hof| Ho{X|7|ECh= 330l =t 10 J= of2 AJE LU B2 HES YT
1 determination(Z2))xt 7}&f H|st 20| EHo{= ® ‘will(2|X[) O|Ct.
AMHEE E23Ee JH9 Zo&= JHE £2 QAR BHERIC
@ HEY Q@ &8k, =5 (OPNE| @ iy
2 @ status: X|2|; AEH
« 2N, Adams BARE 32| stuloM =2 X E Z=C
+ O[At= & Z0i| Edward2| HEf7} ECta SHCH
® 7|2k 80 ®=EH @ Mg G oH
[3-5]
3 Michael© T19| OFHX|Z (&5HX| / SX|) 4UX|BH ISS H|23H 242|2 JHX|D QT

5| ==

[6-8]
SOl ~of SZBICE -0l SEXI Lt ~o2 MELt -~ R0

6 A Ui S90| Dl&E0) HAIE ZOIK| 2 QLI

B: Lt 1 FAIZE 0f2 SiC} DSBS 2 A4S ZHolztn S910f,
7 AUlE o Sy D, M Yol R2 AL

B: CIZ ARRHS AtO|0IA (=0f =30 417| mh2olof
8 A LtstmIt SIS0l D271 YISt 242 518 5HX| 22010} BITHR A2fs

B: tt L] 9|70 SIBHX| S0 1t 10| HZEI0{0F BITHT 4213
[9-10]

9 rather than: ~2LCt=

10 suffer from: ~2 9Tt
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> Review Test

uniT 03 ESIR

1® 206G 3invade/Zlal5ICE 4 identity/AX|(M) 5 proposal 6 collection 7 lookup 8 carry out 9 A|C}
o

YoM AlSElE S2S2| +5 SUCEM g0l SgHel JekS 7IEltt. 10 2F7t Brassau?t =712UX| S5

, @, 0, O= YEAM0|1, @ journalist(7[X}) = HALO|C.

o]y @ Helst ® =8%t (OR=migsh]

2 ordinary(g#shet 71 Bzl = 2|0|2| tHo{= ® ‘outstanding(F0{it, F=2{Zl)yolCt

oFI @ Fo ® 29 @ %3t
(3-4]
St EsfEict weh MEtE mAGY  ZkSsi

3 O ARRZIO| ZHRIZIQl SZHo[Lt Ardgtol| R oz Fokg 7IXICt - invade/&SICH

4 0| FF0IX|E PtEE EAE - identity/ | ()

(5-8]

ot 22E) At Sesict Het HHE STt

9 have an effect on: ~0i| 2&FS 77| X|Ct

10 in person: 27
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1® 2® 3@ 4imitate 5 contaminate 6 ease 7 recognition 8 discard 9 Y¥=0I=2 ZH0|2tE M
O AJRHE S FHRURCE. 10 22l oS AALt0[of 2la 72| El&E atCH

1 O ‘sight(Zd)yel 2HI2 €Y Z0|= something that is worth looking at(22tst 7+X| 7t Qle 1._1 Z1)0|Ct. beating someone or
something in a competition(Z7|0f| A O{fH At2} L= O 71 0]7|= Z)0f| sliEsh= BHo{= win(&2])0|Ct.
@ BZ - RS 1 20| 0FH =HRIER
Q@ HE, 22 - 5t LIZtof Ab= AFRES2l SHIZQ EE
@ M2 Aret - OfFH AR Eoi= O Zd0f oSt #R|xel FHE
O Y35t - T2 0 AR Y= HOF= JZ0[LE AR

[2-3]

|O

2 enormous(CHEhHQt 7+aF H| %5t o|0]2| tto{= @) ‘huge(E) O|Ct.

@ ot = @ gsHel @ =2, Az oL

3 flee(=Y7ICHet 7t B8t 2|0]2] £H0{= @ ‘escape(=YX|CH) 0Tt

45 520, 2571 20| & AS0iM =2E = AUCE

@ oot @ &t @ Z04Uict ® Zct

[7-8]

214 2|t | HAISHC
7 AOEEE 39 A 2ZEQY0E 0|3 F4l0] 2sh= AS olsieh = ALt
8 2 MEESO0|HIZSXIS B 8 et ALZ S 20f BZIC)
[9-10]

9 atany minute: Z2&0[2t=

10 sweep away: E/£CH
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» Review Test
uniT o5 ERECE

1® 2O 3store 4distributed 5 replace 6 was full of 7 (to) socialize 8 draw attention to
=, YE|XH|A 24| 0{eh2 QIS 0=, ShH[o] QI2HEl ZE AFRISO| FHXIACE 10 22 J24S0| HofLy @2 J2(0 A
B0l 20| =X|of AL

(1-2]

1 ® overlook: Zta}5tC}

2
in}
N

10

o

to

HJIO

e

ﬁ
OII

Rt FAISHCE

(3-5]
3 CHEHF= F2 AS0IM Hore7| f/al LR FoiE (MEEiCH/ S7EH).
4 Glorial|= T1142| SPEE DR0|7| ARX|S (SR LHF0IFRACH.

5 Brads J°| HRH ZLIHEH 2 A2 2 (S / EE) ZolCh

[6-8]

~Q &2 715 it of=2Ict ~0f 242 ZOfLAC sttt |2 wx|C}

6 2= ZHMO| DiTIEUY| 2ol O SAE2 K|k Lo AFSE 715 MCE (0]w 2F0i|M 24 S LIEH = last weekend (X|'F 227+
)

MAOCBEZ beS wasE 11 MOF S

PIS0| M2 0122|= AS £ 2 U2 E&2 FHIRCL (O|n 220l 2421 help= Thelp + SX{0{ + SA}
socializeE SARIE O Z ML} to socialize2 11X MOf SHC})

8 =2y 2ol 2tyS S0U7| fIsl 2ol ChEt CHRE2|S FMARUCE

[9-10]
9 except for: ~2 H|Q|5t11

10 depend on: ~0i| 22T}, ~0f| 2ESICH
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12 2@ 30 4® 5@ 6flowinto 7signupfor 8dispose of 9 EESH EHAO| 2AX| = MH|AZ H|A|ZE
off FlAagh 4 S el Zlof FASHREEEL 10 250, B0t 242 &2 3710| J=d|, 2140| 0| S Safsf| XLz

1 0.0 6 0= }20 2AH0|1, @ Trisk(PIR(H)) - safety(2tH) = Br|of 2tA|0|Ct.

@ J23iet - H2Isiet ® AL - STt @°f(E) - ©® s2|tf - AFsict

[2-4]

2 posture(XiAll) - @ ARZIO| A QU7ALYE, Skt AZLE SE|0]1 = WA
3 point(Z}2|7|Ch - © 712t = O ARZIo[L O 242 7t2|7|Ct

4 anticipate(0|Z3|C) - ® 0fH 210| OJ2H0f] LO{E S O FSHALE Of &5tct

@ H|wsfct @ B3t ® HE it ® fIgstct
(6-8]
~2 X[t 7h2ks| ATt ~0f 2t ~2 L5t ~22 Z3{7ICt

[9-10]
9 intime: HA|Zto, SX| LA

10 pass through: ~2 E1}3l X|L}7C}
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> Review Test

unIT 07 FEIE

1 valuable 2 religion 3 judge/EEHSICH 4 correct/WASICH HIZRICEH 5 threat/QI&&Q) =X 6 take away 7
policy 8 suffer from 9 O] &Aooz 152 2330 ZXMAM 302XR2| VR X2 552 S0MFCt 10 2 21, O Ligk=

=0| &AL

(1-2]

BHOH(FEAD - BRI(FAD

1 YAtvalue(ZtX|)2| EEAFE 2 valuable(ZtX| Ql=)0|Ct.

2 S &Atreligious(E12])2] HAFHL religion(Z1)0|LCt.

[3-5]

HY EHerstot WSl HIZ2 T IEH =X LS &=
3 AMRES 12§ S0 o™ Z19| 7kX|E ZHSICt - judge/EHEHSICEH
4 Z=XE siZstn Y2 SHIEH| SHCf - correct/ WM SICE HIZRICEH

5 CHZ ARSI #8718 £ 2 £ 27t 2017t - threat/?2ix/el Zxf

[6-8]
EY) Yst  ~sYCt  wWH I 4
6 A0 AALS ZOfR FYRI0] 122 N2 ZeLch
7 mEo) e stmol YHL 0 AHYUC
8 NS Yt ARES 1|8 of & Hojof sict,
[9-10]

9 gothrough: ~& Z0tX|C}, ZAC}

10 short of: ~0| =5t
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UNIT 08 E=siabl

1@ 2 observation 3 analyze 4 Confidence 5 population 6 applyto 7 harsh 8 is composed of 9 17
2 AX[E0[2f E2|= &2 250, 0|2 SHO|of A= MeIEs Wi M) 10 2532 OHMETL 9| &FF A=

O 20HHIEO|M LIRE A2 ER{RITh

1 O 06 0= R0 A0, @ tidy(ZEE - messy(X|HZE) = #He|of 2HA|o|Ct

O3, 45 -4y @ HOoiFCt - HofZrt ® &l - E3 ® ABMSICH - GAMSICt

[2-3]

ME(HA}) 1 MSSICHEAD
2 SAlobserve(ZHEFSICHO| HAFSE observation(ZH2H0|CF
3  Atanalysis(24)9| SAIE 2 analyze(2A{81CHO|CE
[4-5]
4 (RRIZH 288H2 AIRIE0| I8 A8 U2 27|82 &L}
5 U2 AE0| MESE oMM, O (8BS / Q117 SIH3HCE
[6-8]

EE5 ~of HEg=/ct ~O 2 pHE[Ct AR O Bt

6 st eel2 184 0[2tel BE S0l HEE Aol

i

7 ox
8 ®M, RE ABHEV)2 R0l §Ix/3t 277 FHS2 THEICE (Olaf 22| 3017} The European Uniono| 1, 220lA SIS Ltk

Currently(34x{)7} MAC D2 beZ is2 11X MOF SHCL)

T AL S20| AlH|2[0ote] S 55 IME AE + RUCL

=

rr

[9-10]
9 liveon: ~2 M1 ATt

10 turn out: ~O 2 E2{LiCt EHHE|CH
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> Review Test

UNIT 09 FETREE

1@ 2© 3® 4® 5impact/ESE, 52 6 alternative/CHQE 7 decorate 8 stimulate 9 0|22 HE AFZF
=0| 3[Ate| Mol Solg mf AOo{LITE 10 ZSHAFS2 0 AFZ40| S ZEETH OfL|2t X[ 724e| HE MHA|e| oF 75mHME

HAIZIE Aot FHtH

i
>

OS¢ @ (LtS)HHE ®7F O]

2 H|#|o] Z2Hels oS W2 St - © rotate(3|F5tCH

3 I EAEEZEQN TS U2 ARSI K|9S HS3Ct. - ® assistance(=2)

4 M2 ot Biksts tRRO| AI9I7t U ofHolCk - @ large(T722))
[5-6]
CHot 7|& b 2 54 H5A
5 ot 2X|7t Ct2 Ex|of| 85| 8oLt 2 - impact/EE, £
6 CHE of A Mol DE & Qli= MEX] - alternative/CH Ot
[7-8]
ZEg 2|t Xt=sict ATt Zesict AfH|stC

[9-10]
9 agree with: ~0f S2|5}C}

10 «ill off: ~2 SAFA|F|C, MBA|Z|CH
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UNIT 1 23 p 124

1® 2 possessions 3 reproduce

ol A &2 HoLt AtEh2 B=(Z7h0l2te It
A & AXMY ERCH

22

1 @ suspicious: 2|AIA

4 obstacles

5 disrupted
10 £P%0|= Cto[0F=E7t 0

8dieout 9 ZA7|0M

2 HoliNS m, 22 =0l 2O|X| &

6 capture 7 figure out

I ':'KI

O ALRfO|Lt Ot ZiS RIX|

| ® 3%st @ s&2st G 2
[2-4]
2 =SE SO0Y2 39| JHE XA (ATEE / EHE) S stLtolct
3 £2 (HAsP|/thEsE ) flo Lt LIHIZEH =SS LQ 2 Sict
4 Davids B2 (V|HE /| ZEE)S FE6ID RS AFAS AIRIHCE
[5-6]
e Zt7| =Lt ZASICH ZrS A7\ 3ot
5 ofxittof 7§ A= A2|7f L AHS HFACE (0]t SEHIA TS LIEFHS last night(O{KIEH0| M0 D 2 disruptZ disrupted2 115
MOF SHCt)
6 o2 YHS 20| P& TAGIE O ALSEIC)
[7-8]
N e AOtLHCH HEslCt ~0| &St
7 He o] Z2Mo| HES LotiL? L= =20| & EasH.
B: J74 7HEtel. = B S L7t oA 20iEA|
8 A 227 0{RE Atdst= A JMEX| =0 LELItOA 0= BEE 7ok
B: S2lal. ?2l= IHES ES8H0} of
[9-10]
9 belikely to: ~& 24 ZTf, ~& 7+540] ULt

10 be coated with: ~2 2 Zls{X|C}, ZO|C}
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UNIT 01
1 p.3

A
(1) afford
(2) crack
(3) debate

B8

(1) season to travel
(2) should be kept

(3) has been standing

C
(1) milk

(2) tea

(3) delicate
(4) temperature
(5) break[crack]
(6)

6) enjoy

UNIT 01
2 p.5

A

(1) absorb

(2) concentrate
(3) immediately

(1) so does her older brother
(2) even more difficult than the one
(3) The gloves kept my hands warm

= 0O

(1) concentrate[focus]
(2) caffeine[sugar]

=
7| siMe= FES selsiLy, e

(3) sugar[caffeine]
(4) go away

(5) absorbed

(6) sugar crash

UNIT 01
3 D7

A

(1) reflect
(2) layer
(3) dry up

(1) had rained
(2) tall enough to reach
(3) where | bought

C
1)®
2) Part of the surface

)
)
3) The entire surface
)
)
)

N

@
5) diamond
6) hexagon

(
(
(
(
(
(

UNIT 01
4 p.9

A

(1) fascinated
(2) illness
(3) attraction

(1) one of the longest rivers
(2) told me to kick the soccer ball
(3) It is disappointing that the restaurant

= 0

(1) treatment[cure]
(2) dead

(3) healing powers
(4) headache

(5) ground into

(6) mixed
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UNIT 02
1 p.11

A

(1) rather than
(2) resemble
(8) rare

B

(1) would like to ask

(2) easy for kids to understand
(3) a great place to relax

C

(1) ice crystals

(2) snowflakes

(3) float

(4) necessaryl[right]
(5) cold

(6) humidity

(7) wind

UNIT 02
2 P13

A

(1) refuse
(2) give up
(3) pursue

B

(1) always practices playing the cello

(2) All the band’s songs sounded very
similar

(3) His dream of climbing Mount Everest
came true

(1) gold medals
(2) world record
(3) walk

(4) diseases
(5) paralyzed
(6) running
(7) athlete



D
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I
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o
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UNIT 02
3 p.15

A

(1) stand out
(2) majority
(3) break down

B8

(1) the longer, the more
(2) tend to sit

(3) what his parents want

C

(1) opinions
(2) fitin

(3) stand out
(4) emotional bond
(5) decision
(6) status

UNIT 02
4 p.17

(1) room
(2) ancestor
(3) plenty of

(1) The concert hasn'’t started yet
(2) Some people argue that tomatoes
(3) More and more people are living alone

= 0O

) cavities
2) tough

) raw
)
)

W

4) jaws
5) plenty of room

(
(
(
(
(

UNIT 03
1 p.19

A

(1) emit
(2) guilty
(3) livestock

-

) may be delivered

(
(2) the Sydney Opera House, which was
completed

(3) look like gentlemen

C
(1) regular

(2) guilty

(8) create

(4) greenhouse gas

UNIT 03
2 p.21

A

(1) fake

(2) in person
(3) curious

=

(1) It was a shooting star that Mina saw
(2) whether this is the right answer
(8) not wood but metal

(1) praised
(2) delicate
(3) chimpanzee
(4) journalist
(5) difference
(6) fake

UNIT 03
3 p.23

A

(1) assist
(2) qualified
(3) operate

(1) whose eyes
(2) a novel written
(3) cell in the human body has

(1) everyday[daily]

2
3
4
5
6
7

robotic parts[wearable robots]
quickly

easily

less

longer

wearable

(
(
(
(
(
(

—_ -2 = =

UNIT 03
4 p.25

) coastline
2) privacy
3) incident

(1) It was such a beautiful painting
(

2) Joy called the airline to cancel her
airplane ticket

(3) The café where you can buy waffles

C
1
2) remove

(1)
2
(3) refused
(4)
(5)

= P

—

aerial

4) lawsuit
5) looked it up[look at it]

UNIT 04
1 p.27

) discard
2) donate
3) contaminate

= P

—

(1) Considering her age
(2) is used to make
(3) who[that] discovered gravity

C

(1) charity organization
(2) profits

(3) in need

(4) ecological

(5) toxic
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UNIT 04
2 p.29

A

(1) release

(2) imitate

(3) recognition

B

(1) one of the largest birds in the world
(2) The guy sitting next to the window
(3) Tim’s family has decided to move

Mo

(2) a portrait of a woman
(3) a portrait of a man
(4)
()
(6)

=~

®
5) the color
6) the texture

UNIT 04
3 p31

A

(1) terrified

(2) come across
(3) well-known

(1) has met the president
(2) decorated with gold
(3) Even if it snows

UNIT 04
4 p.33

A
(1) injure
(2) sight

(3) urgently

(1) The TV had been fixed when Justin
arrived

(2) The more popular the actor got, the
busier

(3) If I had eaten lunch, | would not be
hungry

C

(1) beach[shore]
(2) pulling back

(3) high hill

(4) earthquakes
(5) before

UNIT 05
1 p.35

A

(1) replace
(2) except for
(3) influence

(1) would like to buy
(2) where hip-hop started
(3) may be released

= 0O

(1) Jane Austen
(2) woman

(8) online petition
(4) signed

(5) Bank of England

UNIT 05
2 p.37

A
(1) slightly
(2) Raw

(8) distribute

(1) The school requires students to wear
(2) the reason glaciers are melting
(3) how fast bamboos grow
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C
(1
@
@3
(4
G
(
(

Continuous
body muscles
myoglobin
red

move around
pink

white

6
7

—_ T D = —

UNIT 05
3 p.39

A

(1) beneficial
(2) chaos

(8) consumer

B

(1) without meeting them

(2) the Colosseum, which was built
(8) choose to travel

UNIT 05
4 p.41

A
(1) symptom
(2) force

(8) ignore

B
(1) stop the bugs from biting you

(2) The articles published in this
magazine

(3) Those who have many friends

Cc

(1) blinking
(2) clearing
(3) repeatedly



D
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I
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o
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(4) ignore
(5) treat

UNIT 06
1 p.43

A
(1) sign up for
(2) in time
(3) remind

(1) museums to visit
(2) so that she could catch the train
(3) when we can meet

= 0O

(1) remind their users

(2) forget to cancel

(3) automatically charged
(4) the terms and conditions
(5) marking your calendar

UNIT 06
2 p.45

A

(1) pass through
(2) narrow
(3) risk

(1) with his shoelaces untied
(2) The number of wild animals is
(3) a book, which became a best seller

C
(1) wrist

(2) nerves

(3) Repetitive
(4) palm[fingers]
(5) fingers[palm]
(6) severe pain

UNIT 06
3 p.47

A

(1) in advance
(2) arise
(3) according to

B

(1) Which seat

(2) what to plant

(3) Every door was locked

= 0

(1) difficult decisions
(2) answer

(3) situation

(4) programmed

(5) responsible

UNIT 06
4 p.49

A

(1) get rid of
(2) ecosystem
(3) contaminated

(1) Holding the camera in one hand
(2) The actor | wanted to see
(8) The bakery where Rose buys cake

(1) trash can

(2) chemicals

(3) surrounding

(4) pharmacies

(5) discard[dispose]

UNIT 07
1 p.51

A

(1) Make sure
(2) surgery
(8) result in

= @

(1) sad to realize
(2) Whenever you need help
(3) while putting

UNIT 07
2 p.53

) inappropriate
2) apply for
3) remove

= P

—

(1) whether someone is telling a lie
(2) Although the traffic was heavy
(3) Using plastics has caused

C

1) Employers

2) take away

3) determine
)

(
(
(
(4) threat

UNIT 07
3 p.55

) volunteer
2) rescue
3) solution

= P

——

(1) has been fixed
(2) Once you understand
(8) had been studying

= 0O

) headset

(
(2) virtual
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(3) higher floor
(4) treatment
(5) afraid

UNIT 07
4 p.57

A

(1) severe
(2) valuable
(3) drought

1) that my phone is not working

(
(2) What if | won the lottery
(

3) The volleyball practice made me

exhausted

C
(1) Severe droughts
(2) debt

(3) short of

(4) larger bills

(5) hyperinflation

UNIT 08
1 p.59

A

(1) device
(2) preference
(3) wonder

=

(1) is more likely to cause
(2) might[may] have left
(3) Germany, where he visited

C

(1) marketing

(2) programmatic advertising
(3) automatic program
(4) Internet cookies
(5) analyzes

(6) advertisements

UNIT 08
p p.61

(1) live on
(2) crush
(8) concern

(1) These shoes aren’t what Sally wanted
to buy

(2) The book is being translated

(3) It takes 10 minutes to get to the
theater

C

(1) cloth[pottery]
(2) pottery[cloth]
(8) attractive
(4) products
(5) protein

(6) allergic

(7) sacrificed

UNIT 08
3 p.63

3) reveal

B

(1) are considered sacred animals
(2) with her arm bandaged

(3) encouraged him to run

= 0O

(1) rejected

(2) messy[unprofessional]
(3) unprofessional[messy]
(4) straightened
(5) wigs

(6) curly

(7) show
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UNIT 08
4 p.65

A

(1) harvest
(2) apply to
(8) observation

(1) It is convenient that a library
(2) If we don’t leave now

(3) If it snowed outside, the children could
make a snowman

C
(1) effects

(2) causes
() pea plants
(4) land

(5) work

(6) remaining

UNIT 09
1 p.67

A

(1) policy
(2) support
(3) in need

B

(1) drawn by Picasso
(2) time to spend

(8) tried to catch

(4) dream of winning

C
(1) Protest
(2) refuse
(8) moral
(4) support
(5) sellers

UNIT 09
2 p.69

A

(1) alternative
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(2) rotate
(8) activate

= 0

) three times as fast as

2) not only appearance but also
personality

(3) you don’t have to do it

(
(

UNIT 09
3 p.71

A

(1) uncover
(2) assume
(3) massive

(1) would have won
(2) caused many buildings to collapse
(3) while[whereas] tigers eat meat

(1) asteroid

(2) crater

(3) sulfur

(4) atmosphere
®)

(6) temperature
(7) killed off

UNIT 09
4 p.73

A

(1) achieve
(2) participant
(3) decorate

(1) There used to be a park
(2) they had made yesterday

(3) what dessert she likes best

(1) taste

(2) memories
(8) childhood

(4) camping

(5) cacao leaves
(6) scent

UNIT 10
1 p.75

A

(1) pleasing
(2) cheer for
(3) badly

(1) is likely to rain
(2) think it possible to cure
(3) whenever | get angry

UNIT 10
2 .77

A

(1) reproduce
(2) direction
(3) blame

=

(1) the show had just ended
(2) Without oxygen, we wouldn'’t be able to
(3) Olivia had difficulty hearing

= 0O

2 o

disappearing
return

starve

electronic signals

2
3
4

Py

(5) disrupt
(6) environmental pollution
(7) exposure

UNIT 10
3 p.79

A
(1) absorb

(2) apply

(3) depend on

=

(1) five times higher than
(2) have been arguing
(3) seem to be excited

C
(1) take in

(2) absorbs

(3) space telescope
(4) observe

()

5) clothes

UNIT 10
4 p.81

) missing
2) possession
3) figure out

= P

—

(1) a letter, which was written by Sam
(2) The watch that he found
(3) discovered that snails can sleep

C

10

2) a pair of sneakers
3) a gym uniform

)
)
)
) @
)
)

~

5) the classroom
6) the nurse’s office

(
(
(
(
(
(
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